Bid Committee Bid Tab

City Clerk

Bid BC-0219 Ph IV Ended At Feb 14, 2024 10:00:00 AM CST CONSTRUCTION/CITY - Pedestrian Bridge Decorative Fencing

Company:	Globe Construction Co.	Wynn Construction Co., Inc	Downey Contracting, L.L.C.
Base Bid	\$435,323.00	\$641,250.00	\$1,996,708.00
TOTAL BID:	\$435,323.00	\$641,250.00	\$1,996,708.00

Tresha Williams	Chad Harrison	lanet McWilliams
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #BC-0219 Ph IV - Pedestrian Bridge Decorative Fencing

Creation Date Nov 28, 2023 End Date Feb 14, 2024 10:00:00 AM CST

Start Date Jan 17, 2024 8:22:35 AM CST Awarded Date Not Yet Awarded

BC-0219 Ph IV01-01 Base Bid: TRAFFIC CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$135.00	60 / days	\$8,100.00	Υ	Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$150.00	60 / days	\$9,000.00	Υ	Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Globe Construction Co.	First Offer - \$170.00	60 / days	\$10,200.00	Υ	Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

BC-0219 Ph IV01-02 Base Bid: MOBILIZATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Globe Construction Co.	First Offer - \$4,709.00	1 / lump sum	\$4,709.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$150,000.00	1 / lump sum	\$150,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$655,000.00	1 / lump sum	\$655,000.00		Υ				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

BC-0219 Ph IV01-03 Base Bid: BARRIER MOUNTED PERFORATED PANELS (48" MIN. HEIGHT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Globe Construction Co.	First Offer - \$724.00	253 / linear feet	\$183,172.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$900.00	253 / linear feet	\$227,700.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$1,750.00	253 / linear feet	\$442,750.00		Υ			
		Supplier Product Code: Supplier Notes:						

BC-0219 Ph IV01-04 Base Bid: LETTERED BARRIER MOUNTED PERFORATED PANELS (48" MIN. HEIGHT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Globe Construction Co.	First Offer - \$712.00	80 / linear feet	\$56,960.00		Υ				
Product Code:	Supplier Product Code	:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$900.00	80 / linear feet	\$72,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$6,279.00	80 / linear feet	\$502,320.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

BC-0219 Ph IV01-05 Base Bid: GROUND MOUNTED PERFORATED PANELS (96" MIN. HEIGHT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Wynn Construction Co., Inc	First Offer - \$1,200.00	13 / linear feet	\$15,600.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Globe Construction Co.	First Offer - \$1,424.00	13 / linear feet	\$18,512.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$4,727.00	13 / linear feet	\$61,451.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

BC-0219 Ph IV01-06 Base Bid: LETTERED GROUND MOUNTED PERFORATED PANELS (96" MIN HEIGHT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Wynn Construction Co., Inc	First Offer - \$1,220.00	9 / linear feet	\$10,980.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Globe Construction Co.	First Offer - \$1,424.00	9 / linear feet	\$12,816.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$5,808.00	9 / linear feet	\$52,272.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

BC-0219 Ph IV01-07 Base Bid: LETTERED GATE MOUNTED PERFORATED PANELS (96" MIN. HEIGHT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Wynn Construction Co., Inc	First Offer - \$830.00	17 / linear feet	\$14,110.00		Y			
Product Code:	Supplier Product Code	•						
Agency Notes:		Supplier Notes:						
Globe Construction Co.	First Offer - \$1,424.00	17 / linear feet	\$24,208.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$4,213.00	17 / linear feet	\$71,621.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

BC-0219 Ph IV01-08 Base Bid: GROUND MOUNTED EXPANDED METAL MESH FENCE (96" MIN. HEIGHT)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Globe Construction Co.	First Offer - \$258.00	259 / linear feet	\$66,822.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$340.00	259 / linear feet	\$88,060.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$436.00	259 / linear feet	\$112,924.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

BC-0219 Ph IV01-09 Base Bid: BARRIER MOUNTED EXPANDED METAL MESH FENCE (48" MIN. HEIGHT)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Wynn Construction Co., Inc	First Offer - \$140.00	120 / linear feet	\$16,800.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Globe Construction Co.	First Offer - \$262.00	120 / linear feet	\$31,440.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$454.00	120 / linear feet	\$54,480.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

BC-0219 Ph IV01-10 Base Bid: SWING GATE (17 LF) WITH PADLOCK							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$11,900.00	1 / each	\$11,900.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Globe Construction Co.	First Offer - \$15,248.00	1 / each	\$15,248.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$22,000.00	1 / each	\$22,000.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

BC-0219 Ph IV01-11 Base Bid: SWING GATE (8 LF) WITH PADLOCK						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Globe Construction Co.	First Offer - \$4,328.00	2 / each	\$8,656.00		Υ	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$5,995.00	2 / each	\$11,990.00		Υ	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$6,000.00	2 / each	\$12,000.00		Υ	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

BC-0219 Ph IV01-12 Base Bid: RAMP SWING GATE (6 LF)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Globe Construction Co.	First Offer - \$2,580.00	1 / each	\$2,580.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$11,900.00	1 / each	\$11,900.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

Supplier Totals

f Globe Const	ruction Co.	\$435,323.00 (12/12 items)	
Bid Contact	Peter Morrical pmorrical@globebuilds.com Ph 405-478-3502	Address PO Box 17420 Oklahoma City, OK 73136	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Wynn Const	ruction Co., Inc	\$641,250.00 (12/12 items)	

ooman Briago		no Tructo	
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120	Address 11901 North Eastern A Oklahoma City, OK 731	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch: 』
f Downey Cor	ntracting, L.L.C.	\$1,996,708.00 (12/12 iter	ns)
Bid Contact	Sheila Stovall rmorris@downeycontracting.com Ph 405-478-5277	Address 3217 NE 63rd Street Oklahoma City, OK 731	21
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:	•	Supplier Notes:	Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

City Clerk

Bid Committee Bid Tab

Bid PC-0698/WC-1026 Ended At Feb 14, 2024 10:00:00 AM CST CONSTRUCTION/CITY - Roadway Widening

Company:	First Water Contracting, LL	C Silver Star Construction (Company Ellsworth Construction OKC dba Atech Paving
BASE BID	\$4,732,497.55	\$5,028,302.50	\$5,215,055.90
ALT. NO. 1	\$25,337.20	\$28,904.00	\$31,804.75
ALT. NO. 2	\$69,649.00	\$86,793.50	\$99,657.60
TOTAL BID:	\$4,827,483.75	\$5,144,000.00	\$5,346,518.25

Company:	Rudy Construction Co.	T.J. Campbell Construction Co.	Bishop Construction LLC
BASE BID	\$5,275,432.71	\$5,413,683.50	\$5,722,862.415
ALT. NO. 1	\$32,870.00	\$35,429.00	\$28,977.90
ALT. NO. 2	\$100,018.00	\$108,675.00	\$86,509.00
TOTAL BID:	\$5,408,320.71	\$5,557,787.50	\$5,838,349.315

Company:	Allen Contracting, Inc.	SCHWARZ PAVING CO., INC.	Cimarron Construction Company, LLC
BASE BID	\$5,774,414.40	\$5,840,789.35	\$6,592,616.00
ALT. NO. 1	\$27,411.00	\$32,008.00	\$34,881.00
ALT. NO. 2	\$79,398.20	\$96,230.00	\$100,230.00
TOTAL BID:	\$5,881,223.60	\$5,969,027.35	\$6,727,727.00

Tresha Williams	Chad Harrison	Janet McWilliams
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
 and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a nonpublished document for review by staff.

Bid #PC-0698/WC-1026 - Roadway Widening

Start Date Jan 17, 2024 8:22:35 AM CST Awarded Date Not Yet Awarded

PC-0698/WC-102601-01 BASE BID: COLOR AUDIO/	VIDEO RECORDING, PRE AND		N (RECORDED DIG	ITALLY O	N DV
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$550.00	1 / lump sum	\$550.00	Υ	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
First Water Contracting, LLC 👔	First Offer - \$750.00	1 / lump sum	\$750.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Allen Contracting, Inc. 👔	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,520.00	1 / lump sum	\$1,520.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co.	First Offer - \$2,000.00	1 / lump sum	\$2,000.00	Υ	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Bishop Construction LLC 👔	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC.	First Offer - \$2,800.00	1 / lump sum	\$2,800.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Cimarron Construction Company, LLC	First Offer - \$2,850.00	1 / lump sum	\$2,850.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$5,400.00	1 / lump sum	\$5,400.00	Υ	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

PC-0698/WC-102601-02 BASE BID: EXCESS EXCAVATIO	N				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$5.00	4678 / cubic yard	\$23,390.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$15.00	4678 / cubic yard	\$70,170.00		Y
Product Code:		Supplier Product Code):	•	
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$15.00	4678 / cubic yard	\$70,170.00		Υ
Product Code:		Supplier Product Code	: :		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$17.20	4678 / cubic yard	\$80,461.60		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$18.00	4678 / cubic yard	\$84,204.00		Y
Product Code:		Supplier Product Code	:		

Agency Notes:		Supplier Notes:		
First Water Contracting, LLC	First Offer - \$21.00	4678 / cubic yard	\$98,238.00	Y
Product Code:		Supplier Product Code	2:	<u> </u>
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$25.00	4678 / cubic yard	\$116,950.00	Υ
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	4678 / cubic yard	\$140,340.00	Υ
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Bishop Construction LLC	First Offer - \$32.00	4678 / cubic yard	\$149,696.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-03 BASE BID: UNCLASSIFIED	EXCAVATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$12.00	7045 / cubic yard	\$84,540.00		Y	
Product Code:	Supplier Product Code	e:				
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc. 👔	First Offer - \$15.00	7045 / cubic yard	\$105,675.00		Y	
Product Code:		Supplier Product Code	::			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$17.20	7045 / cubic yard	\$121,174.00		Y	
Product Code:		Supplier Product Code	: :			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$20.00	7045 / cubic yard	\$140,900.00		Y	
Product Code:		Supplier Product Code	· · · · · · · · · · · · · · · · · · ·			
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$20.00	7045 / cubic yard	\$140,900.00		Y	
Product Code:		Supplier Product Code	: :			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$22.00	7045 / cubic yard	\$154,990.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
First Water Contracting, LLC	First Offer - \$22.00	7045 / cubic yard	\$154,990.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Bishop Construction LLC	First Offer - \$25.00	7045 / cubic yard	\$176,125.00		Υ	
Product Code:		Supplier Product Code	: :			
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$32.00	7045 / cubic yard	\$225,440.00		Υ	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

PC-0698/WC-102601-04 BASE BID: TYPE A AGGREGATE BASE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$70.00	100 / cubic yard	\$7,000.00		Υ					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
First Water Contracting, LLC	First Offer - \$72.00	100 / cubic yard	\$7,200.00		Y					
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	le:								
Allen Contracting, Inc. 👔	First Offer - \$85.00	100 / cubic yard	\$8,500.00		Υ					

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$87.15	100 / cubic yard	\$8,715.00	Y	
Product Code: Agency Notes:	Supplier Product Coc Supplier Notes:	le:			
Silver Star Construction Company 👔	First Offer - \$90.00	100 / cubic yard	\$9,000.00	Y	
Product Code: Agency Notes:	Supplier Product Coo Supplier Notes:	le:			
Bishop Construction LLC	First Offer - \$100.00	100 / cubic yard	\$10,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$100.00	100 / cubic yard	\$10,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$107.00	100 / cubic yard	\$10,700.00	Υ	
Product Code: Agency Notes:	Supplier Product Coc Supplier Notes:	le:			
SCHWARZ PAVING CO., INC.	First Offer - \$125.00	100 / cubic yard	\$12,500.00	Υ	
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:		

PC-0698/WC-102601-05 BASE BID: ASPHALT CONC	RETE :						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
First Water Contracting, LLC 👔		First Offer - \$85.00	10970 / ton	\$932,450.00		Y	
			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$90.65	10970 / ton	\$994,430.50		Y	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company 🙀		First Offer - \$95.50	10970 / ton	\$1,047,635.00		Y	
Product Code:	·		Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$96.00	10970 / ton	\$1,053,120.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$100.00	10970 / ton	\$1,097,000.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Bishop Construction LLC		First Offer - \$107.00	10970 / ton	\$1,173,790.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$108.00	10970 / ton	\$1,184,760.00		Υ	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
Cimarron Construction Company, LLC		First Offer - \$118.00	10970 / ton	\$1,294,460.00		Y	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				
Allen Contracting, Inc. 👔		First Offer - \$135.00	10970 / ton	\$1,480,950.00		Y	
Product Code:			Supplier Product	Code:			
Agency Notes:			Supplier Notes:				

PC-0698/WC-102601-06 BASE BID: ASPHALT CONCRETE SUPER PAVE TYPE S5 (PG 70-28 OK)									
Supplier Unit Price Qty/Unit Total Price Attch. Docs									

away widening Line						
First Water Contracting, LLC 🙀		First Offer - \$120.00	2315 / ton	\$277,800.00	Y	
			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$124.00	2315 / ton	\$287,060.00	Y	
Product Code:			Supplier Product Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$125.50	2315 / ton	\$290,532.50	Y	
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$135.00	2315 / ton	\$312,525.00	Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$136.00	2315 / ton	\$314,840.00	Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$147.00	2315 / ton	\$340,305.00	Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Bishop Construction LLC		First Offer - \$150.00	2315 / ton	\$347,250.00	Y	
Product Code: Agency Notes:	<u>'</u>	<u>'</u>	Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$156.00	2315 / ton	\$361,140.00	Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 👔		First Offer - \$185.00	2315 / ton	\$428,275.00	Y	
Product Code:			Supplier Product Code: Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Allen Contracting, Inc. 👔	First Offer - \$90.00	284 / square yard	\$25,560.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$95.00	284 / square yard	\$26,980.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$108.00	284 / square yard	\$30,672.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
First Water Contracting, LLC 👔	First Offer - \$130.00	284 / square yard	\$36,920.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC 👔	First Offer - \$137.00	284 / square yard	\$38,908.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$140.00	284 / square yard	\$39,760.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$150.00	284 / square yard	\$42,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$155.00	284 / square yard	\$44,020.00		Υ	
Product Code:		Supplier Product Code:				

Agency Notes:			Supplier Notes:		
Cimarron Construction Company, LLC	First Offer -	\$171.00	284 / square yard	\$48,564.00	Y
Product Code:			Supplier Product Code	:	
Agency Notes:			Supplier Notes:		

PC-0698/WC-102601-08 BASE BID: CURB AND GUTTER	(2 FOOT - 8 INCH) (8 IN	ICH BARRIER)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$21.00	7147 / linear foot	\$150,087.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	,				
First Water Contracting, LLC	First Offer - \$22.00	7147 / linear foot	\$157,234.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$23.50	7147 / linear foot	\$167,954.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$28.35	7147 / linear foot	\$202,617.45		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$29.00	7147 / linear foot	\$207,263.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$32.00	7147 / linear foot	\$228,704.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC	First Offer - \$34.00	7147 / linear foot	\$242,998.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$45.00	7147 / linear foot	\$321,615.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$45.00	7147 / linear foot	\$321,615.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,			

PC-0698/WC-102601-09 BASE BID: COLD MILLING PAVEMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company 👔	First Offer - \$2.00	5481 / square yard	\$10,962.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
First Water Contracting, LLC 👔	First Offer - \$2.20	5481 / square yard	\$12,058.20		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Rudy Construction Co.	First Offer - \$3.00	5481 / square yard	\$16,443.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.95	5481 / square yard	\$21,649.95		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$4.00	5481 / square yard	\$21,924.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$6.00	5481 / square yard	\$32,886.00		Υ				

, 3				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
3		Supplier Notes.		
Allen Contracting, Inc.	First Offer - \$6.00	5481 / square yard	\$32,886.00	Y
Product Code:	Supplier Product Code:			
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	5481 / square yard	\$32,886.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Bishop Construction LLC	First Offer - \$7.25	5481 / square yard	\$39,737.25	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-10 BASE BID: TACK COAT						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC		First Offer - \$3.50	4083 / gallon	\$14,290.50		Υ
			Supplier Product C Supplier Notes:	ode:		
T.J. Campbell Construction Co.		First Offer - \$4.00	4083 / gallon	\$16,332.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
Silver Star Construction Company		First Offer - \$4.00	4083 / gallon	\$16,332.00		Υ
			Supplier Product C Supplier Notes:	ode:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$4.70	4083 / gallon	\$19,190.10		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 🙀		First Offer - \$5.00	4083 / gallon	\$20,415.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$5.00	4083 / gallon	\$20,415.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Bishop Construction LLC		First Offer - \$5.25	4083 / gallon	\$21,435.75		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
Cimarron Construction Company, LLC		First Offer - \$6.00	4083 / gallon	\$24,498.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
Rudy Construction Co.		First Offer - \$7.50	4083 / gallon	\$30,622.50		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		

PC-0698/WC-102601-11 BASE BID: (CGMP) STORM SEWER (18 INCH)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Water Contracting, LLC		First Offer - \$56.00	150 / linear foot	\$8,400.00		Y		
Product Code:		Supplier Product Code:						
		Supplier Notes:						
T.J. Campbell Construction Co.		First Offer - \$64.00	150 / linear foot	\$9,600.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Cimarron Construction Company, LLC		First Offer - \$70.00	150 / linear foot	\$10,500.00		Y		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					

a,aeg =e						
Rudy Construction Co.		First Offer - \$78.00	150 / linear foot	\$11,700.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$78.50	150 / linear foot	\$11,775.00	Υ	
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Bishop Construction LLC		First Offer - \$80.00	150 / linear foot	\$12,000.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$85.00	150 / linear foot	\$12,750.00	Y	
Product Code:			Supplier Product Code: Supplier Notes:			
Agency Notes:						
SCHWARZ PAVING CO., INC.		First Offer - \$89.00	150 / linear foot	\$13,350.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Allen Contracting, Inc. 🙀		First Offer - \$90.00	150 / linear foot	\$13,500.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:		Supplier Notes:				

PC-0698/WC-102601-12 BASE BID: REINFORCED CO	NCRETE PIPE 18 INCHE	ES (O F	RING)			
Supplier	Unit F	Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC	First Offer - \$9	1.70	620 / linear foot	\$56,854.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Allen Contracting, Inc. 👔	First Offer - \$9	5.00	620 / linear foot	\$58,900.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Rudy Construction Co.	First Offer - \$11	5.00	620 / linear foot	\$71,300.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Silver Star Construction Company 👔	First Offer - \$11	5.50	620 / linear foot	\$71,610.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Bishop Construction LLC	First Offer - \$11	8.00	620 / linear foot	\$73,160.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
SCHWARZ PAVING CO., INC.	First Offer - \$12	5.00	620 / linear foot	\$77,500.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$12	5.15	620 / linear foot	\$77,593.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
T.J. Campbell Construction Co.	First Offer - \$15	5.00	620 / linear foot	\$96,100.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		
Cimarron Construction Company, LLC	First Offer - \$19	5.00	620 / linear foot	\$120,900.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:		

PC-0698/WC-102601-13 BASE BID: REINFORCED CONCRETE PIPE 24 INCHES (O RING)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Water Contracting, LLC	First Offer - \$81.80	86 / linear foot	\$7,034.80		Υ		
Product Code:		Supplier Product Code:					

Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$100.00	86 / linear foot	\$8,600.00	Υ	
Product Code:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$135.00	86 / linear foot	\$11,610.00	Υ	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:			
Silver Star Construction Company 👔	First Offer - \$137.00	86 / linear foot	\$11,782.00	Y	
Product Code:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$140.00	86 / linear foot	\$12,040.00	Y	
		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$140.00	86 / linear foot	\$12,040.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$148.10	86 / linear foot	\$12,736.60	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$155.00	86 / linear foot	\$13,330.00	Υ	
		Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$215.00	86 / linear foot	\$18,490.00	Υ	
		Supplier Product Co Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC	First Offer - \$123.00	148 / linear foot	\$18,204.00		Y
		Supplier Product Code Supplier Notes:	e:		
Allen Contracting, Inc. 🙀	First Offer - \$125.00	148 / linear foot	\$18,500.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$150.00	148 / linear foot	\$22,200.00		Y
		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$150.50	148 / linear foot	\$22,274.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Bishop Construction LLC	First Offer - \$154.00	148 / linear foot	\$22,792.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$160.00	148 / linear foot	\$23,680.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$163.00	148 / linear foot	\$24,124.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$200.00	148 / linear foot	\$29,600.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Cimarron Construction Company, LLC	First Offer - \$220.00	148 / linear foot	\$32,560.00		Υ

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PC-0698/WC-102601-15 BASE BID: REINFORCED CO	NCRETE PIPE 36 INCHES (C	RING)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC	First Offer - \$149.00	356 / linear foot	\$53,044.00		Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Allen Contracting, Inc. 👔	First Offer - \$165.00	356 / linear foot	\$58,740.00		Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Silver Star Construction Company	First Offer - \$199.37	356 / linear foot	\$70,975.72		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Rudy Construction Co.	First Offer - \$200.00	356 / linear foot	\$71,200.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:		
Bishop Construction LLC	First Offer - \$204.00	356 / linear foot	\$72,624.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
SCHWARZ PAVING CO., INC.	First Offer - \$215.00	356 / linear foot	\$76,540.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$215.85	356 / linear foot	\$76,842.60		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
T.J. Campbell Construction Co.	First Offer - \$225.00	356 / linear foot	\$80,100.00		Y
		Supplier Product Cod Supplier Notes:	de:		
Cimarron Construction Company, LLC	First Offer - \$230.00	356 / linear foot	\$81,880.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

PC-0698/WC-102601-16 BASE BID: CORRUGATED POLYF	PROPYLENE PIPE (18 INC	:H)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Allen Contracting, Inc. 🙀	First Offer - \$80.00	6 / linear foot	\$480.00		Y	
		Supplier Product Co Supplier Notes:	ode:			
Silver Star Construction Company	First Offer - \$112.50	6 / linear foot	\$675.00		Y	
		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC	First Offer - \$115.00	6 / linear foot	\$690.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$115.00	6 / linear foot	\$690.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$120.00	6 / linear foot	\$720.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$122.00	6 / linear foot	\$732.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

T.J. Campbell Construction Co.	First Offer - \$150.00	6 / linear foot	\$900.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$190.00	6 / linear foot	\$1,140.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
First Water Contracting, LLC	First Offer - \$210.00	6 / linear foot	\$1,260.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0698/WC-102601-17 BASE BID: CORRUGATED POL	YPROPYLENE PIPE (30 IN	ICH)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC	First Offer - \$76.00	1360 / linear foot	\$103,360.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$105.00	1360 / linear foot	\$142,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Allen Contracting, Inc. 👔	First Offer - \$115.00	1360 / linear foot	\$156,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	·:		
Rudy Construction Co.	First Offer - \$120.00	1360 / linear foot	\$163,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Silver Star Construction Company	First Offer - \$121.00	1360 / linear foot	\$164,560.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
Bishop Construction LLC	First Offer - \$123.00	1360 / linear foot	\$167,280.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	· :		
SCHWARZ PAVING CO., INC.	First Offer - \$130.00	1360 / linear foot	\$176,800.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$130.90	1360 / linear foot	\$178,024.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
Cimarron Construction Company, LLC	First Offer - \$151.00	1360 / linear foot	\$205,360.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: :		

PC-0698/WC-102601-18 BASE BID: CORRUGATED POLYPROPYLENE PIPE (36 INCH)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
First Water Contracting, LLC	First Offer - \$91.00	2902 / linear foot	\$264,082.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:					
T.J. Campbell Construction Co.	First Offer - \$145.00	2902 / linear foot	\$420,790.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$145.00	2902 / linear foot	\$420,790.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company 👔	First Offer - \$147.41	2902 / linear foot	\$427,783.82		Y			
Product Code:		Supplier Product Code	e:					

Agency Notes:		Supplier Notes:			
Bishop Construction LLC 👔	First Offer - \$150.00	2902 / linear foot	\$435,300.00	Y	
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$156.00	2902 / linear foot	\$452,712.00	Υ	
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$159.60	2902 / linear foot	\$463,159.20	Y	
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$160.00	2902 / linear foot	\$464,320.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$160.00	2902 / linear foot	\$464,320.00	Y	
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

PC-0698/WC-102601-19 BASE BID: BOX TYPE INLET						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer	- \$2,600.00	5 / each	\$13,000.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Silver Star Construction Company 🙀	First Offer	- \$2,603.00	5 / each	\$13,015.00		Υ
		Supplier Product C Supplier Notes:	Code:			
Bishop Construction LLC 🙀	First Offer	- \$2,650.00	5 / each	\$13,250.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer	- \$2,650.00	5 / each	\$13,250.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer	- \$2,815.85	5 / each	\$14,079.25		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer	- \$3,000.00	5 / each	\$15,000.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
First Water Contracting, LLC	First Offer	- \$4,800.00	5 / each	\$24,000.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer	- \$5,950.00	5 / each	\$29,750.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer	- \$8,000.00	5 / each	\$40,000.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		

PC-0698/WC-102601-20 BASE BID: DESIGN 2-1 INLET COMPLETE IN PLACE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$5,288.00	33 / each	\$174,504.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$5,300.00	33 / each	\$174,900.00		Y			

		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Bishop Construction LLC	First Offer - \$5,380.00	33 / each	\$177,540.00	Y	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$5,700.00	33 / each	\$188,100.00	Υ	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$5,720.00	33 / each	\$188,760.00	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$6,000.00	33 / each	\$198,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
First Water Contracting, LLC	First Offer - \$6,900.00	33 / each	\$227,700.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$7,900.00	33 / each	\$260,700.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$9,000.00	33 / each	\$297,000.00	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer	- \$5,900.00	15 / each	\$88,500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer	- \$5,925.50	15 / each	\$88,882.50		Y
Product Code:			Supplier Product (Supplier Notes:	Code:		
Bishop Construction LLC 🙀	First Offer	- \$6,030.00	15 / each	\$90,450.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
First Water Contracting, LLC 👔	First Offer	- \$6,100.00	15 / each	\$91,500.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer	- \$6,300.00	15 / each	\$94,500.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer	- \$6,400.00	15 / each	\$96,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer	- \$6,410.00	15 / each	\$96,150.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer	- \$7,000.00	15 / each	\$105,000.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Cimarron Construction Company, LLC	First Offer	- \$7,400.00	15 / each	\$111,000.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

PC-0698/WC-102601-22 BASE BID: MANHOLE (5FT [DIA)						
Supplier	Unit P	rice Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$3,700	.00 9 / each	\$33,300.00		Υ		
		Supplier Product Supplier Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$3,740	.50 9 / each	\$33,664.50		Υ		
		Supplier Product Supplier Notes:	t Code:				
Bishop Construction LLC	First Offer - \$3,800	0.00 9 / each	\$34,200.00		Υ		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code:				
SCHWARZ PAVING CO., INC.	First Offer - \$4,000	.00 9 / each	\$36,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4,050	.00 9 / each	\$36,450.00		Y		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Supplier Product Code: Supplier Notes:				
First Water Contracting, LLC 👔	First Offer - \$4,200	.00 9 / each	\$37,800.00		Υ		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc. 👔	First Offer - \$4,300	0.00 9 / each	\$38,700.00		Υ		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$4,900	.00 9 / each	\$44,100.00		Υ		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code:				
T.J. Campbell Construction Co.	First Offer - \$5,500	.00 9 / each	\$49,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code:				

PC-0698/WC-102601-23 BASE BID: CONSTRUCTION S	STAKING (CONSTRUCTION SU	JRVEY)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$29,300.00	1 / lump sum	\$29,300.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$31,500.00	1 / lump sum	\$31,500.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
First Water Contracting, LLC 👔	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Bishop Construction LLC	First Offer - \$40,600.00	1 / lump sum	\$40,600.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Allen Contracting, Inc. 🙀	First Offer - \$45,000.00	1 / lump sum	\$45,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$70,000.00	1 / lump sum	\$70,000.00		Υ
Product Code:		Supplier Product	Code:		

Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$75,000.00	1 / lump sum	\$75,000.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$147,825.00	1 / lump sum	\$147,825.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-24 BASE BID: MOBILIZATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC	First Offer - \$95,000.00	1 / lump sum	\$95,000.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Bishop Construction LLC	First Offer - \$250,000.00	1 / lump sum	\$250,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$250,000.00	1 / lump sum	\$250,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$255,000.00	1 / lump sum	\$255,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$265,000.00	1 / lump sum	\$265,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$275,000.00	1 / lump sum	\$275,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$275,000.00	1 / lump sum	\$275,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$295,000.00	1 / lump sum	\$295,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Cimarron Construction Company, LLC	First Offer - \$301,593.00	1 / lump sum	\$301,593.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0698/WC-102601-25 BASE BID: CLEARING AND GR	UBBING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$14,000.00	1 / lump sum	\$14,000.00		Υ
		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$21,000.00	1 / lump sum	\$21,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$45,000.00	1 / lump sum	\$45,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$70,000.00	1 / lump sum	\$70,000.00		Υ

		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Bishop Construction LLC	First Offer - \$71,000.00	1 / lump sum	\$71,000.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$85,000.00	1 / lump sum	\$85,000.00	Υ
Product Code:	Supplier Product Code:			
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$140,000.00	1 / lump sum	\$140,000.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$150,152.00	1 / lump sum	\$150,152.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-26 BASE BID: STRUCTURE REMOV	/AL (CMP) (18IN)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$8.00	593 / linear foot	\$4,744.00		Υ	
		Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc. 🙀	First Offer - \$18.00	593 / linear foot	\$10,674.00		Υ	
Product Code:		Supplier Product Code Supplier Notes:	e:			
T.J. Campbell Construction Co.	First Offer - \$20.00	593 / linear foot	\$11,860.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	593 / linear foot	\$17,790.00		Υ	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$32.50	593 / linear foot	\$19,272.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$33.00	593 / linear foot	\$19,569.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC 👔	First Offer - \$33.50	593 / linear foot	\$19,865.50		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$36.60	593 / linear foot	\$21,703.80		Υ	
		Supplier Product Code Supplier Notes:	e:			
First Water Contracting, LLC 👔	First Offer - \$43.00	593 / linear foot	\$25,499.00		Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:			

PC-0698/WC-102601-27 BASE BID: STRUCTURE REMOVAL (CONCRETE FLUME)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$14.00	166 / square yard	\$2,324.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
First Water Contracting, LLC	First Offer - \$18.00	166 / square yard	\$2,988.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

Allen Contracting, Inc. 👔	Fi	rst Offer - \$18.00	166 / square yard	\$2,988.00	Y
Product Code:			Supplier Product Code		
Agency Notes:			Supplier Notes:		
Cimarron Construction Company, LLC	Fi	rst Offer - \$20.00	166 / square yard	\$3,320.00	Y
Product Code:			Supplier Product Code	•	
Agency Notes:			Supplier Notes:		
Silver Star Construction Company	Fi	rst Offer - \$26.50	166 / square yard	\$4,399.00	Y
Product Code:			Supplier Product Code		
Agency Notes:			Supplier Notes:		
Rudy Construction Co.	Fi	rst Offer - \$26.50	166 / square yard	\$4,399.00	Y
Product Code:			Supplier Product Code	:	
Agency Notes:			Supplier Notes:		
Bishop Construction LLC	Fi	rst Offer - \$28.00	166 / square yard	\$4,648.00	Υ
Product Code:			Supplier Product Code	:	
Agency Notes:			Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving	Fi	rst Offer - \$28.70	166 / square yard	\$4,764.20	Y
Product Code:			Supplier Product Code	•	
Agency Notes:			Supplier Notes:		
SCHWARZ PAVING CO., INC.	Fi	rst Offer - \$30.00	166 / square yard	\$4,980.00	Υ
Product Code:			Supplier Product Code		
Agency Notes:			Supplier Notes:		

PC-0698/WC-102601-28 BASE BID: STRUCTURE REM	/IOVA	L (INLET)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC		First Offer - \$500.00	3 / each	\$1,500.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$650.00	3 / each	\$1,950.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company		First Offer - \$652.50	3 / each	\$1,957.50		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Bishop Construction LLC		First Offer - \$664.00	3 / each	\$1,992.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Allen Contracting, Inc. 👔		First Offer - \$700.00	3 / each	\$2,100.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.		First Offer - \$700.00	3 / each	\$2,100.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$710.00	3 / each	\$2,130.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
First Water Contracting, LLC		First Offer - \$750.00	3 / each	\$2,250.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$1,500.00	3 / each	\$4,500.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

PC-0698/WC-102601-29 BASE BID: STRUCTURE REMOVA	AL (MANHOLE)		

away wideiling Line	แจ เานอเอ					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$500.00	2 / each	\$1,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Rudy Construction Co.	First Offer - \$650.00	2 / each	\$1,300.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Silver Star Construction Company	First Offer - \$652.50	2 / each	\$1,305.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Bishop Construction LLC	First Offer - \$664.00	2 / each	\$1,328.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Allen Contracting, Inc. 👔	First Offer - \$700.00	2 / each	\$1,400.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$700.00	2 / each	\$1,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$710.00	2 / each	\$1,420.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
First Water Contracting, LLC	First Offer - \$750.00	2 / each	\$1,500.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
T.J. Campbell Construction Co.	First Offer - \$900.00	2 / each	\$1,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$175.00	1 / each	\$175.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 🙀	First Offer - \$327.00	1 / each	\$327.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$330.00	1 / each	\$330.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Bishop Construction LLC 🙀	First Offer - \$333.00	1 / each	\$333.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Cimarron Construction Company, LLC	First Offer - \$350.00	1 / each	\$350.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$350.00	1 / each	\$350.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$355.00	1 / each	\$355.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
First Water Contracting, LLC	First Offer - \$750.00	1 / each	\$750.00		Υ	

Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Allen Contracting, Inc. 🙀	First Offer - \$1,000.00	1 / each	\$1,000.00	Υ
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-31 BASE BID: STRUCTURE REMOV	/AL (RCP) (18IN)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Allen Contracting, Inc. 🙀	First Offer - \$18.00	58 / linear foot	\$1,044.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$25.00	58 / linear foot	\$1,450.00		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
Rudy Construction Co.	First Offer - \$26.00	58 / linear foot	\$1,508.00		Y	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
Silver Star Construction Company	First Offer - \$26.50	58 / linear foot	\$1,537.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC	First Offer - \$27.00	58 / linear foot	\$1,566.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$28.70	58 / linear foot	\$1,664.60		Υ	
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:			
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	58 / linear foot	\$1,740.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$35.00	58 / linear foot	\$2,030.00		Υ	
		Supplier Product Coo Supplier Notes:	de:			
First Water Contracting, LLC	First Offer - \$43.00	58 / linear foot	\$2,494.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:			

PC-0698/WC-102601-32 BASE BID: STRUCTURE REMOVA	AL (RCP) (24IN)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Allen Contracting, Inc. 🙀	First Offer - \$18.00	380 / linear foot	\$6,840.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
T.J. Campbell Construction Co.	First Offer - \$20.00	380 / linear foot	\$7,600.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Cimarron Construction Company, LLC	First Offer - \$25.00	380 / linear foot	\$9,500.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Rudy Construction Co.	First Offer - \$26.00	380 / linear foot	\$9,880.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company	First Offer - \$26.50	380 / linear foot	\$10,070.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

Bishop Construction LLC	First Offer - \$27.00	380 / linear foot	\$10,260.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$28.70	380 / linear foot	\$10,906.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	380 / linear foot	\$11,400.00	Y
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
First Water Contracting, LLC	First Offer - \$39.00	380 / linear foot	\$14,820.00	Υ
Product Code:		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-33 BASE BID: STRUCTURE REMO	OVAL (RCP) (30IN)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Allen Contracting, Inc. 👔	First Offer - \$18.00	330 / linear foot	\$5,940.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$25.00	330 / linear foot	\$8,250.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
T.J. Campbell Construction Co.	First Offer - \$26.00	330 / linear foot	\$8,580.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Rudy Construction Co.	First Offer - \$26.00	330 / linear foot	\$8,580.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Silver Star Construction Company 🙀	First Offer - \$26.50	330 / linear foot	\$8,745.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC	First Offer - \$27.00	330 / linear foot	\$8,910.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$28.70	330 / linear foot	\$9,471.00		Υ	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	330 / linear foot	\$9,900.00		Υ	
		Supplier Product Cod Supplier Notes:	le:			
First Water Contracting, LLC	First Offer - \$39.00	330 / linear foot	\$12,870.00		Y	
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:			

PC-0698/WC-102601-34 BASE BID: STRUCTURE REMOVAL (RCPA) (28IN x 18IN)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Allen Contracting, Inc. 🙀		First Offer - \$18.00	324 / linear foot	\$5,832.00		Y		
Product Code:			Supplier Product Cod	le:				
Agency Notes:			Supplier Notes:					
Cimarron Construction Company, LLC		First Offer - \$25.00	324 / linear foot	\$8,100.00		Y		
Product Code:			Supplier Product Cod	le:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co.		First Offer - \$26.00	324 / linear foot	\$8,424.00		Υ		
Product Code:			Supplier Product Cod	le:				

Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$26.50	324 / linear foot	\$8,586.00	Y
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		
Bishop Construction LLC	First Offer - \$27.00	324 / linear foot	\$8,748.00	Υ
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$28.70	324 / linear foot	\$9,298.80	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$29.00	324 / linear foot	\$9,396.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	324 / linear foot	\$9,720.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
First Water Contracting, LLC	First Offer - \$39.00	324 / linear foot	\$12,636.00	Υ
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-35 BASE BID: STRUCTURE REMO	OVAL (RCPA) (22IN x 13	.5IN)			
Supplier	Unit Pri	ce Qty/Unit	Total Price	Attch.	Docs
Allen Contracting, Inc. 🙀	First Offer - \$18.0	0 326 / linear foot	\$5,868.00		Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Cimarron Construction Company, LLC	First Offer - \$25.0	0 326 / linear foot	\$8,150.00		Υ
		Supplier Product Cod Supplier Notes:	de:		
Rudy Construction Co.	First Offer - \$26.0	0 326 / linear foot	\$8,476.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	Supplier Product Code: Supplier Notes:		
Silver Star Construction Company	First Offer - \$26.5	0 326 / linear foot	\$8,639.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$27.0	0 326 / linear foot	\$8,802.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$28.0	0 326 / linear foot	\$9,128.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$28.	0 326 / linear foot	\$9,356.20		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$30.0	0 326 / linear foot	\$9,780.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:		
First Water Contracting, LLC	First Offer - \$39.0	0 326 / linear foot	\$12,714.00		Y
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

PC-0698/WC-102601-36 BASE BID: REMOVE PAVEMENT (ASPHALT)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$3.50	15403 / square yard	\$53,910.50		Y	

away widening Line	113 114313			
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.6	5 15403 / square yard	\$56,220.95	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
First Water Contracting, LLC	First Offer - \$4.0	15403 / square yard	\$61,612.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$6.5	15403 / square yard	\$100,119.50	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$7.0	15403 / square yard	\$107,821.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$7.0	15403 / square yard	\$107,821.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$8.5	15403 / square yard	\$130,925.50	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Bishop Construction LLC	First Offer - \$9.7	5 15403 / square yard	\$150,179.25	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Allen Contracting, Inc.	First Offer - \$12.0	15403 / square yard	\$184,836.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-37 BASE BID: REMOVE CURB					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC 🙀	First Offer - \$8.00	2900 / linear foot	\$23,200.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$8.25	2900 / linear foot	\$23,925.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Bishop Construction LLC 👔	First Offer - \$9.00	2900 / linear foot	\$26,100.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$10.50	2900 / linear foot	\$30,450.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$12.00	2900 / linear foot	\$34,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$12.00	2900 / linear foot	\$34,800.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$12.00	2900 / linear foot	\$34,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$14.00	2900 / linear foot	\$40,600.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$14.00	2900 / linear foot	\$40,600.00		Υ

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PC-0698/WC-102601-38 BASE BID: REMOVE SIDEW. Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$13.20	96 / square yard	\$1,267.20	Accelli	Y
Product Code:	11130 01101 \$13.20	Supplier Product Code	. ,		<u> </u>
Agency Notes:		Supplier Notes:			
First Water Contracting, LLC	First Offer - \$15.00	96 / square yard	\$1,440.00		Υ
Product Code:		Supplier Product Code	<u>.</u>		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$15.00	96 / square yard	\$1,440.00		Y
Product Code:		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	First Offer - \$15.00	96 / square yard	\$1,440.00		Υ
		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$15.00	96 / square yard	\$1,440.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$20.00	96 / square yard	\$1,920.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 🙀	First Offer - \$21.50	96 / square yard	\$2,064.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$25.00	96 / square yard	\$2,400.00		Υ
		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC 👔	First Offer - \$35.00	96 / square yard	\$3,360.00		Υ
		Supplier Product Code: Supplier Notes:			

PC-0698/WC-102601-39 BASE BID: REMOVE DRIVEWAY (CONCRETE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$12.00	867 / square yard	\$10,404.00		Y		
		Supplier Product Code Supplier Notes:	:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$14.00	867 / square yard	\$12,138.00		Υ		
		Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$15.00	867 / square yard	\$13,005.00		Υ		
		Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$15.00	867 / square yard	\$13,005.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$18.00	867 / square yard	\$15,606.00		Υ		
		Supplier Product Code: Supplier Notes:					
Bishop Construction LLC	First Offer - \$20.00	867 / square yard	\$17,340.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				

First Water Contracting, LLC	First Offer - \$22.00	867 / square yard	\$19,074.00	Y	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
T.J. Campbell Construction Co.	First Offer - \$24.00	867 / square yard	\$20,808.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$25.00	867 / square yard	\$21,675.00	Y	
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			

PC-0698/WC-102601-40 BASE BID: PAVEMENT CUT AND REPAIR (CONCRETE)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company 👔		First Offer - \$133.50	128 / square yard	\$17,088.00		Y		
Product Code:			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$135.00	128 / square yard	\$17,280.00		Y		
Product Code:			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					
Allen Contracting, Inc. 🙀		First Offer - \$145.00	128 / square yard	\$18,560.00		Y		
Product Code:			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					
Cimarron Construction Company, LLC		First Offer - \$155.00	128 / square yard	\$19,840.00		Y		
Product Code:			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$155.00	128 / square yard	\$19,840.00		Y		
Product Code:			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					
First Water Contracting, LLC 🙀		First Offer - \$170.00	128 / square yard	\$21,760.00		Y		
Product Code:			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					
SCHWARZ PAVING CO., INC.		First Offer - \$200.00	128 / square yard	\$25,600.00		Υ		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Rudy Construction Co.		First Offer - \$200.00	128 / square yard	\$25,600.00		Y		
Product Code:			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					
Bishop Construction LLC		First Offer - \$205.00	128 / square yard	\$26,240.00		Y		
Product Code:			Supplier Product Code	:				
Agency Notes:			Supplier Notes:					

PC-0698/WC-102601-41 BASE BID: SAWCUT PAVEMENT (ASPHALT)						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔		First Offer - \$2.50	4877 / linear foot	\$12,192.50		Y
Product Code:			Supplier Product Code	:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$3.00	4877 / linear foot	\$14,631.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Bishop Construction LLC 👔		First Offer - \$4.00	4877 / linear foot	\$19,508.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
First Water Contracting, LLC 👔		First Offer - \$5.00	4877 / linear foot	\$24,385.00		Y
Product Code:		Supplier Product Code:				

Agency Notes:	Supplier Notes:				
Allen Contracting, Inc. 👔	First Offer - \$5.00	4877 / linear foot	\$24,385.00	Y	
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$5.00	4877 / linear foot	\$24,385.00	Y	
Product Code:		Supplier Product Code	Supplier Product Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$5.00	4877 / linear foot	\$24,385.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$5.50	4877 / linear foot	\$26,823.50	Y	
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$7.00	4877 / linear foot	\$34,139.00	Υ	
Product Code:		Supplier Product Code	:	·	
Agency Notes:		Supplier Notes:			

PC-0698/WC-102601-42 BASE BID: SAWCUT PAVEN	MENT (C	ONCRETE)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔		First Offer - \$2.50	113 / linear foot	\$282.50		Υ
			Supplier Product Code Supplier Notes:	e:		
Bishop Construction LLC 🙀		First Offer - \$4.00	113 / linear foot	\$452.00		Y
		Supplier Product Code Supplier Notes:	e:			
Allen Contracting, Inc. 👔		First Offer - \$5.00	113 / linear foot	\$565.00		Υ
			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$5.00	113 / linear foot	\$565.00		Υ
		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$8.00	113 / linear foot	\$904.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$8.00	113 / linear foot	\$904.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$8.50	113 / linear foot	\$960.50		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
First Water Contracting, LLC		First Offer - \$10.00	113 / linear foot	\$1,130.00		Y
		Supplier Product Code Supplier Notes:	e:			
Cimarron Construction Company, LLC		First Offer - \$12.00	113 / linear foot	\$1,356.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		

PC-0698/WC-102601-43 BASE BID: SIDEWALK (5FT)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC	First Offer - \$57.00	108 / square yard	\$6,156.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Bishop Construction LLC	First Offer - \$62.00	108 / square yard	\$6,696.00		Y

Product Code:	Supplier Product Code	:				
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc. 👔	First Offer - \$65.00	108 / square yard	\$7,020.00	Y		
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:	·			
Cimarron Construction Company, LLC	First Offer - \$75.00	108 / square yard	\$8,100.00	Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$75.00	108 / square yard	\$8,100.00	Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$75.00	108 / square yard	\$8,100.00	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$81.00	108 / square yard	\$8,748.00	Y		
Product Code: Agency Notes:	, , , , , , , , , , , , , , , , , , , 	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$85.00	108 / square yard	\$9,180.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$90.00	108 / square yard	\$9,720.00	Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$95.00		\$20,330.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	,			
Allen Contracting, Inc. 🙀	First Offer - \$95.00	214 / square yard	\$20,330.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$95.00	214 / square yard	\$20,330.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$98.00	214 / square yard	\$20,972.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$110.00	214 / square yard	\$23,540.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
First Water Contracting, LLC 👔	First Offer - \$116.00	214 / square yard	\$24,824.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$120.65	214 / square yard	\$25,819.10		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC 👔	First Offer - \$121.00	214 / square yard	\$25,894.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$149.00	214 / square yard	\$31,886.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PC-0698/WC-102601-45 BASE BID: TEMPORARY SUR Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC 🍹		First Offer - \$45.00	419 / ton	\$18,855.00	Accor.	Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.	Т	First Offer - \$55.00	419 / ton	\$23,045.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$55.00	419 / ton	\$23,045.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$60.00	419 / ton	\$25,140.00		Υ
			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$65.00	419 / ton	\$27,235.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 🙀		First Offer - \$66.50	419 / ton	\$27,863.50		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Bishop Construction LLC 👔		First Offer - \$81.00	419 / ton	\$33,939.00		Y
		Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.		First Offer - \$85.00	419 / ton	\$35,615.00		Υ
		Supplier Product C Supplier Notes:	Code:			
Cimarron Construction Company, LLC		First Offer - \$110.00	419 / ton	\$46,090.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Allen Contracting, Inc.		First Offer - \$20.00	14 / linear foot	\$280.00	Atten.	Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC		First Offer - \$25.00	14 / linear foot	\$350.00		Υ	
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:			
SCHWARZ PAVING CO., INC.		First Offer - \$30.00	14 / linear foot	\$420.00		Υ	
			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$30.00	14 / linear foot	\$420.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$35.00	14 / linear foot	\$490.00		Υ	
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:			
Silver Star Construction Company 👔		First Offer - \$36.50	14 / linear foot	\$511.00		Y	
		Supplier Product Cod Supplier Notes:	le:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$65.00	14 / linear foot	\$910.00		Y	
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	le:			
		First Offer - \$100.00	14 / linear foot	\$1,400.00		Υ	

Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product Co	de:	
Bishop Construction LLC	First Offer - \$100.00	14 / linear foot	\$1,400.00	Y
Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product Co	de:	
First Water Contracting, LLC 👔				

PC-0698/WC-102601-47 BASE BID: ADA CURB RAMP					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC 🙀	First Offer - \$100.00	20 / square yard	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Allen Contracting, Inc. 👔	First Offer - \$100.00	20 / square yard	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Bishop Construction LLC	First Offer - \$105.00	20 / square yard	\$2,100.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$180.00	20 / square yard	\$3,600.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$200.00	20 / square yard	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$205.00	20 / square yard	\$4,100.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Cimarron Construction Company, LLC	First Offer - \$260.00	20 / square yard	\$5,200.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
SCHWARZ PAVING CO., INC.	First Offer - \$270.00	20 / square yard	\$5,400.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Silver Star Construction Company 🙀	First Offer - \$471.00	20 / square yard	\$9,420.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

PC-0698/WC-102601-48 BASE BID: TACTILE MARKERS /	TRUNCATED DOMES					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
First Water Contracting, LLC	First Offer - \$17.00	60 / square foot	\$1,020.00		Υ	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$25.00	60 / square foot	\$1,500.00		Υ	
		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$35.00	60 / square foot	\$2,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$40.00	60 / square foot	\$2,400.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$41.00	60 / square foot	\$2,460.00		Υ	
Product Code:		Supplier Product Cod	e:			

Agency Notes:	Supplier Notes:				
Bishop Construction LLC	First Offer - \$45.00	60 / square foot	\$2,700.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$45.00	60 / square foot	\$2,700.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	60 / square foot	\$2,700.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$60.00	60 / square foot	\$3,600.00	Υ	
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

PC-0698/WC-102601-49 BASE BID: SOLID SLAB SODE	ING					
Supplier	Uni	t Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC	First Offer -	\$2.60	19707 / square yard	\$51,238.20		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.	First Offer -	\$3.00	19707 / square yard	\$59,121.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer -	\$3.50	19707 / square yard	\$68,974.50		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer -	\$3.65	19707 / square yard	\$71,930.55		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer -	\$3.75	19707 / square yard	\$73,901.25		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer -	\$4.00	19707 / square yard	\$78,828.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer -	\$4.00	19707 / square yard	\$78,828.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer -	\$5.00	19707 / square yard	\$98,535.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer -	\$6.50	19707 / square yard	\$128,095.50		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			

PC-0698/WC-102601-50 BASE BID: FILTER FABRIC SILT FENCE COMPLETE IN PLACE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$2.00	7408 / linear foot	\$14,816.00		Y				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
Silver Star Construction Company	First Offer - \$2.00	7408 / linear foot	\$14,816.00		Y				
		Supplier Product Code Supplier Notes:	: :						
First Water Contracting, LLC	First Offer - \$2.00	7408 / linear foot	\$14,816.00		Y				

		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC 🙀		First Offer - \$2.00	7408 / linear foot	\$14,816.00	Y	
			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$2.50	7408 / linear foot	\$18,520.00	Υ	
			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 🙀		First Offer - \$3.00	7408 / linear foot	\$22,224.00	Y	
			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$4.00	7408 / linear foot	\$29,632.00	Υ	
			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$4.50	7408 / linear foot	\$33,336.00	Υ	
			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$7.50	7408 / linear foot	\$55,560.00	Υ	
		Supplier Product Code: Supplier Notes:				

PC-0698/WC-102601-51 BASE BID: ROCK BAG INLE	T BARRIER					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$90.00	41 / each	\$3,690.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$115.00	41 / each	\$4,715.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	41 / each	\$10,250.00		Υ	
		Supplier Product Code: Supplier Notes:				
First Water Contracting, LLC	First Offer - \$285.00	41 / each	\$11,685.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$300.00	41 / each	\$12,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$300.00	41 / each	\$12,300.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC	First Offer - \$325.00	41 / each	\$13,325.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$345.00	41 / each	\$14,145.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$375.00	41 / each	\$15,375.00		Υ	
		Supplier Product Code: Supplier Notes:				

PC-0698/WC-102601-52 BASE BID: SILT DIKE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

Silver Star Construction Company		First Offer - \$15.00	42 / linear foot	\$630.00	Y		
			Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc. 🙀		First Offer - \$15.00	42 / linear foot	\$630.00	Y		
			Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$15.00	42 / linear foot	\$630.00	Υ		
			Supplier Product Co Supplier Notes:				
First Water Contracting, LLC 👔		First Offer - \$20.00	42 / linear foot	\$840.00	Y		
			Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC		First Offer - \$25.00	42 / linear foot	\$1,050.00	Υ		
			Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$25.00	42 / linear foot	\$1,050.00	Υ		
			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$25.00	42 / linear foot	\$1,050.00	Υ		
			Supplier Product Co Supplier Notes:	de:			
Bishop Construction LLC 👔		First Offer - \$26.00	42 / linear foot	\$1,092.00	Y		
		Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$45.00	42 / linear foot	\$1,890.00	Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$54,500.00	1 / each	\$54,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$54,787.50	1 / each	\$54,787.50		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$55,000.00	1 / each	\$55,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
First Water Contracting, LLC 👔	First Offer - \$55,000.00	1 / each	\$55,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Bishop Construction LLC	First Offer - \$55,800.00	1 / each	\$55,800.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$56,000.00	1 / each	\$56,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$57,000.00	1 / each	\$57,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Allen Contracting, Inc. 🙀	First Offer - \$58,000.00	1 / each	\$58,000.00		Y
Product Code:	1 1	Supplier Product	Code:		

Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$60,000.00	1 / each	\$60,000.00	Υ
Product Code:	Supplier Product Code:			
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-54 BASE BID: E.P.S. OPTICAL DETECTOR						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$860.00	2 / each	\$1,720.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$1,150.00	2 / each	\$2,300.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Silver Star Construction Company 🙀	First Offer - \$1,178.00	2 / each	\$2,356.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Allen Contracting, Inc. 🙀	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,225.00	2 / each	\$2,450.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,300.00	2 / each	\$2,600.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
First Water Contracting, LLC	First Offer - \$1,315.00	2 / each	\$2,630.00		Υ	
Product Code: Agency Notes:	·	Supplier Product (Supplier Notes:	Code:			
Bishop Construction LLC	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PC-0698/WC-102601-55 BASE BID: E.P.S. 4 CHANNEL PHASE SELECTOR						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC		First Offer - \$3,200.00	1 / each	\$3,200.00		Υ
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$3,350.00	1 / each	\$3,350.00		Υ
Product Code:			Supplier Product 0	Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 🙀		First Offer - \$3,385.00	1 / each	\$3,385.00		Y
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Bishop Construction LLC		First Offer - \$3,500.00	1 / each	\$3,500.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Allen Contracting, Inc. 👔		First Offer - \$3,600.00	1 / each	\$3,600.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$3,600.00	1 / each	\$3,600.00		Υ

array rrasiming ame				
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$3,700.00	1 / each	\$3,700.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$3,700.00	1 / each	\$3,700.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
First Water Contracting, LLC	First Offer - \$3,800.00	1 / each	\$3,800.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-56 BASE BID: 2" TRAFFIC SIGNAL CONDUIT (TRENCHED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company 👔	First Offer - \$21.00	330 / linear foot	\$6,930.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
Rudy Construction Co.	First Offer - \$21.00	330 / linear foot	\$6,930.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
Bishop Construction LLC 👔	First Offer - \$21.50	330 / linear foot	\$7,095.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
Cimarron Construction Company, LLC	First Offer - \$22.00	330 / linear foot	\$7,260.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
Allen Contracting, Inc. 👔	First Offer - \$22.00	330 / linear foot	\$7,260.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$22.00	330 / linear foot	\$7,260.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				
T.J. Campbell Construction Co.	First Offer - \$23.00	330 / linear foot	\$7,590.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
First Water Contracting, LLC 👔	First Offer - \$24.00	330 / linear foot	\$7,920.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	2 :				
SCHWARZ PAVING CO., INC.	First Offer - \$25.00	330 / linear foot	\$8,250.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:				

PC-0698/WC-102601-57 BASE BID: 3" TRAFFIC SIGNAL CONDUIT (TRENCHED)							
Supplier		Unit Price	Qty/Unit	To	tal Price	Attch.	Docs
Cimarron Construction Company, LLC		First Offer - \$32.00	40 / linear foot	\$	1,280.00		Υ
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$44.00	40 / linear foot	\$	1,760.00		Υ
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$44.50	40 / linear foot	\$	1,780.00		Y
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

T.J. Campbell Construction Co.	First Offer - \$45.00	40 / linear foot	\$1,800.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
Allen Contracting, Inc.	First Offer - \$45.00	40 / linear foot	\$1,800.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
Bishop Construction LLC	First Offer - \$45.50	40 / linear foot	\$1,820.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	-
Ellsworth Construction OKC dba Atech Paving	First Offer - \$46.25	40 / linear foot	\$1,850.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
First Water Contracting, LLC	First Offer - \$50.00	40 / linear foot	\$2,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
SCHWARZ PAVING CO., INC.	First Offer - \$50.00	40 / linear foot	\$2,000.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

PC-0698/WC-102601-58 BASE BID: 3" TRAFFIC SIGNAL CONDUIT (BORED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$45.00	310 / linear foot	\$13,950.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Silver Star Construction Company 👔	First Offer - \$45.50	310 / linear foot	\$14,105.00		Y		
Product Code: Agency Notes:	-	Supplier Product Cod Supplier Notes:	e:				
Allen Contracting, Inc. 🙀	First Offer - \$46.00	310 / linear foot	\$14,260.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Bishop Construction LLC	First Offer - \$46.50	310 / linear foot	\$14,415.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Ellsworth Construction OKC dba Atech Paving	First Offer - \$47.30	310 / linear foot	\$14,663.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$50.00	310 / linear foot	\$15,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
SCHWARZ PAVING CO., INC.	First Offer - \$50.00	310 / linear foot	\$15,500.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
First Water Contracting, LLC	First Offer - \$51.00	310 / linear foot	\$15,810.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				
Cimarron Construction Company, LLC	First Offer - \$72.00	310 / linear foot	\$22,320.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:				

PC-0698/WC-102601-59 BASE BID: (1/C) (AWG NO.6) ELECTRICAL CONDUCTOR						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$3.00	200 / linear foot	\$600.00		Υ	
Product Code:	Supplier Product Cod	le:				

Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$11.50	200 / linear foot	\$2,300.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$11.60	200 / linear foot	\$2,320.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
T.J. Campbell Construction Co.	First Offer - \$12.00	200 / linear foot	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Bishop Construction LLC	First Offer - \$12.00	200 / linear foot	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Allen Contracting, Inc.	First Offer - \$12.00	200 / linear foot	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$12.15	200 / linear foot	\$2,430.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
First Water Contracting, LLC	First Offer - \$13.00	200 / linear foot	\$2,600.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
SCHWARZ PAVING CO., INC.	First Offer - \$13.00	200 / linear foot	\$2,600.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	F	irst Offer - \$9.50	550 / linear foot	\$5,225.00		Y
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.	F	irst Offer - \$9.50	550 / linear foot	\$5,225.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
T.J. Campbell Construction Co.	Fir	st Offer - \$10.00	550 / linear foot	\$5,500.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2 :		
Bishop Construction LLC	Fir	st Offer - \$10.00	550 / linear foot	\$5,500.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	2:		
Allen Contracting, Inc.	Fir	st Offer - \$10.00	550 / linear foot	\$5,500.00		Υ
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	Fir	st Offer - \$10.00	550 / linear foot	\$5,500.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
Cimarron Construction Company, LLC	Fir	st Offer - \$11.00	550 / linear foot	\$6,050.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:		
First Water Contracting, LLC 👔	Fir	st Offer - \$11.00	550 / linear foot	\$6,050.00		Y
Product Code: Agency Notes:	- 1		Supplier Product Code Supplier Notes:	:		
SCHWARZ PAVING CO., INC.	Fir	st Offer - \$12.00	550 / linear foot	\$6,600.00		Υ

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PC-0698/WC-102601-61 BASE BID: (5) CONDUCTOR	R TRA	FFIC SIGNAL ELECTF	RICAL CABLE				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company		First Offer - \$4.00	1560 / linear foot	\$6,240.00		Y	
		Supplier Product Code: Supplier Notes:					
Rudy Construction Co.		First Offer - \$4.20	1560 / linear foot	\$6,552.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$4.50	1560 / linear foot	\$7,020.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Bishop Construction LLC		First Offer - \$4.50	1560 / linear foot	\$7,020.00		Υ	
			Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$4.50	1560 / linear foot	\$7,020.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC		First Offer - \$5.00	1560 / linear foot	\$7,800.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
First Water Contracting, LLC		First Offer - \$5.00	1560 / linear foot	\$7,800.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc. 👔		First Offer - \$5.00	1560 / linear foot	\$7,800.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$5.00	1560 / linear foot	\$7,800.00		Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				

	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
	First Offer - \$6.00	220 / linear foot	\$1,320.00		Y	
		Supplier Product Code Supplier Notes:	2:			
	First Offer - \$6.30	220 / linear foot	\$1,386.00		Υ	
		Supplier Product Code Supplier Notes:	e:			
	First Offer - \$6.50	220 / linear foot	\$1,430.00		Υ	
		Supplier Product Code: Supplier Notes:				
	First Offer - \$6.50	220 / linear foot	\$1,430.00		Υ	
		Supplier Product Code Supplier Notes:	2:			
	First Offer - \$6.60	220 / linear foot	\$1,452.00		Υ	
		Supplier Product Code Supplier Notes:	e:			
	First Offer - \$7.00	220 / linear foot	\$1,540.00		Υ	
		Supplier Product Code Supplier Notes:	e:			
		First Offer - \$6.30 First Offer - \$6.50 First Offer - \$6.50 First Offer - \$6.60	First Offer - \$6.00 220 / linear foot Supplier Product Code Supplier Notes: 220 / linear foot Supplier Product Code Supplier Product Code Supplier Notes: First Offer - \$6.50 220 / linear foot Supplier Product Code Supplier Notes: First Offer - \$6.50 220 / linear foot Supplier Product Code Supplier Notes: First Offer - \$6.60 220 / linear foot Supplier Product Code Supplier Notes: First Offer - \$7.00 220 / linear foot Supplier Notes: First Offer - \$7.00 220 / linear foot Supplier Product Code Supplier Notes:	First Offer - \$6.00 220 / linear foot \$1,320.00	First Offer - \$6.00 220 / linear foot \$1,320.00	

array rrasiming ame					
First Water Contracting, LLC	First Offer - \$7.00	220 / linear foot	\$1,540.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$7.00	220 / linear foot	\$1,540.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$8.00	220 / linear foot	\$1,760.00	Υ	
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

PC-0698/WC-102601-63 BASE BID: THREE (3) SECTION	TRAFFIC SIGNAL HEAD				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$1,000.00	6 / each	\$6,000.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$1,000.00	6 / each	\$6,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$1,003.00	6 / each	\$6,018.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Bishop Construction LLC	First Offer - \$1,025.00	6 / each	\$6,150.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,040.00	6 / each	\$6,240.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$1,100.00	6 / each	\$6,600.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Allen Contracting, Inc. 👔	First Offer - \$1,100.00	6 / each	\$6,600.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$1,100.00	6 / each	\$6,600.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
First Water Contracting, LLC	First Offer - \$1,109.00	6 / each	\$6,654.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PC-0698/WC-102601-64 BASE BID: FOUR (4) SECTION TI	RAFFIC SIGNAL HEAD				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$1,100.00	2 / each	\$2,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$1,150.00	2 / each	\$2,300.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$1,167.50	2 / each	\$2,335.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Bishop Construction LLC	First Offer - \$1,190.00	2 / each	\$2,380.00		Y
Product Code:		Supplier Product (Code:		

Agency Notes:	Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,200.00	2 / each	\$2,400.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$1,200.00	2 / each	\$2,400.00	Υ	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,210.00	2 / each	\$2,420.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
First Water Contracting, LLC	First Offer - \$1,300.00	2 / each	\$2,600.00	Υ	
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,300.00	2 / each	\$2,600.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$800.00	6 / each	\$4,800.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	ode:			
Rudy Construction Co.	First Offer - \$800.00	6 / each	\$4,800.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Silver Star Construction Company	First Offer - \$801.00	6 / each	\$4,806.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Bishop Construction LLC	First Offer - \$820.00	6 / each	\$4,920.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$831.00	6 / each	\$4,986.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$860.00	6 / each	\$5,160.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
First Water Contracting, LLC	First Offer - \$894.00	6 / each	\$5,364.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Allen Contracting, Inc. 👔	First Offer - \$900.00	6 / each	\$5,400.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC.	First Offer - \$900.00	6 / each	\$5,400.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PC-0698/WC-102601-66 BASE BID: PEDESTRIAN PUSH BUTTON AND SIGN										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First	Offer - \$1,400.00	6 / each	\$8,400.00		Y				
Product Code:			Supplier Product (Code:						
Agency Notes:			Supplier Notes:							
Rudy Construction Co.	First	Offer - \$1,900.00	6 / each	\$11,400.00		Y				

		Supplier Product C Supplier Notes:	ode:	
Silver Star Construction Company	First Offer - \$1,910.00	6 / each	\$11,460.00	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$1,950.00	6 / each	\$11,700.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	'
T.J. Campbell Construction Co.	First Offer - \$2,000.00	6 / each	\$12,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Allen Contracting, Inc. 👔	First Offer - \$2,000.00	6 / each	\$12,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,000.00	6 / each	\$12,000.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
First Water Contracting, LLC	First Offer - \$2,100.00	6 / each	\$12,600.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	'
SCHWARZ PAVING CO., INC.	First Offer - \$2,100.00	6 / each	\$12,600.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC 👔	First Offer - \$19,000.00	2 / each	\$38,000.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	ode:			
Rudy Construction Co.	First Offer - \$19,500.00	2 / each	\$39,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Silver Star Construction Company 👔	First Offer - \$19,514.50	2 / each	\$39,029.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Bishop Construction LLC 👔	First Offer - \$19,900.00	2 / each	\$39,800.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$20,300.00	2 / each	\$40,600.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
T.J. Campbell Construction Co.	First Offer - \$21,000.00	2 / each	\$42,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Allen Contracting, Inc. 👔	First Offer - \$21,000.00	2 / each	\$42,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC.	First Offer - \$21,000.00	2 / each	\$42,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Cimarron Construction Company, LLC	First Offer - \$25,000.00	2 / each	\$50,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PC-0698/WC-102601-68 BASE BID: POLE AND SPEC	CIFIED	30' MAST ARM(S) (INSTA	LLED)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔		First Offer - \$20,971.50	2 / each	\$41,943.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
First Water Contracting, LLC 👔		First Offer - \$21,000.00	2 / each	\$42,000.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.		First Offer - \$21,000.00	2 / each	\$42,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Bishop Construction LLC 👔		First Offer - \$21,400.00	2 / each	\$42,800.00		Y
Product Code: Agency Notes:	'		Supplier Product (Supplier Notes:	Code:		
Allen Contracting, Inc. 🙀		First Offer - \$22,000.00	2 / each	\$44,000.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$22,000.00	2 / each	\$44,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$23,000.00	2 / each	\$46,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.		First Offer - \$23,000.00	2 / each	\$46,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Cimarron Construction Company, LLC		First Offer - \$26,000.00	2 / each	\$52,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.		First Offer - \$980.00	5 / each	\$4,900.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	iode:		
Silver Star Construction Company 🙀		First Offer - \$987.00	5 / each	\$4,935.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$1,000.00	5 / each	\$5,000.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
Bishop Construction LLC		First Offer - \$1,000.00	5 / each	\$5,000.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.		First Offer - \$1,000.00	5 / each	\$5,000.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	iode:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$1,025.00	5 / each	\$5,125.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Cimarron Construction Company, LLC		First Offer - \$1,100.00	5 / each	\$5,500.00		Υ
Product Code:			Supplier Product C	ode:		

Agency Notes:		Supplier Notes:				
First Water Contracting, LLC	First Offer - \$1,100.00	5 / each	\$5,500.00	Y		
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,100.00	5 / each	\$5,500.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0698/WC-102601-70 BASE BID: STRUCTURAL CONCRETE								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First C	offer - \$1,200.00	21.35 / cubic yard	\$25,620.00		Y		
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:				
Rudy Construction Co.	First C	offer - \$1,300.00	21.35 / cubic yard	\$27,755.00		Y		
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:				
Silver Star Construction Company 🙀	First C	offer - \$1,316.00	21.35 / cubic yard	\$28,096.60		Y		
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:				
Bishop Construction LLC	First C	offer - \$1,340.00	21.35 / cubic yard	\$28,609.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First C	offer - \$1,365.00	21.35 / cubic yard	\$29,142.75		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First C	offer - \$1,400.00	21.35 / cubic yard	\$29,890.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
First Water Contracting, LLC	First C	offer - \$1,400.00	21.35 / cubic yard	\$29,890.00		Y		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First C	offer - \$1,400.00	21.35 / cubic yard	\$29,890.00		Y		
			Supplier Product Code Supplier Notes:	e:				
SCHWARZ PAVING CO., INC.	First C	ffer - \$1,500.00	21.35 / cubic yard	\$32,025.00		Y		
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	e:				

PC-0698/WC-102601-71 BASE BID: REINFORCING STEEL							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.		First Offer - \$2.50	3002.4 / pound	\$7,506.00		Υ	
Product Code:			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$2.50	3002.4 / pound	\$7,506.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$2.50	3002.4 / pound	\$7,506.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Bishop Construction LLC 🙀		First Offer - \$2.60	3002.4 / pound	\$7,806.24		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$2.75	3002.4 / pound	\$8,256.60		Y	

Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
First Water Contracting, LLC	First Offer - \$3.00	3002.4 / pound	\$9,007.20	Y		
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$3.00	3002.4 / pound	\$9,007.20	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	3002.4 / pound	\$9,007.20	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$5.00	3002.4 / pound	\$15,012.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0698/WC-102601-72 BASE BID: PULL BOX TYPE I						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer -	\$1,250.00	4 / each	\$5,000.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer -	\$1,273.50	4 / each	\$5,094.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Bishop Construction LLC 👔	First Offer -	\$1,300.00	4 / each	\$5,200.00		Υ
			Supplier Product Supplier Notes:	Code:		
Allen Contracting, Inc. 👔	First Offer -	\$1,300.00	4 / each	\$5,200.00		Y
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer -	\$1,320.00	4 / each	\$5,280.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer -	\$1,400.00	4 / each	\$5,600.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer -	\$1,400.00	4 / each	\$5,600.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer -	\$1,400.00	4 / each	\$5,600.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code:		
First Water Contracting, LLC 👔	First Offer -	\$1,420.00	4 / each	\$5,680.00		Y
			Supplier Product Code: Supplier Notes:			

PC-0698/WC-102601-73 BASE BID: PULL BOX T	YPE II						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔		First Offer - \$1,538.50	1 / each	\$1,538.50		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$1,550.00	1 / each	\$1,550.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:		Supplier Notes:					
rigeries restess.							

Bishop Construction LLC	First Offer - \$1,570.00	1 / each	\$1,570.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$1,600.00	1 / each	\$1,600.00	Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Allen Contracting, Inc.	First Offer - \$1,600.00	1 / each	\$1,600.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,600.00	1 / each	\$1,600.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,700.00	1 / each	\$1,700.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,700.00	1 / each	\$1,700.00	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
First Water Contracting, LLC	First Offer - \$1,715.00	1 / each	\$1,715.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$37.00	175.83 / square foot	\$6,505.71		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$37.00	175.83 / square foot	\$6,505.71		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$40.00	175.83 / square foot	\$7,033.20		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$40.00	175.83 / square foot	\$7,033.20		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$50.00	175.83 / square foot	\$8,791.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$52.50	175.83 / square foot	\$9,231.075		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
First Water Contracting, LLC 👔	First Offer - \$55.00	175.83 / square foot	\$9,670.65		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$60.00	175.83 / square foot	\$10,549.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$100.00	175.83 / square foot	\$17,583.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PC-0698/WC-102601-75 BASE BID: MAST ARM MOUNT	ED SIGNS		

away widening Line	แร เานรเร					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$72.00	48 / square foot	\$3,456.00		Y	
Product Code:		Supplier Product Code	e:		'	
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$72.00	48 / square foot	\$3,456.00		Υ	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Bishop Construction LLC 🙀	First Offer - \$74.00	48 / square foot	\$3,552.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$75.00	48 / square foot	\$3,600.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc. 👔	First Offer - \$75.00	48 / square foot	\$3,600.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$80.00	48 / square foot	\$3,840.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
First Water Contracting, LLC	First Offer - \$80.00	48 / square foot	\$3,840.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$80.00	48 / square foot	\$3,840.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$85.00	48 / square foot	\$4,080.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Doc	
T.J. Campbell Construction Co.	First Offer - \$175.00	10 / each	\$1,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
First Water Contracting, LLC 👔	First Offer - \$360.00	10 / each	\$3,600.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Cimarron Construction Company, LLC	First Offer - \$370.00	10 / each	\$3,700.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc. 🙀	First Offer - \$400.00	10 / each	\$4,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$500.00	10 / each	\$5,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$550.00	10 / each	\$5,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$600.00	10 / each	\$6,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Bishop Construction LLC	First Offer - \$775.00	10 / each	\$7,750.00		Υ	

Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				
Silver Star Construction Company 🙀	First Offer - \$838.50	10 / each	\$8,385.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				

PC-0698/WC-102601-77 BASE BID: REMOVE EXISTING S	IGN				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$79.00	6 / each	\$474.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 🙀	First Offer - \$79.50	6 / each	\$477.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Allen Contracting, Inc. 🙀	First Offer - \$80.00	6 / each	\$480.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$85.00	6 / each	\$510.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$85.00	6 / each	\$510.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
First Water Contracting, LLC	First Offer - \$86.00	6 / each	\$516.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$88.00	6 / each	\$528.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$100.00	6 / each	\$600.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,000.00	6 / each	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0698/WC-102601-78 BASE BID: SQUARE STEEL SI	GN F	POST				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC		First Offer - \$9.00	283 / linear foot	\$2,547.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
First Water Contracting, LLC		First Offer - \$9.00	283 / linear foot	\$2,547.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Bishop Construction LLC		First Offer - \$9.00	283 / linear foot	\$2,547.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$9.50	283 / linear foot	\$2,688.50		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$21.00	283 / linear foot	\$5,943.00		Υ
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

- , -						
Silver Star Construction Company		First Offer - \$21.00	283 / linear foot	\$5,943.00	Y	
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$21.00	283 / linear foot	\$5,943.00	Υ	
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Allen Contracting, Inc. 👔		First Offer - \$22.00	283 / linear foot	\$6,226.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$25.00	283 / linear foot	\$7,075.00	Υ	
Product Code:			Supplier Product Cod	le:		
Agency Notes:			Supplier Notes:			

PC-0698/WC-102601-79 BASE BID: TRAFFIC STRIPE	(PLASTIC)(4 INCH WIDE)					
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company 👔	First Offer - \$1.50	23980 / linear foot	\$35,970.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
First Water Contracting, LLC 👔	First Offer - \$1.55	23980 / linear foot	\$37,169.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC	First Offer - \$1.60	23980 / linear foot	\$38,368.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$1.60	23980 / linear foot	\$38,368.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1.65	23980 / linear foot	\$39,567.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc. 👔	First Offer - \$1.70	23980 / linear foot	\$40,766.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1.70	23980 / linear foot	\$40,766.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1.80	23980 / linear foot	\$43,164.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$2.00	23980 / linear foot	\$47,960.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PC-0698/WC-102601-80 BASE BID: TRAFFIC STRIPE (PLASTIC)(ARROWS)(SINGLE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$79.00	8 / each	\$632.00		Y				
Product Code:		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company 👔	First Offer - \$79.50	8 / each	\$636.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$85.00	8 / each	\$680.00		Υ				
Product Code:		Supplier Product C	Code:						

Agency Notes:		Supplier Notes:				
Allen Contracting, Inc. 👔		First Offer - \$90.00	8 / each	\$720.00	Y	
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$90.00	8 / each	\$720.00	Y	
Product Code:			Supplier Product C	Code:		
Agency Notes:			Supplier Notes:			
Bishop Construction LLC 👔		First Offer - \$215.00	8 / each	\$1,720.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$230.00	8 / each	\$1,840.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
First Water Contracting, LLC 👔		First Offer - \$230.00	8 / each	\$1,840.00	Υ	
Product Code:			Supplier Product Code:			
		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$230.00	8 / each	\$1,840.00	Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0698/WC-102601-81 BASE BID: OPTICAL DETECT	OR CABLE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$2.75	440 / linear foot	\$1,210.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Bishop Construction LLC	First Offer - \$2.80	440 / linear foot	\$1,232.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2.90	440 / linear foot	\$1,276.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$3.00	440 / linear foot	\$1,320.00		Υ	
		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$3.00	440 / linear foot	\$1,320.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
First Water Contracting, LLC	First Offer - \$3.00	440 / linear foot	\$1,320.00		Y	
Product Code:	· ·	Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc. 👔	First Offer - \$3.00	440 / linear foot	\$1,320.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	440 / linear foot	\$1,320.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$5.00	440 / linear foot	\$2,200.00		Υ	
Product Code:		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				

PC-0698/WC-102601-82 BASE BID: RADAR DETECTION SYSTEM (ADVANCE SENSORS)							
Supplier Unit Price Qty/Unit Total Price Attch. Docs							
Cimarron Construction Company, LLC	First Offer - \$9,500.00	2 / each	\$19,000.00		Y		

, 0						
		Supplier Product (Code:			
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$9,900.00	2 / each	\$19,800.00	Y	
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$9,985.50	2 / each	\$19,971.00	Υ	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	·	
T.J. Campbell Construction Co.		First Offer - \$10,000.00	2 / each	\$20,000.00	Υ	
			Supplier Product (Supplier Notes:	Code:		
Bishop Construction LLC		First Offer - \$10,165.00	2 / each	\$20,330.00	Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
First Water Contracting, LLC		First Offer - \$10,250.00	2 / each	\$20,500.00	Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$10,400.00	2 / each	\$20,800.00	Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.		First Offer - \$10,500.00	2 / each	\$21,000.00	Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.		First Offer - \$11,000.00	2 / each	\$22,000.00	Y	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$9,000.00	4 / each	\$36,000.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$9,400.00	4 / each	\$37,600.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$9,487.00	4 / each	\$37,948.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Bishop Construction LLC 👔	First Offer - \$9,660.00	4 / each	\$38,640.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9,850.00	4 / each	\$39,400.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$10,000.00	4 / each	\$40,000.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
First Water Contracting, LLC 🙀	First Offer - \$10,000.00	4 / each	\$40,000.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$10,000.00	4 / each	\$40,000.00		Y
Product Code:	- '	Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

SCHWARZ PAVING CO., INC.	First Offer - \$10,500.00	4 / each	\$42,000.00	Υ
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-84 BASE BID: RADAR CABINET I	NTERFACE (MODEL 656, 6 SE	NSORS)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$8,900.00	1 / each	\$8,900.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Cimarron Construction Company, LLC	First Offer - \$9,000.00	1 / each	\$9,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$9,073.00	1 / each	\$9,073.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Bishop Construction LLC	First Offer - \$9,240.00	1 / each	\$9,240.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$9,450.00	1 / each	\$9,450.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
First Water Contracting, LLC 👔	First Offer - \$9,500.00	1 / each	\$9,500.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Allen Contracting, Inc. 🙀	First Offer - \$9,500.00	1 / each	\$9,500.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$10,000.00	1 / each	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$10,000.00	1 / each	\$10,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0698/WC-102601-85 BASE BID: RADAR DETECT	OR CA	BLE					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.		First Offer - \$2.50	1500 / linear foot	\$3,750.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company 👔		First Offer - \$2.50	1500 / linear foot	\$3,750.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Bishop Construction LLC		First Offer - \$2.50	1500 / linear foot	\$3,750.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$2.50	1500 / linear foot	\$3,750.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$2.55	1500 / linear foot	\$3,825.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
First Water Contracting, LLC 👔		First Offer - \$2.70	1500 / linear foot	\$4,050.00		Y	
Product Code:			Supplier Product Code:				

Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$2.75	1500 / linear foot	\$4,125.00	Υ
Product Code:	Supplier Product Code:			
Agency Notes:		Supplier Notes:		
Allen Contracting, Inc.	First Offer - \$3.00	1500 / linear foot	\$4,500.00	Y
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$5.00	1500 / linear foot	\$7,500.00	Υ
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-86 BASE BID: CONSTRUCTION S	SIGNING AND TRAFFIC CONT	ROL			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Allen Contracting, Inc. 👔	First Offer - \$250,000.00	1 / lump sum	\$250,000.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:	·		
T.J. Campbell Construction Co.	First Offer - \$370,000.00	1 / lump sum	\$370,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$400,000.00	1 / lump sum	\$400,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$402,076.65	1 / lump sum	\$402,076.65		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
First Water Contracting, LLC	First Offer - \$440,000.00	1 / lump sum	\$440,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$450,000.00	1 / lump sum	\$450,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$460,000.00	1 / lump sum	\$460,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$480,000.00	1 / lump sum	\$480,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Cimarron Construction Company, LLC	First Offer - \$500,000.00	1 / lump sum	\$500,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0698/WC-102601-87 BASE BID: STRUCTURE REMOV	'AL (TRAFFIC SIGNAL)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$4,828.50	1 / lump sum	\$4,828.50		Y
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Bishop Construction LLC	First Offer - \$4,915.00	1 / lump sum	\$4,915.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y
Product Code:		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y

Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
Rudy Construction Co.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
First Water Contracting, LLC	First Offer - \$5,300.00	1 / lump sum	\$5,300.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
Ellsworth Construction OKC dba Atech Paving	First Offer - \$5,600.00	1 / lump sum	\$5,600.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
Cimarron Construction Company, LLC	First Offer - \$9,200.00	1 / lump sum	\$9,200.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
SCHWARZ PAVING CO., INC.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	

PC-0698/WC-102601-88 BASE BID: SEDIMENT AND ERG	SION CONTROL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$500.00	1 / lump sum	\$500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Allen Contracting, Inc.	First Offer - \$2,000.00	1 / lump sum	\$2,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
First Water Contracting, LLC	First Offer - \$2,800.00	1 / lump sum	\$2,800.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Silver Star Construction Company	First Offer - \$3,714.00	1 / lump sum	\$3,714.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Cimarron Construction Company, LLC	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Bishop Construction LLC	First Offer - \$5,500.00	1 / lump sum	\$5,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$8,500.00	1 / lump sum	\$8,500.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$16,000.00	1 / lump sum	\$16,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PC-0698/WC-102601-89 BASE BID: BORING - CASING (FOR 12 INCH WATERLINE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$485.00	80 / linear foot	\$38,800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
	First Offer - \$489.00	80 / linear foot	\$39,120.00		Υ				

, 3				
Silver Star Construction Company 👔				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$498.00	80 / linear foot	\$39,840.00	Y
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:		
Allen Contracting, Inc. 👔	First Offer - \$520.00	80 / linear foot	\$41,600.00	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$530.00	80 / linear foot	\$42,400.00	Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$535.00	80 / linear foot	\$42,800.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
T.J. Campbell Construction Co.	First Offer - \$575.00	80 / linear foot	\$46,000.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
First Water Contracting, LLC 👔	First Offer - \$620.00	80 / linear foot	\$49,600.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Cimarron Construction Company, LLC	First Offer - \$700.00	80 / linear foot	\$56,000.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	

PC-0698/WC-102601-90 BASE BID: (8 INCH) (PVC) WATER	RLINE PIPE (PUSH-ON JO	OINT) (DR-14) W/ 12 (GAUGER TRACER WI	RE	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$160.00	25 / linear foot	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Rudy Construction Co.	First Offer - \$175.00	25 / linear foot	\$4,375.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Silver Star Construction Company 👔	First Offer - \$177.00	25 / linear foot	\$4,425.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Bishop Construction LLC	First Offer - \$180.00	25 / linear foot	\$4,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$190.00	25 / linear foot	\$4,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$194.00	25 / linear foot	\$4,850.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
T.J. Campbell Construction Co.	First Offer - \$200.00	25 / linear foot	\$5,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$200.00	25 / linear foot	\$5,000.00		Y
Product Code: Agency Notes:	1	Supplier Product Co Supplier Notes:	ode:		
First Water Contracting, LLC	First Offer - \$970.00	25 / linear foot	\$24,250.00		Y
Product Code:		Supplier Product Co	de:		

Agency Not	es:	Supplier Notes:

PC-0698/WC-102601-91 BASE BID: (12 INCH) (PVC) WA	TERLINE PIPE (PUSH-ON	JOINT) (DR-14) W/ 12	GAUGE TRACER WI	RE	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$180.00	227 / linear foot	\$40,860.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$185.00	227 / linear foot	\$41,995.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Silver Star Construction Company 👔	First Offer - \$188.00	227 / linear foot	\$42,676.00		Y
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:			
Bishop Construction LLC	First Offer - \$191.00	227 / linear foot	\$43,357.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
SCHWARZ PAVING CO., INC.	First Offer - \$200.00	227 / linear foot	\$45,400.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$205.05	227 / linear foot	\$46,546.35		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
Allen Contracting, Inc.	First Offer - \$220.00	227 / linear foot	\$49,940.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$225.00	227 / linear foot	\$51,075.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		
First Water Contracting, LLC	First Offer - \$700.00	227 / linear foot	\$158,900.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:		

PC-0698/WC-102601-92 BASE BID: 8 INCH SOL	ID SLEEVE (DIP)	СОМРАСТ (МЈ)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC 👔	Fir	st Offer - \$280.00	2 / each	\$560.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
T.J. Campbell Construction Co.	Fir	st Offer - \$400.00	2 / each	\$800.00		Υ
			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 👔	Fir	st Offer - \$400.00	2 / each	\$800.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	Fir	st Offer - \$550.00	2 / each	\$1,100.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	Fir	st Offer - \$595.50	2 / each	\$1,191.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	Fir	st Offer - \$600.00	2 / each	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC 🔓	Fir	st Offer - \$605.00	2 / each	\$1,210.00		Υ

Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$650.00	2 / each	\$1,300.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$650.00	2 / each	\$1,300.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0698/WC-102601-93 BASE BID: 8 INCH x 45 DEGREE	BEND (DIP) COMPACT (M	J)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Allen Contracting, Inc. 🙀	First Offer - \$340.00	4 / each	\$1,360.00		Y
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$350.00	4 / each	\$1,400.00		Υ
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:			
Cimarron Construction Company, LLC	First Offer - \$575.00	4 / each	\$2,300.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$600.00	4 / each	\$2,400.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$604.00	4 / each	\$2,416.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$614.00	4 / each	\$2,456.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$650.00	4 / each	\$2,600.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$660.00	4 / each	\$2,640.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
First Water Contracting, LLC	First Offer - \$1,200.00	4 / each	\$4,800.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0698/WC-102601-94 BASE BID: 12 INCH SOLID SLEEV	PC-0698/WC-102601-94 BASE BID: 12 INCH SOLID SLEEVE (DIP) COMPACT LONG (MJ)							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Water Contracting, LLC		First Offer - \$400.00	6 / each	\$2,400.00		Υ		
			Supplier Product Code: Supplier Notes:					
Cimarron Construction Company, LLC		First Offer - \$600.00	6 / each	\$3,600.00		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc. 🙀		First Offer - \$680.00	6 / each	\$4,080.00		Υ		
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:				
T.J. Campbell Construction Co.		First Offer - \$700.00	6 / each	\$4,200.00		Υ		
		Supplier Product Code: Supplier Notes:						

Rudy Construction Co.	First Offer - \$850.00	6 / each	\$5,100.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$858.50	6 / each	\$5,151.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Bishop Construction LLC	First Offer - \$873.00	6 / each	\$5,238.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$940.00	6 / each	\$5,640.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$950.00	6 / each	\$5,700.00	Y	
		Supplier Product Code: Supplier Notes:			

PC-0698/WC-102601-95 BASE BID: 12 INCH x 11 1/4	4 DEGREE B	BEND (DIP) COMPA	CT (MJ)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Allen Contracting, Inc. 👔	Fi	rst Offer - \$560.00	4 / each	\$2,240.00		Y
			Supplier Product C Supplier Notes:	ode:		
T.J. Campbell Construction Co.	Fi	rst Offer - \$575.00	4 / each	\$2,300.00		Υ
		Supplier Product Co Supplier Notes:	ode:			
Cimarron Construction Company, LLC	Fi	rst Offer - \$585.00	4 / each	\$2,340.00		Υ
			Supplier Product Co Supplier Notes:	ode:		
First Water Contracting, LLC 👔	Fi	rst Offer - \$800.00	4 / each	\$3,200.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	Fi	rst Offer - \$810.00	4 / each	\$3,240.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 🙀	Fi	rst Offer - \$816.00	4 / each	\$3,264.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Bishop Construction LLC 🙀	Fi	rst Offer - \$830.00	4 / each	\$3,320.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
SCHWARZ PAVING CO., INC.	Fi	rst Offer - \$900.00	4 / each	\$3,600.00		Υ
		Supplier Product Co Supplier Notes:	ode:			
Ellsworth Construction OKC dba Atech Paving	Fi	rst Offer - \$900.00	4 / each	\$3,600.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		

PC-0698/WC-102601-96 BASE BID: 12 INCH x 45 DEGREE BEND (DIP) COMPACT (MJ)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$700.00	10 / each	\$7,000.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$700.00	10 / each	\$7,000.00		Y				
Product Code:		Supplier Product (Code:						

Agency Notes:		Supplier Notes:					
Rudy Construction Co.		First Offer - \$880.00	10 / each	\$8,800.00	Υ		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Silver Star Construction Company		First Offer - \$890.50	10 / each	\$8,905.00	Y		
Product Code:			Supplier Product (Code:	•		
Agency Notes:			Supplier Notes:				
Bishop Construction LLC		First Offer - \$905.00	10 / each	\$9,050.00	Y		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$965.00	10 / each	\$9,650.00	Υ		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$975.00	10 / each	\$9,750.00	Υ		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Cimarron Construction Company, LLC		First Offer - \$990.00	10 / each	\$9,900.00	Υ		
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
First Water Contracting, LLC		First Offer - \$1,500.00	10 / each	\$15,000.00	Y		
Product Code:			Supplier Product 0	Code:			
Agency Notes:			Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC	First Offer - \$115.00	12 / each	\$1,380.00		Y
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Allen Contracting, Inc. 👔	First Offer - \$220.00	12 / each	\$2,640.00		Y
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$225.00	12 / each	\$2,700.00		Υ
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Cimarron Construction Company, LLC	First Offer - \$250.00	12 / each	\$3,000.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$340.00	12 / each	\$4,080.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$343.00	12 / each	\$4,116.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Bishop Construction LLC	First Offer - \$348.00	12 / each	\$4,176.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$370.00	12 / each	\$4,440.00		Υ
		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$375.00	12 / each	\$4,500.00		Υ
		Supplier Product C Supplier Notes:	Code:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC		First Offer - \$200.00	45 / each	\$9,000.00		Y
			Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.		First Offer - \$300.00	45 / each	\$13,500.00		Υ
		Supplier Product C Supplier Notes:	Code:			
Allen Contracting, Inc. 🙀		First Offer - \$300.00	45 / each	\$13,500.00		Y
Product Code:			Supplier Product C Supplier Notes:	Code:		
Cimarron Construction Company, LLC		First Offer - \$400.00	45 / each	\$18,000.00		Y
			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$447.00	45 / each	\$20,115.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$450.00	45 / each	\$20,250.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Bishop Construction LLC 👔		First Offer - \$455.00	45 / each	\$20,475.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$488.00	45 / each	\$21,960.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.		First Offer - \$500.00	45 / each	\$22,500.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		

Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Offer - \$550.00	5 / each	\$2,750.00		Y		
First Offer - \$575.00	5 / each	\$2,875.00		Y		
First Offer - \$650.00	5 / each	\$3,250.00		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
First Offer - \$750.00	5 / each	\$3,750.00		Υ		
	Supplier Product Code: Supplier Notes:					
First Offer - \$750.00	5 / each	\$3,750.00		Y		
	Supplier Product Code: Supplier Notes:					
First Offer - \$763.00	5 / each	\$3,815.00		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
First Offer - \$820.00	5 / each	\$4,100.00		Υ		
	Supplier Product Co Supplier Notes:	de:				
	First Offer - \$575.00 First Offer - \$650.00 First Offer - \$750.00 First Offer - \$750.00 First Offer - \$763.00	Supplier Product Co Supplier Notes: First Offer - \$575.00 5 / each Supplier Product Co Supplier Notes: First Offer - \$650.00 5 / each Supplier Product Co Supplier Notes: First Offer - \$750.00 5 / each Supplier Product Co Supplier Notes: First Offer - \$750.00 5 / each Supplier Product Co Supplier Notes: First Offer - \$763.00 5 / each Supplier Product Co Supplier Notes: First Offer - \$763.00 5 / each Supplier Product Co Supplier Notes: First Offer - \$820.00 5 / each Supplier Product Co Supplier Notes:	Supplier Product Code: Supplier Notes: \$2,875.00 \$5 / each \$2,875.00 Supplier Product Code: Supplier Notes: First Offer - \$650.00 5 / each \$3,250.00 Supplier Product Code: Supplier Notes: First Offer - \$750.00 5 / each \$3,750.00 Supplier Product Code: Supplier Notes: First Offer - \$750.00 5 / each \$3,750.00 Supplier Product Code: Supplier Notes: First Offer - \$763.00 5 / each \$3,815.00 Supplier Product Code: Supplier Notes: First Offer - \$763.00 5 / each \$3,815.00 Supplier Product Code: Supplier Notes: First Offer - \$820.00 5 / each \$4,100.00 Supplier Product Code: Supplier Prod	Supplier Product Code: Supplier Notes:		

SCHWARZ PAVING CO., INC.	First Offer - \$825.00	5 / each	\$4,125.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
First Water Contracting, LLC	First Offer - \$1,400.00	5 / each	\$7,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0698/WC-102601-100 BASE BID: (16 INCH) (DIP) W	ATER LINE PIPE (PUSH-ON	JOINT)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$235.00	43 / linear foot	\$10,105.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$325.00	43 / linear foot	\$13,975.00		Y	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:				
Allen Contracting, Inc.	First Offer - \$330.00	43 / linear foot	\$14,190.00		Y	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:				
Rudy Construction Co.	First Offer - \$380.00	43 / linear foot	\$16,340.00		Y	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:				
Silver Star Construction Company	First Offer - \$382.00	43 / linear foot	\$16,426.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC	First Offer - \$389.00	43 / linear foot	\$16,727.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$400.00	43 / linear foot	\$17,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$418.00	43 / linear foot	\$17,974.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
First Water Contracting, LLC	First Offer - \$1,000.00	43 / linear foot	\$43,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PC-0698/WC-102601-101 BASE BID: 16 INCH SOLID SLEEVE (DIP) COMPACT LONG (MJ)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Water Contracting, LLC	First Offer - \$700.00	2 / each	\$1,400.00		Υ		
		Supplier Product Code: Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$995.00	2 / each	\$1,990.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company	First Offer - \$1,217.00	2 / each	\$2,434.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Bishop Construction LLC	First Offer - \$1,238.00	2 / each	\$2,476.00		Υ		
Product Code:		Supplier Product C	Code:				

Agency Notes:		Supplier Notes:			
Allen Contracting, Inc. 🙀	First Offer - \$1,250.00	2 / each	\$2,500.00	Y	
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,300.00	2 / each	\$2,600.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,300.00	2 / each	\$2,600.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,330.00	2 / each	\$2,660.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0698/WC-102601-102 BASE BID: 16 INCH x 45 DEGRE	E BEND (DIP) COMPACT	(MJ)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$1,125.00	5 / each	\$5,625.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,300.00	5 / each	\$6,500.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Allen Contracting, Inc. 🙀	First Offer - \$1,330.00	5 / each	\$6,650.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$1,350.00	5 / each	\$6,750.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Silver Star Construction Company	First Offer - \$1,351.00	5 / each	\$6,755.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC	First Offer - \$1,374.00	5 / each	\$6,870.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,475.00	5 / each	\$7,375.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	5 / each	\$7,500.00		Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			
First Water Contracting, LLC	First Offer - \$2,800.00	5 / each	\$14,000.00		Υ	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:			

PC-0698/WC-102601-103 BASE BID: FITTINGS (MEGA-LUG SERIES 1116)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Water Contracting, LLC	First Offer - \$300.00	14 / each	\$4,200.00		Υ		
		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$450.00	14 / each	\$6,300.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$450.00	14 / each	\$6,300.00		Y		

		Supplier Product C Supplier Notes:	ode:			
Cimarron Construction Company, LLC		First Offer - \$500.00	14 / each	\$7,000.00	Υ	
		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.		First Offer - \$580.00	14 / each	\$8,120.00	Υ	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:		
Silver Star Construction Company	П	First Offer - \$584.50	14 / each	\$8,183.00	Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Bishop Construction LLC		First Offer - \$595.00	14 / each	\$8,330.00	Y	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$640.00	14 / each	\$8,960.00	Υ	
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	·	
SCHWARZ PAVING CO., INC.		First Offer - \$650.00	14 / each	\$9,100.00	Υ	
		Supplier Product Code: Supplier Notes:				

PC-0698/WC-102601-104 BASE BID: (12 INCH) (INS	ERTA) VALVE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$12,750.00	1 / each	\$12,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$23,000.00	1 / each	\$23,000.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$23,024.00	1 / each	\$23,024.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Bishop Construction LLC	First Offer - \$23,450.00	1 / each	\$23,450.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$25,000.00	1 / each	\$25,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$25,200.00	1 / each	\$25,200.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
Allen Contracting, Inc. 👔	First Offer - \$26,000.00	1 / each	\$26,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
First Water Contracting, LLC	First Offer - \$28,000.00	1 / each	\$28,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			
SCHWARZ PAVING CO., INC.	First Offer - \$30,000.00	1 / each	\$30,000.00		Y	
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:			

PC-0698/WC-102601-105 BASE BID: WET CONNECTION (8 INCH)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

away widening Line					
Silver Star Construction Company 👔	First Offer - \$1,958.00	2 / each	\$3,916.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$1,990.00	2 / each	\$3,980.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$2,100.00	2 / each	\$4,200.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,150.00	2 / each	\$4,300.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
First Water Contracting, LLC	First Offer - \$2,200.00	2 / each	\$4,400.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$2,500.00	2 / each	\$5,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$5,500.00	2 / each	\$11,000.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Allen Contracting, Inc.	First Offer - \$5,500.00	2 / each	\$11,000.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:	'	

Supplier	Un	it Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 🙀	First Offer - \$1,	,958.00	6 / each	\$11,748.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Bishop Construction LLC	First Offer - \$1,	,990.00	6 / each	\$11,940.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$2,	,000.00	6 / each	\$12,000.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$2,	,100.00	6 / each	\$12,600.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,	,150.00	6 / each	\$12,900.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
First Water Contracting, LLC 👔	First Offer - \$2,	,200.00	6 / each	\$13,200.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		
Cimarron Construction Company, LLC	First Offer - \$3,	,650.00	6 / each	\$21,900.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$9,	,500.00	6 / each	\$57,000.00		Y
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	Code:		

Allen Contracting, Inc. 👔	First Offer - \$9,500.00	6 / each	\$57,000.00	Y
Product Code:		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-107 BASE BID: WET CONNECT	ΓΙΟΝ (16 INCH)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company 👔	First Offer - \$1,958.00	2 / each	\$3,916.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Bishop Construction LLC 🙀	First Offer - \$1,990.00	2 / each	\$3,980.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Rudy Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$2,100.00	2 / each	\$4,200.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,150.00	2 / each	\$4,300.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
First Water Contracting, LLC	First Offer - \$2,200.00	2 / each	\$4,400.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Cimarron Construction Company, LLC	First Offer - \$4,800.00	2 / each	\$9,600.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$10,500.00	2 / each	\$21,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Allen Contracting, Inc. 👔	First Offer - \$12,000.00	2 / each	\$24,000.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0698/WC-102601-108 BASE BID: HYDROSTATIC PRE	SSURE TESTING AND DISIN	IFECTION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$3,750.00	1 / lump sum	\$3,750.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$4,000.00	1 / lump sum	\$4,000.00		Y	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$4,046.00	1 / lump sum	\$4,046.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Bishop Construction LLC	First Offer - \$4,115.00	1 / lump sum	\$4,115.00		Y	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$4,400.00	1 / lump sum	\$4,400.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4,450.00	1 / lump sum	\$4,450.00		Y	
Product Code:		Supplier Product C	ode:			

Agency Notes:	Supplier Notes:				
First Water Contracting, LLC	First Offer - \$6,500.00	1 / lump sum	\$6,500.00	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$11,000.00	1 / lump sum	\$11,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$12,000.00	1 / lump sum	\$12,000.00	Y	
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PC-0698/WC-102601-109 BASE BID: BLOWOFF VAL	VE (2INCH) (T	EMPORARY)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First 0	Offer - \$2,500.00	1 / each	\$2,500.00		Y
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
Bishop Construction LLC 👔	First 0	Offer - \$2,550.00	1 / each	\$2,550.00		Y
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company	First 0	Offer - \$2,687.00	1 / each	\$2,687.00		Y
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.	First (Offer - \$2,700.00	1 / each	\$2,700.00		Y
Product Code:			Supplier Product (Code:		
Agency Notes:			Supplier Notes:	I		
Cimarron Construction Company, LLC	First C	Offer - \$2,750.00	1 / each	\$2,750.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First 0	Offer - \$2,750.00	1 / each	\$2,750.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First 0	Offer - \$5,000.00	1 / each	\$5,000.00		Υ
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Allen Contracting, Inc. 👔	First 0	Offer - \$5,000.00	1 / each	\$5,000.00		Y
Product Code: Agency Notes:	1 1		Supplier Product (Supplier Notes:	Code:		
First Water Contracting, LLC	First 0	Offer - \$8,500.00	1 / each	\$8,500.00		Y
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:		

PC-0698/WC-102601-110 BASE BID: STEEL CASING PIPE (FOR 12 INCH WATERLINE) BY TRENCHING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$73.50	120 / linear foot	\$8,820.00		Υ				
Product Code:	Supplier Product Cod	de:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$74.50	120 / linear foot	\$8,940.00		Y				
Product Code:		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							
Bishop Construction LLC	First Offer - \$76.00	120 / linear foot	\$9,120.00		Y				
Product Code:		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$80.00	120 / linear foot	\$9,600.00		Y				

,					
		Supplier Product Code:			
Agency Notes:	Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$82.00	120 / linear foot	\$9,840.00	Y	
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$150.00	120 / linear foot	\$18,000.00	Y	
Product Code:	Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$150.00	120 / linear foot	\$18,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
First Water Contracting, LLC	First Offer - \$160.00	120 / linear foot	\$19,200.00	Y	
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$255.00	120 / linear foot	\$30,600.00	Y	
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
First Water Contracting, LLC Product Code: Agency Notes: Cimarron Construction Company, LLC Product Code:		120 / linear foot Supplier Product Coc Supplier Notes: 120 / linear foot Supplier Product Coc	\$30,600.00		

PC-0698/WC-102601-111 BASE BID: STEEL CASING PIP	E (FOR 16 INCH WATERLI	NE) BY TRENCHING			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$140.00	10 / linear foot	\$1,400.00		Υ
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:			
Rudy Construction Co.	First Offer - \$140.00	10 / linear foot	\$1,400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Bishop Construction LLC	First Offer - \$143.00	10 / linear foot	\$1,430.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
SCHWARZ PAVING CO., INC.	First Offer - \$150.00	10 / linear foot	\$1,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$153.00	10 / linear foot	\$1,530.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$220.00	10 / linear foot	\$2,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
T.J. Campbell Construction Co.	First Offer - \$225.00	10 / linear foot	\$2,250.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
First Water Contracting, LLC	First Offer - \$300.00	10 / linear foot	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Cimarron Construction Company, LLC	First Offer - \$335.00	10 / linear foot	\$3,350.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

PC-0698/WC-102601-112 BASE BID: GPS AS BUILT SURVEY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$3,000.00	1 / lump sum	\$3,000.00		Υ				
Product Code:		Supplier Product C	Code:						
Agency Notes:		Supplier Notes:							

away widening Line	แจ กันจเจ				
Cimarron Construction Company, LLC	First Offer - \$3,350.00) 1 / lump sum	\$3,350.00	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
First Water Contracting, LLC	First Offer - \$4,000.00		\$4,000.00	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4,050.00	1 / lump sum	\$4,050.00	Υ	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:			
SCHWARZ PAVING CO., INC.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 🙀	First Offer - \$5,500.00) 1 / lump sum	\$5,500.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$7,958.50) 1 / lump sum	\$7,958.50	Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	'	
T.J. Campbell Construction Co.	First Offer - \$8,800.00	1 / lump sum	\$8,800.00	Υ	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:			
Bishop Construction LLC	First Offer - \$9,200.00	1 / lump sum	\$9,200.00	Y	
		Supplier Product Co Supplier Notes:	ode:		

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.		First Offer - \$11.00	25 / linear foot	\$275.00		Υ
Product Code:			Supplier Product Cod Supplier Notes:	e:		
Allen Contracting, Inc. 👔		First Offer - \$11.00	25 / linear foot	\$275.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
Cimarron Construction Company, LLC		First Offer - \$16.00	25 / linear foot	\$400.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
Rudy Construction Co.		First Offer - \$26.00	25 / linear foot	\$650.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
Silver Star Construction Company 👔		First Offer - \$26.50	25 / linear foot	\$662.50		Y
Product Code: Agency Notes:	<u>'</u>		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC 🙀		First Offer - \$28.00	25 / linear foot	\$700.00		Y
Product Code: Agency Notes:		1	Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$29.00	25 / linear foot	\$725.00		Υ
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
SCHWARZ PAVING CO., INC.		First Offer - \$30.00	25 / linear foot	\$750.00		Y
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes:	e:		
First Water Contracting, LLC 👔		First Offer - \$55.00	25 / linear foot	\$1,375.00		Υ
Product Code:			Supplier Product Cod	e:		

Agency Notes: Supplier Notes:

PC-0698/WC-102601-114 BASE BID: REMOVE WAT	ER LINE (12 INCH)				
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$11.00	140 / linear foot	\$1,540.00		Υ
Product Code:	Supplier Product Code	e:			
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$11.00	140 / linear foot	\$1,540.00		Y
Product Code:		Supplier Product Code			
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$18.00	140 / linear foot	\$2,520.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$26.00	140 / linear foot	\$3,640.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$26.50	140 / linear foot	\$3,710.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$28.00	140 / linear foot	\$3,920.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$29.00	140 / linear foot	\$4,060.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	140 / linear foot	\$4,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
First Water Contracting, LLC	First Offer - \$55.00	140 / linear foot	\$7,700.00		Υ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<u>:</u>		

PC-0698/WC-102601-115 BASE BID: REMOVE WATER L	INE (16 INCH)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer - \$11.00	43 / linear foot	\$473.00		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$11.00	43 / linear foot	\$473.00		Y	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$25.00	43 / linear foot	\$1,075.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$26.00	43 / linear foot	\$1,118.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$26.50	43 / linear foot	\$1,139.50		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Bishop Construction LLC	First Offer - \$28.00	43 / linear foot	\$1,204.00		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$29.00	43 / linear foot	\$1,247.00		Υ	

Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	43 / linear foot	\$1,290.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
First Water Contracting, LLC	First Offer - \$170.00	43 / linear foot	\$7,310.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102601-116 BASE BID: ADJUST EXISTING ST	RUCTURE (WATER VALV	/E)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$150.00	5 / each	\$750.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$150.00	5 / each	\$750.00		Y
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$440.00	5 / each	\$2,200.00		Y
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$580.00	5 / each	\$2,900.00		Y
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Silver Star Construction Company 👔	First Offer - \$588.00	5 / each	\$2,940.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$600.00	5 / each	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$645.00	5 / each	\$3,225.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$750.00	5 / each	\$3,750.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
First Water Contracting, LLC	First Offer - \$850.00	5 / each	\$4,250.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

Unit Price	Qty/Unit 500 / square yard	Total Price \$1,300.00	Attch.	Docs	
	500 / square yard	\$1,300,00			
		¥1,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
First Offer - \$3.00	500 / square yard	\$1,500.00		Y	
	Supplier Product Code Supplier Notes:	:			
First Offer - \$3.50	500 / square yard	\$1,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
First Offer - \$4.00	500 / square yard	\$2,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
	irst Offer - \$4.00	Supplier Product Code Supplier Notes: irst Offer - \$4.00 500 / square yard Supplier Product Code	Supplier Product Code: Supplier Notes: irst Offer - \$4.00	Supplier Product Code: Supplier Notes: irst Offer - \$4.00	

Bishop Construction LLC	First Offer - \$4.00	500 / square yard	\$2,000.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	500 / square yard	\$2,000.00	Y	
Product Code:		Supplier Product Code:	•		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4.50	500 / square yard	\$2,250.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$5.00	500 / square yard	\$2,500.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$6.50	500 / square yard	\$3,250.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0698/WC-102601-118 BASE BID: CLASS "C" CONCRI	ETE				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Bishop Construction LLC 👔	First Offer - \$271.00	10 / cubic yard	\$2,710.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Allen Contracting, Inc. 🙀	First Offer - \$350.00	10 / cubic yard	\$3,500.00		Υ
		Supplier Product Co Supplier Notes:	de:		
First Water Contracting, LLC 👔	First Offer - \$400.00	10 / cubic yard	\$4,000.00		Y
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	de:			
T.J. Campbell Construction Co.	First Offer - \$405.00	10 / cubic yard	\$4,050.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
SCHWARZ PAVING CO., INC.	First Offer - \$450.00	10 / cubic yard	\$4,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$530.50	10 / cubic yard	\$5,305.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$550.00	10 / cubic yard	\$5,500.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$670.00	10 / cubic yard	\$6,700.00		Υ
		Supplier Product Co Supplier Notes:	de:		
Rudy Construction Co.	First Offer - \$800.00	10 / cubic yard	\$8,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

PC-0698/WC-102601-119 BASE BID: LIME										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
First Water Contracting, LLC	First Offer - \$290.00	518 / ton	\$150,220.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$297.50	518 / ton	\$154,105.00		Y					
Product Code:		Supplier Product Code:								

Agency Notes:	Supplier Notes:				
Allen Contracting, Inc. 👔	First Offer - \$300.00	518 / ton	\$155,400.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$300.00	518 / ton	\$155,400.00	Y	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	ode:			
T.J. Campbell Construction Co.	First Offer - \$350.00	518 / ton	\$181,300.00	Υ	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	ode:			
Cimarron Construction Company, LLC	First Offer - \$355.00	518 / ton	\$183,890.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$370.00	518 / ton	\$191,660.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$388.00	518 / ton	\$200,984.00	Υ	
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	code:			
Rudy Construction Co.	First Offer - \$415.00	518 / ton	\$214,970.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.00	21328 / square yard	\$63,984.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$3.50	21328 / square yard	\$74,648.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$4.75	21328 / square yard	\$101,308.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$5.00	21328 / square yard	\$106,640.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Bishop Construction LLC	First Offer - \$5.60	21328 / square yard	\$119,436.80		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
First Water Contracting, LLC 👔	First Offer - \$6.00	21328 / square yard	\$127,968.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔	First Offer - \$6.50	21328 / square yard	\$138,632.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$9.00	21328 / square yard	\$191,952.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$11.00	21328 / square yard	\$234,608.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$4.00	.,	\$13,984.00	7 1000111	Y	
Product Code:	Supplier Product Code:	+ 10/30 1100		<u> </u>		
Agency Notes:	Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$5.75	3496 / square yard	\$20,102.00		Υ	
Product Code:	· ·	Supplier Product Code:				
Agency Notes:		Supplier Notes:				
First Water Contracting, LLC 🙀	First Offer - \$6.00	3496 / square yard	\$20,976.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Bishop Construction LLC 👔	First Offer - \$6.00	3496 / square yard	\$20,976.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc. 👔	First Offer - \$6.00	3496 / square yard	\$20,976.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$6.00	3496 / square yard	\$20,976.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$8.00	3496 / square yard	\$27,968.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$8.00	3496 / square yard	\$27,968.00		Υ	
Product Code:	· ·	Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$11.00	3496 / square yard	\$38,456.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
First Water Contracting, LLC		First Offer - \$8.00	850 / cubic yard	\$6,800.00		Υ	
			Supplier Product Code Supplier Notes:	:			
T.J. Campbell Construction Co.		First Offer - \$13.00	850 / cubic yard	\$11,050.00		Y	
		Supplier Product Code Supplier Notes:	:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$21.00	850 / cubic yard	\$17,850.00		Y	
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	::			
Silver Star Construction Company		First Offer - \$27.50	850 / cubic yard	\$23,375.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc.		First Offer - \$30.00	850 / cubic yard	\$25,500.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$30.00	850 / cubic yard	\$25,500.00		Υ	
Product Code:		Supplier Product Code Supplier Notes:	:				
Rudy Construction Co.		First Offer - \$45.00	850 / cubic yard	\$38,250.00		Υ	
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:			

Cimarron Construction Company, LLC	First Offer - \$58.00	850 / cubic yard	\$49,300.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Bishop Construction LLC	First Offer - \$75.00	850 / cubic yard	\$63,750.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

PC-0698/WC-102601-123 BASE BID: CURB INLET WITI	H JUNCTION BOX, OKC DES.	2-2			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Allen Contracting, Inc. 👔	First Offer - \$12,000.00	2 / each	\$24,000.00		Y
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:			
Rudy Construction Co.	First Offer - \$13,000.00	2 / each	\$26,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Silver Star Construction Company 👔	First Offer - \$13,127.50	2 / each	\$26,255.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Bishop Construction LLC	First Offer - \$13,360.00	2 / each	\$26,720.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
SCHWARZ PAVING CO., INC.	First Offer - \$14,000.00	2 / each	\$28,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$14,500.00	2 / each	\$29,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
First Water Contracting, LLC	First Offer - \$14,885.00	2 / each	\$29,770.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$15,000.00	2 / each	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
Cimarron Construction Company, LLC	First Offer - \$18,000.00	2 / each	\$36,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PC-0698/WC-102602-01 ALT. NO. 1: TYPE A AGGREGATI	E BASE						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offe	er - \$70.00	18 / cubic yard	\$1,260.00		Υ	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
First Water Contracting, LLC	First Offe	er - \$72.00	18 / cubic yard	\$1,296.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Allen Contracting, Inc. 👔	First Offe	er - \$85.00	18 / cubic yard	\$1,530.00		Y	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offe	er - \$91.10	18 / cubic yard	\$1,639.80		Y	
Product Code:			Supplier Product Co	de:			
Agency Notes:			Supplier Notes:				
Rudy Construction Co.	First Offer	- \$100.00	18 / cubic yard	\$1,800.00		Y	
Product Code:		Supplier Product Co	ode:				

Agency Notes: St			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$107.00	18 / cubic yard	\$1,926.00	Υ	
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$110.00	18 / cubic yard	\$1,980.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$125.00	18 / cubic yard	\$2,250.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Bishop Construction LLC		First Offer - \$188.00	18 / cubic yard	\$3,384.00	Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0698/WC-102602-02 ALT. NO. 1: REMOVE SIDEWA	ALK					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ellsworth Construction OKC dba Atech Paving	First Offer - \$13.80	305 / square yard	\$4,209.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Silver Star Construction Company 🙀	First Offer - \$14.00	305 / square yard	\$4,270.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	'				
Allen Contracting, Inc. 🙀	First Offer - \$15.00	305 / square yard	\$4,575.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,			
SCHWARZ PAVING CO., INC.	First Offer - \$15.00	305 / square yard	\$4,575.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Rudy Construction Co.	First Offer - \$15.00	305 / square yard	\$4,575.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Bishop Construction LLC 🙀	First Offer - \$16.00	305 / square yard	\$4,880.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$18.00	305 / square yard	\$5,490.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
First Water Contracting, LLC	First Offer - \$18.00	305 / square yard	\$5,490.00		Υ	
		Supplier Product Code: Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$25.00	305 / square yard	\$7,625.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PC-0698/WC-102602-03 ALT. NO. 1: SIDEWALK (5FT)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC	First Offer - \$57.00	313 / square yard	\$17,841.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
Bishop Construction LLC	First Offer - \$62.00	313 / square yard	\$19,406.00		Y
Product Code:		Supplier Product Code	:		
Agency Notes:		Supplier Notes:			
	First Offer - \$65.00	313 / square yard	\$20,345.00		Υ

Allen Contracting, Inc.					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$66.50	313 / square yard	\$20,814.50	Y	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:	'		
Cimarron Construction Company, LLC	First Offer - \$75.00	313 / square yard	\$23,475.00	Υ	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:			
SCHWARZ PAVING CO., INC.	First Offer - \$75.00	313 / square yard	\$23,475.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$78.15	313 / square yard	\$24,460.95	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$80.00	313 / square yard	\$25,040.00	Y	
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:	:			
T.J. Campbell Construction Co.	First Offer - \$87.00	313 / square yard	\$27,231.00	Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		

PC-0698/WC-102602-04 ALT. NO. 1: ADA CURB RAI							
Supplier	Unit Price	e Qty/Unit	Total Price	Attch.	Docs		
First Water Contracting, LLC 👔	First Offer - \$100.00	4 / square yard	\$400.00		Y		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc. 👔	First Offer - \$100.00	4 / square yard	\$400.00		Y		
		Supplier Product Cod Supplier Notes:	le:				
Bishop Construction LLC	First Offer - \$165.00	4 / square yard	\$660.00		Y		
Product Code: Agency Notes:	Supplier Product Cod Supplier Notes:	le:					
Rudy Construction Co.	First Offer - \$200.00	4 / square yard	\$800.00		Υ		
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$200.00	4 / square yard	\$800.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$225.00	4 / square yard	\$900.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:				
Cimarron Construction Company, LLC	First Offer - \$260.00	4 / square yard	\$1,040.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$270.00	4 / square yard	\$1,080.00		Y		
		Supplier Product Cod Supplier Notes:	le:				
Silver Star Construction Company 👔	First Offer - \$301.00	4 / square yard	\$1,204.00		Y		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	le:				

PC-0698/WC-102602-05 ALT. NO. 1: TACTILE MARKERS / TRUNCATED DOMES								

way widering Line		ito Tradio						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Water Contracting, LLC		First Offer - \$17.00	8 / square foot	\$136.00		Y		
Product Code:			Supplier Product Code:					
			Supplier Notes:					
Silver Star Construction Company 👔		First Offer - \$25.00	8 / square foot	\$200.00		Y		
Product Code:			Supplier Product Cod	de:				
Agency Notes:			Supplier Notes:					
T.J. Campbell Construction Co.		First Offer - \$35.00	8 / square foot	\$280.00		Υ		
Product Code:			Supplier Product Cod	de:				
Agency Notes:			Supplier Notes:					
Rudy Construction Co.		First Offer - \$40.00	8 / square foot	\$320.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Allen Contracting, Inc. 👔		First Offer - \$45.00	8 / square foot	\$360.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
SCHWARZ PAVING CO., INC.		First Offer - \$45.00	8 / square foot	\$360.00		Υ		
Product Code:			Supplier Product Cod	de:				
Agency Notes:			Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving		First Offer - \$45.00	8 / square foot	\$360.00		Y		
Product Code:			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Bishop Construction LLC 👔		First Offer - \$50.00	8 / square foot	\$400.00		Y		
Product Code:			Supplier Product Cod	de:				
Agency Notes:			Supplier Notes:					
Cimarron Construction Company, LLC		First Offer - \$60.00	8 / square foot	\$480.00		Υ		
Product Code:			Supplier Product Cod	de:				
Agency Notes:			Supplier Notes:					

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC 👔	First Offer - \$2.60	67 / square yard	\$174.20		Y
Product Code: Agency Notes:	Supplier Product Code Supplier Notes:				
Allen Contracting, Inc. 👔	First Offer - \$3.00	67 / square yard	\$201.00		Y
		Supplier Product Code Supplier Notes:	:		
Bishop Construction LLC	First Offer - \$3.70	67 / square yard	\$247.90		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$4.00	67 / square yard	\$268.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	67 / square yard	\$268.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$5.00	67 / square yard	\$335.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Rudy Construction Co.	First Offer - \$5.00	67 / square yard	\$335.00		Υ
		Supplier Product Code Supplier Notes:	:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$5.00	67 / square yard	\$335.00		Υ

, ,						
Product Code:	Supplier Product Code:					
Agency Notes:	Supplier Notes:					
Silver Star Construction Company 👔	First Offer - \$6.50	67 / square yard	\$435.50		Υ	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				

PC-0698/WC-102603-01 ALT. NO. 2: UNCLASSIFIED EX	XCAV	/ATION				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Allen Contracting, Inc. 👔		First Offer - \$25.00	14 / cubic yard	\$350.00		Y
			Supplier Product Co Supplier Notes:	ode:		
Rudy Construction Co.		First Offer - \$30.00	14 / cubic yard	\$420.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$50.00	14 / cubic yard	\$700.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Bishop Construction LLC		First Offer - \$75.00	14 / cubic yard	\$1,050.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$79.50	14 / cubic yard	\$1,113.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
First Water Contracting, LLC		First Offer - \$100.00	14 / cubic yard	\$1,400.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$100.00	14 / cubic yard	\$1,400.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		
Cimarron Construction Company, LLC		First Offer - \$120.00	14 / cubic yard	\$1,680.00		Υ
		Supplier Product Co Supplier Notes:	ode:			
T.J. Campbell Construction Co.		First Offer - \$160.00	14 / cubic yard	\$2,240.00		Υ
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	ode:		

PC-0698/WC-102603-02 ALT. NO. 2: TYPE A AGGREGATE BASE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
First Water Contracting, LLC	First Offer - \$72.00	58 / cubic yard	\$4,176.00		Υ					
		Supplier Product Co Supplier Notes:	de:							
T.J. Campbell Construction Co.	First Offer - \$80.00	58 / cubic yard	\$4,640.00		Υ					
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:									
Allen Contracting, Inc. 🙀	First Offer - \$85.00	58 / cubic yard	\$4,930.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$90.00	58 / cubic yard	\$5,220.00		Y					
		Supplier Product Co Supplier Notes:	de:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$91.10	58 / cubic yard	\$5,283.80		Υ					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:							

, 3					
Rudy Construction Co.	First Offer - \$100.00	58 / cubic yard	\$5,800.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$107.00	58 / cubic yard	\$6,206.00	Υ	
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$125.00	58 / cubic yard	\$7,250.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Bishop Construction LLC	First Offer - \$200.00	58 / cubic yard	\$11,600.00	Y	
Product Code:	Supplier Product Code:				
Agency Notes:	Supplier Notes:				

PC-0698/WC-102603-03 ALT. NO. 2: SIDEWALK (5FT	Γ)					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC 👔		First Offer - \$57.00	786 / square yard	\$44,802.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Bishop Construction LLC 👔		First Offer - \$62.00	786 / square yard	\$48,732.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$63.50	786 / square yard	\$49,911.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 👔		First Offer - \$65.00	786 / square yard	\$51,090.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$70.00	786 / square yard	\$55,020.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$75.00	786 / square yard	\$58,950.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$78.15	786 / square yard	\$61,425.90		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$80.00	786 / square yard	\$62,880.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$82.00	786 / square yard	\$64,452.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			

PC-0698/WC-102603-04 ALT. NO. 2: SIDEWALK (6FT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
First Water Contracting, LLC	First Offer - \$57.00	226 / square yard	\$12,882.00		Y				
Product Code:	Supplier Product Code	: :							
Agency Notes:		Supplier Notes:							
Bishop Construction LLC	First Offer - \$62.00	226 / square yard	\$14,012.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc. 🙀	First Offer - \$65.00	226 / square yard	\$14,690.00		Y				
Product Code:		Supplier Product Code	:						

,9				
Agency Notes:		Supplier Notes:		
Silver Star Construction Company 👔	First Offer - \$70.50	226 / square yard	\$15,933.00	Υ
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$78.15	226 / square yard	\$17,661.90	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$80.00	226 / square yard	\$18,080.00	Υ
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$80.00	226 / square yard	\$18,080.00	Υ
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
Rudy Construction Co.	First Offer - \$80.00	226 / square yard	\$18,080.00	Υ
Product Code:		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$110.00	226 / square yard	\$24,860.00	Υ
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

PC-0698/WC-102603-05 ALT. NO. 2: ADA CURB RAM	IP				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC 🙀	First Offer - \$100.00	33 / square yard	\$3,300.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Allen Contracting, Inc. 👔	First Offer - \$100.00	33 / square yard	\$3,300.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Bishop Construction LLC	First Offer - \$165.00	33 / square yard	\$5,445.00		Υ
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$190.00	33 / square yard	\$6,270.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Rudy Construction Co.	First Offer - \$200.00	33 / square yard	\$6,600.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
T.J. Campbell Construction Co.	First Offer - \$215.00	33 / square yard	\$7,095.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Cimarron Construction Company, LLC	First Offer - \$260.00	33 / square yard	\$8,580.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
SCHWARZ PAVING CO., INC.	First Offer - \$270.00	33 / square yard	\$8,910.00		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		
Silver Star Construction Company 👔	First Offer - \$292.50	33 / square yard	\$9,652.50		Y
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:		

PC-0698/WC-102603-06 ALT. NO. 2: TACTILE MARKERS / TRUNCATED DOMES							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
First Water Contracting, LLC	First Offer - \$17.00	66 / square foot	\$1,122.00		Y		

Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Silver Star Construction Company 👔		First Offer - \$25.00	66 / square foot	\$1,650.00	Υ	
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$35.00	66 / square foot	\$2,310.00	Υ	
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Rudy Construction Co.		First Offer - \$40.00	66 / square foot	\$2,640.00	Y	
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Allen Contracting, Inc. 👔		First Offer - \$45.00	66 / square foot	\$2,970.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$45.00	66 / square foot	\$2,970.00	Υ	
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$45.00	66 / square foot	\$2,970.00	Υ	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Bishop Construction LLC		First Offer - \$50.00	66 / square foot	\$3,300.00	Y	
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$60.00	66 / square foot	\$3,960.00	Υ	
Product Code:			Supplier Product Code	e:		
Agency Notes:			Supplier Notes:			

Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Water Contracting, LLC		First Offer - \$2.60	330 / square yard	\$858.00		Y
			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc. 🙀		First Offer - \$3.00	330 / square yard	\$990.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Bishop Construction LLC 👔		First Offer - \$3.70	330 / square yard	\$1,221.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$4.00	330 / square yard	\$1,320.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$4.00	330 / square yard	\$1,320.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$5.00	330 / square yard	\$1,650.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$5.00	330 / square yard	\$1,650.00		Υ
		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$5.00	330 / square yard	\$1,650.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Silver Star Construction Company 💡		First Offer - \$6.50	330 / square yard	\$2,145.00		Υ

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PC-0698/WC-102603-08 ALT. NO. 2: FILTER FABRIC	SILT F	ENCE COMPLETE IN	PLACE			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC		First Offer - \$2.00	412 / linear foot	\$824.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
Silver Star Construction Company		First Offer - \$2.00	412 / linear foot	\$824.00		Y
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
First Water Contracting, LLC		First Offer - \$2.00	412 / linear foot	\$824.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		
Bishop Construction LLC		First Offer - \$2.00	412 / linear foot	\$824.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.		First Offer - \$2.35	412 / linear foot	\$968.20		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$2.50	412 / linear foot	\$1,030.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$4.00	412 / linear foot	\$1,648.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:			
Rudy Construction Co.		First Offer - \$4.00	412 / linear foot	\$1,648.00		Υ
			Supplier Product Code Supplier Notes:	:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$8.00	412 / linear foot	\$3,296.00		Υ
Product Code: Agency Notes:			Supplier Product Code Supplier Notes:	:		

PC-0698/WC-102603-09 ALT. NO. 2: ROCK BAG	INLET BARRIER				
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$110.00	1 / each	\$110.00		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc. 👔	First Offer - \$110.00	1 / each	\$110.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	1 / each	\$250.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
First Water Contracting, LLC 👔	First Offer - \$285.00	1 / each	\$285.00		Υ
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$300.00	1 / each	\$300.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$300.00	1 / each	\$300.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes:			

Bishop Construction LLC 👔	First Offer - \$325.00	1 / each	\$325.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Silver Star Construction Company 👔	First Offer - \$345.00	1 / each	\$345.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$400.00	1 / each	\$400.00	Υ	Y
Product Code:	Product Code: Agency Notes:				

f First Water	Contracting, LLC	\$4,827,483.75 (138/138 iter	ns)
Bid Contact	Denver Saxton dsaxton@firstwatercontracting.com Ph 405-664-6200 Fax 405-253-0363	Address 2400 SE 15th St. Oklahoma City, OK 731	29
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: Authorized on Feb 2, 2024)		
Agency Notes		Supplier Notes:	Head Attch
f Silver Star C	onstruction Company	\$5,144,000.00 (138/138 iten	ns)
Bid Contact	Amber Harris tim@silverstarconst.com Ph 405-793-1725	Address 2401 S Broadway Moore, OK 73160	
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	👔 (Status: Authorized on Jan 31, 2024)		
Bid Notes	Bid Bond also uploaded on Line Item 1		
Agency Notes	:	Supplier Notes: Bid Bond also uploaded on Line Ite 1	Head Attch:
f Ellsworth Co	onstruction OKC dba Atech Paving	\$5,346,518.25 (138/138 iten	ns)
Bid Contact	Timothy Lunday tlunday@ellsworthinc.com Ph 405-418-4741	Address P.O. Box 10765 Midwest City, OK 73146)
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes		Supplier Notes:	Head Attch:
f Rudy Const	ruction Co.	\$5,408,320.71 (138/138 iter	ns)
Bid Contact	Doug Walker ppratt@rudycc.com Ph 405-478-9900	Address 3101 NE 63rd Street Oklahoma City, OK 731	21
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch:
f T.J. Campbe	ll Construction Co.	\$5,557,787.50 (138/138 items	;)
Bid Contact	Donnie Dorn TJCESTIMATING@TJCAMPBELL.COM	Address PO Box 3788 Edmond, OK 73083	

Ph 405-672-6768 Fax 405-513-6786 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Bid Notes** Bid bond attached to first item. **Head Attch: Agency Notes: Supplier Notes:** Bid bond attached to first item. f Bishop Construction LLC \$5,838,349.315 (138/138 items) Bid Contact **Jason Bishop** Address PO Box 851293 jasonb@bishopcc.com Yukon, OK 73085 Ph 405-232-5533 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Bid Bond** 寊 (Status: Authorized on Feb 14, 2024) **Head Attch: Agency Notes: Supplier Notes:** f Allen Contracting, Inc. \$5,881,223.60 (138/138 items) **Bid Contact Reed W Greenhill** Address 516 W. California Ave. estimating@allen-contracting.com Oklahoma City, OK 73102 Ph 405-677-4450 Qualifications OKC PRE-QUALIFIED CONTRACTORS Bid Bond [a] (Status: Authorized on Jan 24, 2024) **Agency Notes: Head Attch: Supplier Notes:** f SCHWARZ PAVING CO., INC. \$5,969,027.35 (138/138 items) Bid Contact **BRIAN SCHWARZ** Address 8251 WEST RENO AVE RICHARD.SCHWARZ@SCHWARZPAVING.COM OKLAHOMA CITY, OK Ph 405-789-7203 73127 Qualifications OKC PRE-QUALIFIED CONTRACTORS Bid Bond (Status: A bond with the supplied contract id was not found) **Bid Notes** Bid Bond Attached to first bid item **Supplier Notes:** Head **Agency Notes:** Bid Bond Attached to first bid item Attch: f Cimarron Construction Company, LLC \$6,727,727.00 (138/138 items) Bid Contact **Don E Noble** Address 3501 NE. 63rd Street DNoble@cimarroncco.com Oklahoma City, OK 73121 Ph 405-728-1555 Fax 405-728-5026 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Agency Notes: Head Attch: Supplier Notes:**

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

BId #24402 - MOWING AND LANDSCAPING SERVICES FOR THE POLICE DEPARTMENT

Creation Date | Jan 12, 2024 | End Date | Feb 14, 2024 10:00:00 AM CST

Start Date Jan 24, 2024 8:25:29 AM CST Awarded Date Not Yet Awarded

Anago of Oklahoma City \$3,205.00 (33/33 items) Bid Contact Eric Adame Address 6303 N Portland Ave, Suite 201 anagookc@gmail.com Oklahoma City, OK 73112 Ph 405-724-4453 **Supplier Notes:** Agency Notes: Line Item Qty/Unit | Total Price Item# **Unit Price** 24402--01-01 616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer \$105.00 \$105.00 1 / each Product Code: Supplier Product Code: **Agency Notes: Supplier Notes:** Lot Total: \$105.00 Item# Line Item **Unit Price** Qty/Unit | Total Price 24402--02-01 Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix- - First Offer \$100.00 1 / each \$100.00 Product Code: Supplier Product Code: Agency Notes: **Supplier Notes:** 24402--02-02 \$10.00 \$10.00 Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer 1 / each Product Code: **Supplier Product Code: Supplier Notes:** Agency Notes: Lot Total: \$110.00 Line Item **Unit Price** Qty/Unit | Total Price Item# 24402--03-01 \$100.00 Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix - First Offer 1 / each \$100.00 Product Code: **Supplier Product Code:** Agency Notes: **Supplier Notes:** 24402--03-02 Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix-plant b - First Offer \$10.00 \$10.00 1 / each **Product Code: Supplier Product Code: Supplier Notes:** Agency Notes: Lot Total: \$110.00 Item# Line Item **Unit Price** Qty/Unit | Total Price 24402--04-01 \$10.00 K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Fall - First Offer \$10.00 1 / each Supplier Product Code: Product Code: **Supplier Notes:** Agency Notes: \$120.00 24402--04-02 K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix - First Offer 1 / each \$120.00 **Supplier Product Code:** Product Code: Agency Notes: **Supplier Notes:** 24402--04-03 K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-plant - First Offer \$40.00 \$40.00 1 / each Product Code: **Supplier Product Code:** Agency Notes: **Supplier Notes:** Lot Total: \$170.00 Qty/Unit Total Price Line Item **Unit Price** Item# \$260.00 24402--05-01 Pistol Range: 8500 S Air Depot -Area as described in Attachment A Mowing Location Matrix-mowin - First Offer 1 / each \$260.00 Product Code: **Supplier Product Code:** Agency Notes: **Supplier Notes:** 24402--05-02 Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer \$200.00 1 / each \$200.00 Product Code: **Supplier Product Code:** Agency Notes: **Supplier Notes:** 24402--05-03 Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer \$400.00 1 / each \$400.00 Product Code: **Supplier Product Code:** Agency Notes: **Supplier Notes:** Lot Total: \$860.00 Item# Line Item **Unit Price Qty/Unit Total Price** 24402--06-01 Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer \$60.00 1 / each \$60.00 Product Code: **Supplier Product Code:** Agency Notes: **Supplier Notes:** 24402--06-02 Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer \$300.00 1 / each \$300.00 **Product Code: Supplier Product Code:** Agency Notes: **Supplier Notes:**

Item#	Line Item	Unit Price	Qty/Unit	Total Price
Agency Notes		Supplier No		otal: \$80.00
Product Code:		Supplier Pro	oduct Code:	
Agency Notes 2440213-02	: Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer	Supplier No \$70.00	1 / each	\$70.00
Product Code:		Supplier Pro	oduct Code:	
2440213-01	Line Item Old City Garage: 115 N. Shartel Area as described in Attachment A Mowing Location Matrix-Fall deb - First Offer	Unit Price \$10.00	Qty/Unit 1 / each	Total Price \$10.00
				al: \$150.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440212-02	Vacant Lot: 701 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$10.00	1 / each	\$10.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440212-01	Vacant Lot: 701 Colcord Drive- Area as described in Attachment A Mowing Location Matrix - First Offer	\$140.00	1 / each	\$140.00
Item#	Line Item	Unit Price		Total Price
Agency Notes		Supplier No		al: \$160.00
Product Code:		Supplier Pro	oduct Code:	
Agency Notes 2440211-03	: Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-pla - First Offer	\$10.00	1 / each	\$10.00
Product Code:			oduct Code:	
2440211-02	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix - First Offer	\$140.00	1 / each	\$140.00
Product Code: Agency Notes		Supplier Pro		
2440211-01	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-Fal - First Offer	\$10.00	1 / each	\$10.00
Item#	Line Item	Unit Price		Total Price
Agency Notes		Supplier No		al: \$150.00
Product Code:		Supplier Pro		
2440210-02	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer	\$130.00	1 / each	\$130.00
Product Code: Agency Notes		Supplier Pro		
2440210-01	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer	\$20.00	1 / each	\$20.00
Item#	Line Item	Unit Price		al: \$370.00 Total Price
Agency Notes	:	Supplier No		al. ¢270.00
Product Code:		Supplier Pro		
Agency Notes 2440209-02	: Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	\$320.00	1 / each	\$320.00
Product Code:		Supplier Pro		
2440209-01	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer	\$50.00	1 / each	\$50.00
Item#	Line Item	Unit Price		al: \$360.00 Total Price
Agency Notes		Supplier No	tes:	
Product Code:			oduct Code:	
Agency Notes 2440208-03	: Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$10.00	1 / each	\$10.00
Product Code:		Supplier Pro		
Agency Notes 2440208-02	: Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	\$340.00	1 / each	\$340.00
Product Code:			oduct Code:	
2440208-01	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer	\$10.00	1 / each	\$10.00
Item#	Line Item	Unit Price		al: \$220.00 Total Price
Agency Notes		Supplier No	tes:	
Product Code:	Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer	Supplier Pro		•
Agency Notes 2440207-02		Supplier No \$190.00	1 / each	\$190.00
Product Code:		Supplier Pro		
2440207-01	Line Item Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer	Unit Price \$30.00	Qty/Unit 1 / each	Total Price \$30.00
Itom #	Line Item	Unit Drice	Oty/Unit	Total Drice

2440214-01	Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer		1 / each	
		Supplier Product Code: Supplier Notes:		:
			Lot ⁻	Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440215-01	W-9: W-9 - First Offer		1 / each	
Product Code: Agency Notes			Supplier Product Code: Supplier Notes:	
			Lot ⁻	Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440216-01	Insurance: Insurance - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440216-02	Insurance: Workers Compensation Exemption - First Offer		1 / each	
Product Code: Agency Notes			Supplier Product Code: Supplier Notes:	
			Lot	Total: \$0.00

WCD Enterprises, LLC \$3,915.00 (33/33 items)

Bid Contact **Tanya Fullington**wes.dryden@yahoo.com

wes.dryden@yahoo.com
Ph 480-415-3416
Eav 480-683-0011

Address **28150 N. Alma School Pkwy #103-452 Scottsdale, AZ 85262**

	Fax 480-683-0011			
Agency Note		Supplier No	tes:	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440201-01	616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$65.00	1 / each	\$65.00
Product Code Agency Note		Supplier Pro Supplier No Maintenance	tes: Plant B	
			Lot To	otal: \$65.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440202-01	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix First Offer	\$80.00	1 / each	\$80.00
Product Code Agency Note		Supplier Pro Supplier No		
2440202-02	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$80.00	1 / each	\$80.00
Product Code Agency Note		Supplier Pro Supplier No Maintenance	tes: Plant B	
			Lot Tot	al: \$160.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440203-01	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix - First Offer	\$100.00	1 / each	\$100.00
Product Code Agency Note		Supplier Pro Supplier No		
2440203-02	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$120.00	1 / each	\$120.00
Product Code Agency Note		Supplier Pro Supplier No Maintenance	tes: Plant B	
			Lot Tot	al: \$220.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440204-01	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Fall - First Offer	\$40.00	1 / each	\$40.00
Product Code Agency Note		Supplier Pro Supplier No		
2440204-02	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix - First Offer	\$185.00	1 / each	\$185.00
Product Code Agency Note		Supplier Pro Supplier No		

Product Code:		Supplier Pro	duct Code	•	
Agency Notes:		Supplier Not	Supplier Notes: Plant Bed Maintenance		
			Lot Tot	:al: \$280.00	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
2440205-01	Pistol Range: 8500 S Air Depot -Area as described in Attachment A Mowing Location Matrix-mowin - First Offer	\$155.00	1 / each	\$155.00	
Product Code: Agency Notes:		Supplier Pro Supplier Not			
2440205-02	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$155.00	1 / each	\$155.00	
Product Code: Agency Notes:		Supplier Pro Supplier Not			
2440205-03	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$155.00	1 / each	\$155.00	
Product Code: Agency Notes:		Supplier Pro Supplier Not			
Agency Hotes.		Supplier Ho		:al: \$465.00	
Item#	Line Item	Unit Price		Total Price	
2440206-01	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer		1 / each	\$40.00	
Product Code:		Supplier Pro	duct Code:		
Agency Notes: 2440206-02	: Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer	Supplier Not \$100.00	1 / each	\$100.00	
Product Code: Agency Notes:		Supplier Pro Supplier Not Maintenance	duct Code: tes: Plant Be		
			Lot Tot	:al: \$140.00	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
2440207-01	Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer		1 / each	\$255.00	
Product Code: Agency Notes:		Supplier Pro Supplier Not			
2440207-02	Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer	#100.00		+40000	
24402-07-02	Fonce Training Center, 500 N Fordand Ave-Area as described in Attachment A Mowing Location Matrix - First Offer	\$100.00	1 / each	\$100.00	
Product Code:		Supplier Pro Supplier Not Maintenance	oduct Code: tes: Plant Be	: ed	
Product Code: Agency Notes:		Supplier Pro Supplier Not Maintenance	duct Code: tes: Plant Be	ed: \$355.00	
Product Code: Agency Notes: Item#	Line Item	Supplier Pro Supplier Not Maintenance	duct Code: tes: Plant Be	ed al: \$355.00 Total Price	
Product Code: Agency Notes: Item # 2440208-01	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00	duct Code: tes: Plant Be Lot Tot Qty/Unit	ed sal: \$355.00 Total Price \$160.00	
Product Code: Agency Notes: Item # 2440208-01 Product Code:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer	Supplier Pro Supplier Not Maintenance	Lot Tot Qty/Unit 1 / each duct Code:	ed sal: \$355.00 Total Price \$160.00	
Product Code: Agency Notes: Item # 2440208-01 Product Code:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not	Lot Tot Qty/Unit 1 / each duct Code:	:ed :al: \$355.00 Total Price \$160.00 : an Up	
Product Code: Agency Notes: Item # 24402–08-01 Product Code: Agency Notes: 24402–08-02 Product Code:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro	duct Code: tes: Plant Be Lot Tot Qty/Unit 1/each duct Code: tes: Fall Clea 1/each	ed : \$355.00 Total Price	
Product Code: Agency Notes: Item # 24402–08-01 Product Code: Agency Notes:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Not	duct Code: tes: Plant Be Lot Tot Qty/Unit 1/each duct Code: tes: Fall Clea 1/each	ed : \$355.00 Total Price	
Product Code: Agency Notes: Item # 24402-08-01 Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Not	duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Fall Clea 1 / each duct Code: tes: Mowing 1 / each duct Code: tes: Mowing	ed: \$355.00 Total Price: \$160.00 an Up: \$675.00 \$3: \$100.00	
Product Code: Agency Notes: Item # 2440208-01 Product Code: Agency Notes: 2440208-02 Product Code: Agency Notes: 2440208-03 Product Code:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Pro Supplier Pro Supplier Pro Supplier Not \$100.00 Supplier Pro Supplier Not	duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Fall Clea 1 / each duct Code: tes: Mowing 1 / each duct Code: tes: Plant Be	ed: \$355.00 Total Price: \$160.00 an Up: \$675.00 \$3: \$100.00	
Product Code: Agency Notes: Item # 2440208-01 Product Code: Agency Notes: 2440208-02 Product Code: Agency Notes: 2440208-03 Product Code:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Pro Supplier Pro Supplier Pro Supplier Not \$100.00 Supplier Pro Supplier Not	Lot Tot Oty/Unit 1 / each oduct Code: tes: Fall Clea 1 / each oduct Code: tes: Mowing 1 / each oduct Code: tes: Plant Be code: Lot Tot	ed: \$355.00 Total Price: \$160.00 an Up: \$675.00 \$3: \$100.00	
Product Code: Agency Notes: Item # 24402-08-01 Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Not \$100.00 Supplier Pro Supplier Not Unit Price	Lot Tot Oty/Unit 1 / each oduct Code: tes: Fall Clea 1 / each oduct Code: tes: Mowing 1 / each oduct Code: tes: Plant Be code: Lot Tot	ed sal: \$355.00 Total Price \$160.00 an Up \$675.00 \$100.00 ed al: \$935.00	
Product Code: Agency Notes: Item # 24402-08-01 Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Not \$100.00 Supplier Pro Supplier Not Unit Price	Lot Tot Qty/Unit 1/each oduct Code: tes: Fall Clea 1/each oduct Code: tes: Mowing 1/each oduct Code: tes: Mowing 1/each oduct Code: tes: Plant Be clear duct Code: tes: How Inguilar duct Code: tes: How Inguilar duct Code: tes: How Inguilar duct Code: duct Code: duct Code:	sal: \$355.00 Total Price \$160.00 an Up \$675.00 \$100.00 cal: \$935.00 Total Price \$315.00	
Product Code: Agency Notes: Item # 24402-08-01 Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: Item # 24402-09-01 Product Code: Agency Notes:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Not \$100.00 Supplier Pro Supplier Not Maintenance Unit Price \$315.00 Supplier Pro Supplier Not Maintenance	Lot Tot Qty/Unit 1/each oduct Code: tes: Fall Clea 1/each oduct Code: tes: Mowing 1/each oduct Code: tes: Mowing 1/each oduct Code: tes: Plant Be clear duct Code: tes: How Inguilar duct Code: tes: How Inguilar duct Code: tes: How Inguilar duct Code: duct Code: duct Code:	al: \$355.00 Total Price \$160.00 an Up \$675.00 \$100.00 cal: \$935.00 Total Price \$315.00	
Product Code: Agency Notes: Item # 24402-08-01 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: 24402-09-01 Product Code: Agency Notes: 24402-09-01 Product Code: Agency Notes: 24402-09-02 Product Code:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Not \$100.00 Supplier Pro Supplier Not Maintenance Unit Price \$315.00 Supplier Pro Supplier Not Maintenance	Lot Tot Qty/Unit 1 / each duct Code: tes: Fall Clea 1 / each duct Code: tes: Mowing 1 / each duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Plant Be 1 / each duct Code: tes: Mowing	**sal: \$355.00 **Total Price	
Product Code: Agency Notes: Item # 24402-08-01 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: 24402-09-01 Product Code: Agency Notes: 24402-09-01 Product Code: Agency Notes: 24402-09-02 Product Code:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Not Maintenance Unit Price \$315.00 Supplier Pro Supplier Not Maintenance Unit Price \$315.00 Supplier Pro Supplier Not Supplier Not Supplier Not Supplier Pro Supplier Not Supplier Pro Supplier Not Supplier Not Supplier Pro Supplier Not	duct Code: tes: Plant Be duct Code: tes: Fall Clea 1 / each duct Code: tes: Mowing 1 / each duct Code: tes: Plant Be duct Code: tes: Plant Be duct Code: tes: Mowing 1 / each duct Code: tes: Mowing	al: \$355.00 Total Price \$160.00 an Up \$675.00 \$3 \$100.00 cal: \$935.00 Total Price \$315.00 33 \$65.00	
Product Code: Agency Notes: Item # 24402-08-01 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: 24402-09-01 Product Code: Agency Notes: 24402-09-01 Product Code: Agency Notes: 24402-09-02 Product Code:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Not Maintenance Unit Price \$315.00 Supplier Pro Supplier Not Maintenance Unit Price \$315.00 Supplier Pro Supplier Not Supplier Not Supplier Not Supplier Pro Supplier Not Supplier Pro Supplier Not Supplier Not Supplier Pro Supplier Not	duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Fall Clea 1 / each duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Plant Be 1 / each duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Mowing 1 / each duct Code: tes: Plant Be Lot Tot Lot Tot Lot Tot Lot Tot Lot Tot Lot Tot	sal: \$355.00 Total Price \$160.00 an Up \$675.00 \$100.00 cal: \$935.00 Total Price \$315.00 \$35 \$65.00 cal: \$380.00	
Product Code: Agency Notes: Item # 24402-08-01 Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: 24402-09-01 Product Code: Agency Notes: 24402-09-01 Product Code: Agency Notes:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Not Supplier Not Supplier Pro Supplier Pro Supplier Pro Supplier Not Maintenance Unit Price \$315.00 Supplier Pro Supplier Not \$65.00 Supplier Pro Supplier Not Maintenance	duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Fall Clea 1 / each duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Plant Be 1 / each duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Mowing 1 / each duct Code: tes: Plant Be Lot Tot Lot Tot Lot Tot Lot Tot Lot Tot Lot Tot	al: \$355.00 Total Price \$160.00 an Up \$675.00 \$100.00 al: \$935.00 Total Price \$315.00 al: \$380.00 Total Price Total Price	
Product Code: Agency Notes: Item # 24402-08-01 Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: 24402-09-01 Product Code: Agency Notes: 24402-09-02 Product Code: Agency Notes:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Line Item Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Not Supplier Not Supplier Pro Supplier Pro Supplier Pro Supplier Not Maintenance Unit Price \$315.00 Supplier Pro Supplier Not \$65.00 Supplier Pro Supplier Not Maintenance	duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Fall Clea 1 / each duct Code: tes: Mowing 1 / each duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Nowing 1 / each duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Mowing 1 / each duct Code: tes: Hout Tode: tes: Hout Tode: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Code: C	sal: \$355.00 Total Price \$160.00 an Up \$675.00 \$3 \$100.00 cal: \$935.00 Total Price \$315.00 cal: \$380.00 Total Price \$180.00	
Product Code: Agency Notes: Item # 24402-08-01 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: 24402-09-01 Product Code: Agency Notes: 24402-09-01 Product Code: Agency Notes: 24402-09-02 Product Code: Agency Notes: 1tem # 24402-09-01 Product Code: Agency Notes:	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Line Item Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	Supplier Pro Supplier Not Maintenance Unit Price \$160.00 Supplier Pro Supplier Not \$675.00 Supplier Pro Supplier Not Maintenance Unit Price \$315.00 Supplier Pro Supplier Not Maintenance Unit Price \$180.00 Supplier Pro Supplier Not Supplier Not Supplier Not Supplier Pro Supplier Not Maintenance	duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Fall Clea 1 / each duct Code: tes: Mowing 1 / each duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Nowing 1 / each duct Code: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Mowing 1 / each duct Code: tes: Hout Tode: tes: Hout Tode: tes: Plant Be Lot Tot Qty/Unit 1 / each duct Code: tes: Code: C	sal: \$355.00 Total Price \$160.00 an Up \$675.00 \$3 \$100.00 cal: \$935.00 Total Price \$315.00 cal: \$380.00 Total Price \$180.00	

		Maintenance	9	
			Lot To	t al: \$280.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440211-01	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-Fal - First Offer	\$80.00	1 / each	\$80.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440211-02	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix - First Offer	\$120.00	1 / each	\$120.00
Product Code:		Supplier Pro		
Agency Notes		Supplier No	•	Ī
2440211-03	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-pla - First Offer	\$75.00	1 / each	\$75.00
Product Code: Agency Notes		Supplier Pro Supplier No Maintenance	tes: Plant B	
			Lot Tot	tal: \$275.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440212-01	Vacant Lot: 701 Colcord Drive- Area as described in Attachment A Mowing Location Matrix - First Offer	\$180.00	1 / each	\$180.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440212-02	Vacant Lot: 701 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$90.00	1 / each	\$90.00
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Tot	t al: \$270.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440213-01	Old City Garage: 115 N. Shartel Area as described in Attachment A Mowing Location Matrix-Fall deb - First Offer	\$40.00	1 / each	\$40.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440213-02	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer	\$50.00	1 / each	\$50.00
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot To	otal: \$90.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440214-01	Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot 1	Γotal: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440215-01	W-9: W-9 - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot 1	Fotal: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440216-01	Insurance: Insurance - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		•
2440216-02	Insurance: Workers Compensation Exemption - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:

Grooms Irrigation Co. \$4,405.00 (33/33 items)

Bid Contact **Steve Ancik**

brian@groomsirrigation.com

Ph 405-417-2014 Fax 405-348-5016 Address 29 W. 7th Street Edmond, OK 73003

Fax 405-348-5016					
Agency Notes:			otes:		
Item#	Line Item	Unit Price Qty/Unit Total P			
2440201-01	616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$45.00	1 / each	\$45.00	
	Product Code: Agency Notes: Supplier Product Code: Supplier Notes:				
Lot Total: \$45.00					
Item#	Line Item	Unit Price Qty/Unit Total Price			
2440202-01	2440202-01 Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix First Offer \$250.00 1 / each \$				

Product Code: Agency Notes		Supplier Pro		
2440202-02	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$250.00	1 / each	\$250.00
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Tot	al: \$500.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440203-01	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix - First Offer	\$150.00	1 / each	\$150.00
Product Code:		Supplier Pro		
Agency Notes		Supplier No		+=0.00
2440203-02	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix-plant b - First Offer		1 / each	\$50.00
Product Code: Agency Notes		Supplier Pro Supplier No		
, geney iteres		опринента		al: \$200.00
Item#	Line Item	Unit Price		Total Price
2440204-01	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Fall - First Offer		1 / each	\$180.00
Product Code:	<u> </u>	Supplier Pro		4100.00
Agency Notes		Supplier No		
2440204-02	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix - First Offer	\$100.00	1 / each	\$100.00
Product Code:	<u> </u>	Supplier Pro	oduct Code:	
Agency Notes		Supplier No	tes:	
2440204-03	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$50.00	1 / each	\$50.00
Product Code:		Supplier Pro Supplier No		
Agency Notes		Supplier No		al: \$330.00
Item#	Line Item	Unit Price		Total Price
2440205-01			1 / each	\$300.00
	Pistol Range: 8500 S Air Depot -Area as described in Attachment A Mowing Location Matrix-mowin - First Offer			
Product Code: Agency Notes		Supplier Pro Supplier No		
2440205-02	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer		1 / each	\$150.00
Product Code:	· · · · · · · · · · · · · · · · · · ·	Supplier Pro	oduct Code:	<u> </u>
Agency Notes		Supplier No		
2440205-03	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Tot	al: \$600.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440206-01	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$200.00	1 / each	\$200.00
Product Code:		Supplier Pro		
Agency Notes		Supplier No		#200.00
2440206-02	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer	\$200.00	1 / each	\$200.00
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Tot	al: \$400.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440207-01	Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$250.00	1 / each	\$250.00
Product Code:		Supplier Pro		
Agency Notes		Supplier No	tes:	
2440207-02	Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer	\$50.00	1 / each	\$50.00
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Tot	al: \$300.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440208-01	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer	\$350.00	1 / each	\$350.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440208-02	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	\$75.00	1 / each	\$75.00
Product Code:		Supplier Pro		
Agency Notes		Supplier No	tes:	
2440208-03	Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$250.00	1 / each	\$250.00
Product Code: Agency Notes		Supplier Pro Supplier No	otes:	
			Lot Tot	al: \$675.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price

2440209-01	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer	\$350.00	1 / each	\$350.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440209-02	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	\$75.00	1 / each	\$75.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot To	tal: \$425.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440210-01	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes		Supplier Pro		:
2440210-02	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer	\$50.00	1 / each	\$50.00
Product Code: Agency Notes		Supplier Pro		:
				tal: \$200.00
Item#	Line Item	Unit Price		Total Price
2440211-01	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-Fal - First Offer		1 / each	\$150.00
Product Code: Agency Notes		Supplier Pro	oduct Code	
2440211-02	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix - First Offer	\$50.00	1 / each	\$50.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440211-03	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-pla - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot To	tal: \$350.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440212-01	Vacant Lot: 701 Colcord Drive- Area as described in Attachment A Mowing Location Matrix - First Offer	\$100.00	1 / each	\$100.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440212-02	Vacant Lot: 701 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$100.00	1 / each	\$100.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot To	tal: \$200.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440213-01	Old City Garage: 115 N. Shartel Area as described in Attachment A Mowing Location Matrix-Fall deb - First Offer	\$90.00	1 / each	\$90.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440213-02	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer	\$90.00	1 / each	\$90.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot To	tal: \$180.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440214-01	Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot ¹	Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440215-01	W-9: W-9 - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
				Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440216-01	Insurance: Insurance - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440216-02	Insurance: Workers Compensation Exemption - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot 7	Total: \$0.00

The Landscape Partners \$5,598.04 (33/33 items)

Bid Contact Cade Doctorman
cdoctorman@thelandscapepartners.com
Ph 405-426-7839

Address **14900 N Sara Rd Yukon, OK 73099**

			-	
Agency Notes		Supplier No		
Item #	Line Item	Unit Price		Total Price
2440201-01	616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$61.25	1 / each	\$61.25
Product Code:		Supplier Pro		
Agency Notes		Supplier No		- t - l - d C 4 - 2 5
				otal: \$61.25
Item #	Line Item	Unit Price		Total Price
2440202-01	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix First Offer	\$205.03	1 / each	\$205.03
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440202-02	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$91.51	1 / each	\$91.51
Product Code:	<u> </u>	Supplier Pro		
Agency Notes		Supplier No		
, g,				:al: \$296.54
Item#	Line Item	Unit Price		Total Price
2440203-01	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix - First Offer	\$170.72	1 / each	\$170.72
Product Code:				
Agency Notes		Supplier Pro Supplier No		1
2440203-02	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$62.54	1 / each	\$62.54
Product Code:	<u> </u>	Supplier Pro		
Agency Notes		Supplier No		2
				:al: \$233.26
Item#	Line Item	Unit Price		Total Price
2440204-01	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Fall - First Offer	\$248.86	1 / each	\$248.86
Product Code:		Supplier Pro		
Agency Notes		Supplier No		•
2440204-02	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix - First Offer	\$235.41	1 / each	\$235.41
Product Code: Agency Notes		Supplier Pro		
2440204-03	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$36.17	1 / each	\$36.17
Product Code:	:	Supplier Pro	oduct Code:	
Agency Notes	•	Supplier 140		: al: \$520.44
Item #	Line Item	Unit Price		Total Price
Product Code:		\$467.46 Supplier Pro		\$467.46 :
Agency Notes		Supplier No		# 4C7 4C
2440205-02	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$467.46	1 / each	\$467.46
Product Code: Agency Notes	:	Supplier Pro Supplier No	oduct Code: otes:	
2440205-03	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$172.55	1 / each	\$172.55
Product Code: Agency Notes		Supplier Pro Supplier No		
				l: \$1,107.47
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440206-01	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$124.43	1 / each	\$124.43
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440206-02	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer	\$165.00	1 / each	\$165.00
Product Code: Agency Notes		Supplier Pro		
				t al: \$289.43
Item#	Line Item	Unit Price		Total Price
2440207-01	Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$69.19	1 / each	\$69.19
Product Code:		Supplier Pro		
Agency Notes		Supplier No		•
2440207-02	Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer	\$163.25	1 / each	\$163.25
Product Code:		Supplier Pro		
Agency Notes		Supplier No	tes:	
			LOT 10t	t al: \$232.44

Item # 2440208-01	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer	Unit Price \$248.86	Qty/Unit 1 / each	Total Price
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440208-02	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	\$361.91	1 / each	\$361.9
Product Code: Agency Notes:		Supplier Pro Supplier No		:
2440208-03	Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$50.97	1 / each	\$50.9
Product Code: Agency Notes:		Supplier Pro Supplier No	otes:	
14 #	I in a Manua	Unit Duine		ial: \$661.74
2440209-01	Line Item Coulthwart Printing Station / Air Support: EEO1 and EEOE S. Portland Avo. Area as described in Attachment A Mowing Locati. First Offer	Unit Price \$450.96	1 / each	Total Pric \$450.96
Product Code:	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer	Supplier Pro		
Agency Notes:		Supplier No		_ 1
2440209-02	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	\$90.33	1 / each	\$90.33
Product Code: Agency Notes:		Supplier Pro Supplier No		
			Lot Tot	:al: \$541.29
Item #	Line Item	Unit Price	- ` -	Total Price
2440210-01	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer		1 / each	\$70.72
Product Code: Agency Notes:		Supplier Pro	otes:	
2440210-02	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer	\$200.97	1 / each	\$200.9
Product Code: Agency Notes:		Supplier Pro Supplier No		:
			Lot Tot	:al: \$271.6
Item#	Line Item	Unit Price	Qty/Unit	Total Pric
2440211-01	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-Fal - First Offer	\$373.29	1 / each	\$373.29
Product Code:		Supplier Pro	oduct Code	
Agency Notes:		Supplier No	otes:	
2440211-02	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix - First Offer		1 / each	\$224.2
Product Code: Agency Notes:		Supplier Pro		
2440211-03	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-pla - First Offer	\$68.90	1 / each	\$68.90
Product Code: Agency Notes:		Supplier Pro		
		'	Lot Tot	:al: \$666.3
Item#	Line Item	Unit Price	Qty/Unit	Total Pric
2440212-01	Vacant Lot: 701 Colcord Drive- Area as described in Attachment A Mowing Location Matrix - First Offer	\$137.29	1 / each	\$137.29
Product Code: Agency Notes:		Supplier Pro		
2440212-02	Vacant Lot: 701 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer		1 / each	\$248.8
Product Code: Agency Notes:		Supplier Pro Supplier No		:
			Lot Tot	:al: \$386.1
Item #	Line Item	Unit Price	Qty/Unit	Total Pric
2440213-01 Product Code:	Old City Garage: 115 N. Shartel Area as described in Attachment A Mowing Location Matrix-Fall deb - First Offer	Supplier Pro		\$248.86 :
Agency Notes: 2440213-02	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer	Supplier No \$81.09	1 / each	\$81.0
Product Code:	one dry darage. The N. Sharter Area as described in Attachment A Mowning Location Mathix - First Offer	Supplier Pro		
Agency Notes:		Supplier No	tes:	:al: \$329.9
Item #	Line Item	Unit Price		Total Pric
2440214-01	Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Pro		
			Lot 1	Γotal: \$0.0
Item #	Line Item	Unit Price	Qty/Unit	Total Pric
2440215-01	W-9: W-9 - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Pro Supplier No		:
			Lot 1	Γotal: \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440216-01	Insurance: Insurance - First Offer		1 / each	
Product Code: Agency Notes		Supplier Product Code: Supplier Notes:		•
2440216-02	Insurance: Workers Compensation Exemption - First Offer		1 / each	
Product Codes Agency Notes		Supplier Product Code: Supplier Notes: Not exempt		
			Lot 1	Γotal: \$0.00

			Lot T	otal: \$0.00
MD Lawn Ca	re Service, LLC	\$5.0	00.00 (33	/33 items)
Bid Contact	Marco Delgado Address 4300 NW 27th St mdlawncs@gmail.com Oklahoma City, OK 73107 Ph 405-658-0015	43,3	00.00 (33.	, 33 items,
Qualifications	S MBE			
Agency Notes		Supplier No	tes:	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440201-01	616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
			Lot Tot	al: \$150.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440202-01	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix First Offer	\$200.00	1 / each	\$200.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440202-02	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes:		Supplier Pro		
			Lot Tot	al: \$350.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440203-01	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Pro		
2440203-02	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes:		Supplier Pro		
				al: \$450.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440204-01	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Fall - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440204-02	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Pro		
2440204-03	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes:		Supplier Pro		
			Lot Tot	al: \$750.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440205-01	Pistol Range: 8500 S Air Depot -Area as described in Attachment A Mowing Location Matrix-mowin - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Pro Supplier No Not bid		
2440205-02	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Pro Supplier No Not bid		
2440205-03	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		Supplier Pro Supplier No Not bid		

			Lot 1	otal: \$0.00
Item#	Line Item	Unit Price		Total Price
2440206-01	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$300.00	1 / each	\$300.00
Product Code:		Supplier Pro		
Agency Notes		Supplier No		¢200.00
2440206-02 Product Code:	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer	\$300.00 Supplier Pro	1 / each	\$300.00
Agency Notes:		Supplier No		•
			Lot Tot	al: \$600.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440207-01	Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440207-02	Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer	\$300.00	1 / each	\$300.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No		1 + 450 00
 #	I in a bloom	Unit Price		al: \$450.00
Item # 2440208-01	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer	\$200.00	1 / each	Total Price \$200.00
Product Code:	· · · · · · · · · · · · · · · · · · ·	Supplier Pro		
Agency Notes		Supplier No		
2440208-02	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440208-03	Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$150.00	1 / each	\$150.00
Product Code:		Supplier Pro	oduct Code:	
Agency Notes:		Supplier No		
				: al: \$650.00
Item #	Line Item Continue to Disfere Continue Air Connects 5500 and 5505 S. Deutland A. D. Arrando and A. Arrando and	Unit Price		Total Price
2440209-01 Product Code:	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer	\$500.00 Supplier Pro	1 / each	\$500.00
Agency Notes:		Supplier No		
2440209-02	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	\$200.00	1 / each	\$200.00
Product Code: Agency Notes:		Supplier Pro	otes:	
		Plants bed n		:al: \$700.00
Item#	Line Item	Unit Price		Total Price
2440210-01	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes:		Supplier Pro Supplier No \$150 per vis	otes:	
2440210-02	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	
y		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		:al: \$450.00
Item#	Line Item	Unit Price		Total Price
2440211-01	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-Fal - First Offer	\$200.00	1 / each	\$200.00
Product Code: Agency Notes:		Supplier Pro Supplier No		:
2440211-02	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes:		Supplier Pro Supplier No		:
2440211-03	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-pla - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes:		Supplier Pro Supplier No		:
		1	Lot Tot	:al: \$650.00
Item#	Line Item	Unit Price	-	Total Price
2440212-01	Vacant Lot: 701 Colcord Drive- Area as described in Attachment A Mowing Location Matrix - First Offer	\$200.00	1 / each	\$200.00

Product Code: Agency Notes	Supplier Product Code: Supplier Notes:			
2440212-02	Vacant Lot: 701 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$200.00	1 / each	\$200.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot To	tal: \$400.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440213-01	Old City Garage: 115 N. Shartel Area as described in Attachment A Mowing Location Matrix-Fall deb - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440213-02	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot To	tal: \$300.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440214-01	Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot 1	Γotal: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440215-01	W-9: W-9 - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro		:
			Lot 1	Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440216-01	Insurance: Insurance - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro		
2440216-02	Insurance: Workers Compensation Exemption - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro		•
			Lot 7	Г otal: \$0.00

			Lot ⁷	Total: \$0.00
JackTags Inc	<u>.</u>	\$7,9	58.72 (33	/33 items)
Bid Contact J	elani Hoyte-King Address 5720 West Centinela Ave.			
-	elani@jacktags.com Los Angeles, CA 90045			
F	Ph 518-221-1998			
Agency Notes	:	Supplier No	tes:	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440201-01	616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$44.80	1 / each	\$44.80
Product Code Agency Notes		Supplier Pro Supplier No		:
			Lot To	otal: \$44.80
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440202-01	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix First Offer	\$128.00	1 / each	\$128.00
Product Code Agency Notes		Supplier Pro Supplier No		
2440202-02	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$19.20	1 / each	\$19.20
Product Code Agency Notes		Supplier Pro Supplier No		
			Lot To	:al: \$147.20
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440203-01	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix - First Offer	\$256.00	1 / each	\$256.00
Product Code Agency Notes		Supplier Pro Supplier No		:
2440203-02	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$12.80	1 / each	\$12.80
Product Code Agency Notes		Supplier Pro Supplier No		
			Lot To	al: \$268.80
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440204-01	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Fall - First Offer	\$12.80	1 / each	\$12.80
Product Code Agency Notes		Supplier Pro Supplier No		

Supplies	2440204-02	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix - First Offer	\$280.00	1 / each	\$280.00
### 1948 Page	Product Code: Agency Notes:				:
Patro Pat	2440204-03	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$12.80	1 / each	\$12.80
Ministry	Product Code: Agency Notes:				:
				Lot Tot	al: \$305.60
Supplier Product Code Supplier Produ	Item#	Line Item	Unit Price	Qty/Unit	Total Price
Separation Sep	2440205-01	Pistol Range: 8500 S Air Depot -Area as described in Attachment A Mowing Location Matrix-mowin - First Offe	\$1,280.00		
	Product Code: Agency Notes:				:
Segond Petro Pe	2440205-02	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$1,397.76	1 / each	\$1,397.76
Supplier Product Code Sup	Product Code: Agency Notes:				;
### 1945 1945	2440205-03	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$1,397.76	1 / each	\$1,397.76
	Product Code: Agency Notes:				;
Police				Lot Tota	I: \$4,075.52
Supplier Product Codes Supplier Product C	Item#	Line Item	Unit Price	Qty/Unit	Total Price
Supplier Product Codes Supplier Product C	2440206-01	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$128.00		
## Supplier Product Code: ## Supplier Produ	Product Code: Agency Notes:		Supplier Pro	oduct Code:	
Name Post	2440206-02	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer	\$96.00	1 / each	\$96.00
Teme # Unit Price Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-p1- First Offer \$12,80 1 / each \$12,80 2 / each \$12,80 each \$12,80 2 / each \$12,80 2 / each \$12,80 each \$	Product Code: Agency Notes:				;
24402-07-07 Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-p1-First Offer \$12.80 7f-each \$12.80 \$17.80ch \$18.80 \$18.80 \$17.80ch \$18.80 \$1				Lot Tot	al: \$224.00
Supplier Product Code: spency Notes: Search 200 Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First offer Supplier Product Code: spency Notes: **Total: \$172.80** *	Item#	Line Item	Unit Price	Qty/Unit	Total Price
Repency Notes: Supplier Notes: Supplier Notes: Station of 160 to 16	2440207-01	Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$12.80	1 / each	\$12.80
Supplier Product Code Supplier Note Sup	Product Code: Agency Notes:				:
Table	2440207-02	Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer	\$160.00	1 / each	\$160.00
Line Item # Line Item Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix F- First Offer Sa94.00 1 cach Sa94.00 7 cach Sa94.00 Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix F- First Offer Supplier Product Code: Supplier Notes: Suppli	Product Code: Agency Notes:			otes:	
Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F- First Offer		·	- · Polan		
Product Code: Agency Notes: Agency				• •	
Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Supplier Product Code: Supplier Notes: 24402—08-03 Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer S12.80 14 each \$12.80 24402—08-03 Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer S12.80 14 each \$12.80 24402—08-03 Southwest Briefing Station Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Location First Offer S12.80 2 24402—09-01 Southwest Briefing Station Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Location First Offer S19.20 14 each \$19.20 24402—09-02 Southwest Briefing Station Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Location First Offer S19.20 14 each \$19.20 24402—09-02 Southwest Briefing Station Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Location First Offer S19.20 24402—09-02 Southwest Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer S12.80 24402—10-01 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer S12.80 24402—10-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer S12.80 24402—10-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer S12.80 24402—10-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer S12.80 24402—10-04 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer S12.80 24402—10-04 Springlake Briefing Station: 4116 N Pro	2440208-01	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Olier إ	(C) ((() () () () ()	1 / each	\$384.00
Product Code: Agency Notes: 24402—08-03	Product Code:		Supplier Pro		:
Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer \$12.80 \$1 / each \$12.80 \$2 / each \$1.80 \$2 / each \$1.	Product Code: Agency Notes:		Supplier Pro Supplier No	otes:	1
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier No	Product Code: Agency Notes: 2440208-02 Product Code:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro	otes: 1 / each oduct Code:	\$256.00
Item # Line Item Line	Product Code: Agency Notes: 2440208-02 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No	1 / each oduct Code: otes:	\$256.00
Item # Line Item Line	Product Code: Agency Notes: 2440208-02 Product Code:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro	otes: 1 / each oduct Code: tes: 1 / each oduct Code:	\$256.00 : \$12.80
24402—09-01 Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Supplier Notes: 24402—09-02 Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer Supplier Notes: 24402—09-02 Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer Supplier Notes: 24402—09-02 Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer Supplier Notes: 24402—09-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer \$12.80 1/ each \$12.80 Product Code: Agency Notes: 24402—10-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Supplier Notes: 24402—10-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Supplier Notes: 24402—10-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Supplier Notes: 24402—10-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Supplier Notes: 24402—10-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Supplier Notes: 24402—10-02	Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro	otes: 1 / each oduct Code: 1 / each oduct Code: otes:	\$256.00 : \$12.80
Agency Notes: 24402-09-02 Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer \$512.00 1 / each \$512.00 2 / each \$512.00 \$1 / each \$12.00 \$1 / each \$1	Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No	otes: 1 / each oduct Code: 1 / each oduct Code: coduct Code: totes: Lot Tot	\$256.00 : : \$12.80 : tal: \$652.80
2440209-02 Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer \$512.00 1 / each \$512.00 Product Code: Supplier Notes: Lot Total: \$531.20 Supplier Product Code: Supplier Notes:	Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No Unit Price	otes: 1 / each oduct Code: otes: 1 / each oduct Code: otes: Lot Tot Qty/Unit	\$256.00 : \$12.80 : tal: \$652.80 Total Price
Supplier Product Code: Supplier Notes: \$531.20 Item # Line Item Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer Supplier Notes: \$12.80	Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No Unit Price \$19.20 Supplier Pro	oduct Code: 1 / each oduct Code: oduct Code: oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code:	\$256.00 : \$12.80 : tal: \$652.80 Total Price \$19.20
Line Hem # Line Item # Line Item Line Item # Line Lin	Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: Item # 24402-09-01 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No Unit Price \$19.20 Supplier Pro Supplier Pro Supplier Pro Supplier No	1 / each oduct Code: otes: 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code:	\$256.00 : \$12.80 : tal: \$652.80 Total Price \$19.20 :
Line Item # Line Item Line Line Item Line	Product Code: Agency Notes: 24402-08-02 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: Item # 24402-09-01 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No Supplier No Supplier Pro Supplier Pro Supplier No \$512.00 Supplier Pro	otes: 1 / each oduct Code: otes: 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: 1 / each oduct Code: otes:	\$256.00 : \$12.80 : tal: \$652.80 Total Price \$19.20 :
Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer \$12.80 1 / each \$12.80 Product Code: Agency Notes: 24402–10-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Supplier Notes: 24402–10-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer \$134.40 1 / each \$134.40 Product Code: Supplier Product Code: Supplier Notes: 24602–10-02 Supplier Product Code: Supplier Product Code: Supplier Notes: 24702–10-02 Supplier Product Code: Supplier Product Code: Supplier Notes:	Product Code: Agency Notes: 2440208-02 Product Code: Agency Notes: 2440208-03 Product Code: Agency Notes: Item # 2440209-01 Product Code: Agency Notes: 2440209-02 Product Code:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No Supplier No Supplier Pro Supplier Pro Supplier No \$512.00 Supplier Pro	otes: 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: oduct Code: 1 / each oduct Code: oduct Code: oduct Code: otes:	\$256.00 : \$12.80 : tal: \$652.80 Total Price \$19.20 :
Product Code: Agency Notes: 24402–10-02 Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer \$134.40 \$1/ each \$134.40 \$1/ each \$134.40 \$1/ each \$134.40 \$1/ each \$1/	Product Code: Agency Notes: 2440208-02 Product Code: Agency Notes: 2440208-03 Product Code: Agency Notes: Item # 2440209-01 Product Code: Agency Notes: 2440209-02 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No Supplier No Supplier Pro Supplier No \$512.00 Supplier Pro Supplier No	otes: 1 / each oduct Code: totes: Lot Tot Qty/Unit 1 / each oduct Code: tes: 1 / each oduct Code: tes: Lot Tot code: tes: Lot Tot Lot Tot code: Lot Tot code: Lot Tot	\$256.00 : \$12.80 : tal: \$652.80 Total Price \$19.20 : \$512.00
Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer \$134.40 1 / each \$134.40 Product Code: Agency Notes: Lot Total: \$147.20 Item # Line Item	Product Code: Agency Notes: 2440208-02 Product Code: Agency Notes: 2440208-03 Product Code: Agency Notes: Item # 2440209-01 Product Code: Agency Notes: 2440209-02 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer Line Item	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No Unit Price	otes: 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot code: totes: 1 / each oduct Code: otes: 1 / each oduct Code: otes: Qty/Unit Oduct Code: otes: Qty/Unit	\$256.00 : \$12.80 : tal: \$652.80 Total Price \$19.20 : \$512.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Lot Total: \$147.20 Item # Line Item Unit Price Qty/Unit Total Price	Product Code: Agency Notes: 2440208-02 Product Code: Agency Notes: 2440208-03 Product Code: Agency Notes: Item # 2440209-01 Product Code: Agency Notes: 2440209-02 Product Code: Agency Notes: Ltem #	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer Line Item Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No	1 / each oduct Code: otes: 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes:	\$256.00 : \$12.80 : tal: \$652.80 Total Price \$19.20 : \$512.00 : tal: \$531.20 Total Price \$12.80
Lot Total: \$147.20 Item # Line Item Unit Price Qty/Unit Total Price	Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: 24402-08-03 Product Code: Agency Notes: Item # 24402-09-01 Product Code: Agency Notes: 24402-09-02 Product Code: Agency Notes: 1tem # 24402-10-01 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer Line Item Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No Supplier Pro Supplier No \$512.00 Supplier Pro Supplier No Unit Price \$12.80 Supplier No Supplier No	otes: 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot oduct Code: otes: Lot Tot Oty/Unit 1 / each oduct Code: otes:	\$256.00 : \$12.80 : tal: \$652.80 Total Price \$19.20 : \$512.00 : tal: \$531.20 Total Price \$12.80
Item# Line Item Unit Price Qty/Unit Total Price	Product Code: Agency Notes: 2440208-03 Product Code: Agency Notes: 2440208-03 Product Code: Agency Notes: Item # 2440209-01 Product Code: Agency Notes: 2440209-02 Product Code: Agency Notes: Item # 2440210-01 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer Line Item Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No Supplier No Supplier No Supplier No Supplier No \$512.00 Supplier Pro Supplier No Supplier No Supplier No Supplier No Supplier No Supplier Pro	otes: 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: 1 / each oduct Code: otes: 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: 1 / each oduct Code: otes:	\$256.00 \$12.80 tal: \$652.80 Total Price \$19.20 : \$512.00 Total Price \$12.80 : \$134.40
	Product Code: Agency Notes: 2440208-03 Product Code: Agency Notes: 2440208-03 Product Code: Agency Notes: Item # 2440209-01 Product Code: Agency Notes: 2440209-02 Product Code: Agency Notes: Item # 2440210-01 Product Code: Agency Notes: 24402-10-01 Product Code: Agency Notes: 24402-10-01 Product Code: Agency Notes: 24402-10-02 Product Code:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer Line Item Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No Supplier No Supplier No Supplier No Supplier No \$512.00 Supplier Pro Supplier No Supplier No Supplier No Supplier No Supplier No Supplier Pro	otes: 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: 1 / each oduct Code: otes:	\$256.00 \$12.80 tal: \$652.80 Total Price \$19.20 : \$512.00 Total Price \$12.80 : \$134.40 :
	Product Code: Agency Notes: 2440208-03 Product Code: Agency Notes: 2440208-03 Product Code: Agency Notes: Item # 2440209-01 Product Code: Agency Notes: Item # 2440209-02 Product Code: Agency Notes: Item # 24402-10-01 Product Code: Agency Notes: 24402-10-01 Product Code: Agency Notes: 24402-10-01 Product Code: Agency Notes: 24402-10-02 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer Line Item Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer Line Item Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer	Supplier Pro Supplier No \$256.00 Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No Supplier No Supplier Pro Supplier No \$512.00 Supplier Pro Supplier No \$512.00 Supplier Pro Supplier No Supplier No Supplier No Supplier No Supplier Pro Supplier No \$12.80 Supplier Pro Supplier No	otes: 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot Tot Oduct Code: otes: Lot Tot Lot Tot Oduct Code: otes: Lot Tot	\$256.00 : \$12.80 : tal: \$652.80 Total Price \$19.20 : \$512.00 : \$12.80 : \$134.40 :

Product Code: Agency Notes		Supplier Pro Supplier No		:
2440211-02	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix - First Offer	\$256.00	1 / each	\$256.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440211-03	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-pla - First Offer	\$19.20	1 / each	\$19.20
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot Tot	t al: \$659.20
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440212-01	Vacant Lot: 701 Colcord Drive- Area as described in Attachment A Mowing Location Matrix - First Offer	\$256.00	1 / each	\$256.00
Product Code: Agency Notes		Supplier Pro		:
2440212-02	Vacant Lot: 701 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$192.00	1 / each	\$192.00
Product Code: Agency Notes		Supplier Pro		•
			Lot Tot	t al: \$448.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440213-01	Old City Garage: 115 N. Shartel Area as described in Attachment A Mowing Location Matrix-Fall deb - First Offer	\$192.00	1 / each	\$192.00
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440213-02	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer	\$89.60	1 / each	\$89.60
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot Tot	t al: \$281.60
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440214-01	Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot T	Γotal: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440215-01	W-9: W-9 - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot T	Γotal: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440216-01	Insurance : Insurance - First Offer		1 / each	
Product Code:		Supplier Pro Supplier No		:
Agency Notes			1 / each	
	Insurance: Workers Compensation Exemption - First Offer	l i		
Agency Notes		Supplier Pro	oduct Code:	:

3D Lawn Sei	rvice		\$9,2	22.50 (33	/33 items)
Bid Contact	Damontay GilyardAddress 18117 Englislawn3dlservice@gmail.comEdmond , OkPh 405-509-4604				
Qualification	is CS ARCH ENG				
Bid Notes	Total service calls will be (19)though March 1- June 30th				
	Total service calls will be (16) though July 1- Oct				
Agency Notes	s:		Supplier No will be (19)th 30th Total service July 1- Oct	nough Marc	h 1- June
Item #	Line Item		Unit Price	Qty/Unit	Total Price
2440201-01	616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-pl	ant b - First Offer	\$136.00	1 / each	\$136.00
Product Code Agency Notes			Supplier Pro Supplier No		:
				Lot To	:al: \$136.00
Item#	Line Item		Unit Price	Qty/Unit	Total Price
2440202-01	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location M	atrix First Offer	\$136.00	1 / each	\$136.00

Product Code: Agency Notes		Supplier Pro Supplier No		
2440202-02 Product Code:		\$200.00 Supplier Pro		\$200.00
Agency Notes:		Supplier No		
				al: \$336.00
Item#	Line Item	Unit Price		Total Price
2440203-01	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix - First Offer	\$200.00	1 / each	\$200.00
Product Code: Agency Notes:		Supplier Pro Supplier No	otes:	
2440203-02 Product Code:		\$200.00 Supplier Pro		\$200.00
Agency Notes:		Supplier No		1 + 100 00
	4.1 h			al: \$400.00
Item #	Line Item	Unit Price	-	Total Price
2440204-01	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Fall - First Offer	\$185.00	1 / each	\$185.00
Product Code: Agency Notes:		Supplier Pro Supplier No	otes:	
2440204-02	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix - First Offer	\$150.00	1 / each	\$150.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440204-03	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$200.00	1 / each	\$200.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
			Lot Tot	al: \$535.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440205-01	Pistol Range: 8500 S Air Depot -Area as described in Attachment A Mowing Location Matrix-mowin - First Offe	\$1,552.50	1 / each	\$1,552.50
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440205-02	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$1,360.00	1 / each	\$1,360.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440205-03	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$1,360.00	1 / each	\$1,360.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
			Lot Total	: \$4,272.50
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440206-01	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$136.00	1 / each	\$136.00
Product Code:		Supplier Pro		
Agency Notes		Supplier No	tes:	
2440206-02	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer	\$200.00	1 / each	\$200.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
				al: \$336.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440207-01	Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$231.00	1 / each	\$231.00
Product Code:		Supplier Pro		
Agency Notes:		Supplier No		#460.00
2440207-02	Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer	\$180.00	1 / each	\$180.00
Product Code: Agency Notes:		Supplier Pro Supplier No	tes:	
14 "	The Research	11-2 5 1		al: \$411.00
Item #	Line Item	Unit Price		Total Price
2440208-01	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer	\$210.00	1 / each	\$210.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440208-02	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	\$325.00	1 / each	\$325.00
Product Code:		Supplier Pro	oduct Code:	
Agency Notes:		Supplier No		
2440208-03	Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$210.00	1 / each	\$210.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
			Lot Tot	al: \$745.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price

2440209-01	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer	\$310.00	1 / each	\$310.00
Product Code: Agency Notes		Supplier Pro		
	· Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	\$340.00	1 / each	\$340.00
Product Code: Agency Notes		Supplier Pro	oduct Code:	
				al: \$650.00
Item #	Line Item	Unit Price		Total Price
2440210-01	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer	\$136.00	1 / each	\$136.00
Product Code: Agency Notes		Supplier Pro		
2440210-02	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer	\$204.00	1 / each	\$204.00
Product Code: Agency Notes		Supplier Pro Supplier No	oduct Code:	
			Lot Tot	al: \$340.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440211-01	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-Fal - First Offer	\$210.00	1 / each	\$210.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440211-02	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix - First Offer	\$136.00	1 / each	\$136.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440211-03	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-pla - First Offer	\$200.00	1 / each	\$200.00
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Tot	al: \$546.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440212-01	Vacant Lot: 701 Colcord Drive- Area as described in Attachment A Mowing Location Matrix - First Offer	\$156.00	1 / each	\$156.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440212-02	Vacant Lot: 701 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$216.00	1 / each	\$216.00
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Tot	al: \$372.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440213-01	Old City Garage: 115 N. Shartel Area as described in Attachment A Mowing Location Matrix-Fall deb - First Offer	\$75.00	1 / each	\$75.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440213-02	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer	\$68.00	1 / each	\$68.00
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Tot	al: \$143.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440214-01	Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot 1	otal: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440215-01	W-9: W-9 - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot 1	otal: \$0.00
Item#	Line Item	Unit Price		Total Price
2440216-01	Insurance: Insurance - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440216-02	Insurance: Workers Compensation Exemption - First Offer		1 / each	
Product Code: Agency Notes		Supplier Pro Supplier No		:
			Lot 1	otal: \$0.00

GreenShade Trees, LLC \$9,710.00 (33/33 items)

Address PO BOX 850369 Yukon, OK 73085

March March March March Septim Toward March Septim Toward March	Agency Notes		Supplier Notes:		
### Product Code Company Product Code Company Product Code Co	Item #	Line Item	Unit Price	Qty/Unit	Total Price
### Part	2440201-01	616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$100.00	1 / each	\$100.00
Memory Montano Memory Montano Michael Micha				tes:	
2400.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0					
Supplied Product Code Supplied Prod					
Ageing Page					
### Product Code Supplier P	Agency Notes		Supplier No	tes:	
### 1948 Patrice Patr					
Tender Company Comp				tes:	
Mary					
Angeling					
Agency Notes					
Supplier Product Codes Supplier Product C	Agency Notes	:	Supplier No		
Mapping Map	2440203-02	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$75.00	1 / each	\$75.00
tem # Line Item Unit Price Qft/Unit 7 to 1 Price 24402-0401 18 9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Filer Offer Sagons, 9 to 1 ce al. Sagons Product Code: Agency Notes: \$100,000 To 1 ce al. Sagons Product Code: Supplier Volume Code Supplier Volume					
24402_0-04-01				Lot Tot	al: \$400.00
Product Code		Line Item	Unit Price	Qty/Unit	Total Price
Agency Notes: Supplier Notes: Supplier Product Code: Supplier	2440204-01	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Fall - First Offer	\$200.00	1 / each	\$200.00
Product Code Sagency Notes Supplier Product Code Sagency Notes Supplier Notes					
Agency Notes: Supplier Notes: Supplier Notes: \$ 1000000000000000000000000000000000000	2440204-02	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix - First Offer	\$300.00	1 / each	\$300.00
Repert Product Code Supplier Produc					
Agency Notes: Unit Price (Product Code) In the Image (Product Code) In the Image (Product Code) In the Image (Product Code) Image (Product Code) Agency Notes: Code (Product Code)	2440204-03	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$100.00	1 / each	\$100.00
item# Line Item Unit Price Cycl/Unit Total Price 24402-05-01 Pistol Range: 8500 S Air Depot-Area as described in Attachment A Mowing Location Matrix-mowin - First Offer Regnety Notes: \$upplier Product Code: Supplier Votes: \$upplier Votes: \$upplier Votes: \$very Votes: \$upplier Votes: <					
Product Code: Supplier Product Code: Su				Lot Tot	al: \$600.00
Product Code: Supplier Product Code: Su	Item#	Line Item	Unit Price	Qty/Unit	Total Price
Agency Notes: 24402-0502	2440205-01	Pistol Range: 8500 S Air Depot -Area as described in Attachment A Mowing Location Matrix-mowin - First Offer	\$900.00	1 / each	\$900.00
Product Code: Agency Notes: 24402-05-03 Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer \$2,000.00					
Agency Notes: 24402-05-03 Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer Supplier Notes: Supplier N	2440205-02	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$900.00	1 / each	\$900.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Berms- there is no reference to which line item is which					
Agency Notes: Supplier Nees: Berns there is no reference to which line item is which reference to which line item is which the supplier Nees: Berns there is no reference to which line item is which the supplier Nees: Berns there is no reference to which line item is which the supplier Nees: Supplier Ne	2440205-03	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$2,000.00	1 / each	\$2,000.00
Item# Line Item# Line Item Optive Product Code: Agency Notes: Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer Supplier Notes: Supplier Notes: Code: Supplier Notes: 24402—06-02 Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer Supplier Notes: \$400.00 1 / each \$400.00 \$400.00 1 / each \$400.00 \$400.00 1 / each \$400.00 \$400.00 \$400.00 1 / each \$400.00 \$400.00			Supplier No	tes: Berms-	there is no
Product Code: Agency Notes: 24402-06-02 Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer Supplier Notes: 24402-06-02 Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer Supplier Notes: Supplier Product Code: Agency Notes: Supplier Notes: Supplier Product Code: Supplier Notes:				Lot Total	: \$3,800.00
Product Code: Agency Notes: 24402-06-02 Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer \$400.00 1 / each \$400.00 Product Code: Agency Notes: Supplier Product Code: Agency Notes: List Total: \$900.00 1 / each \$100.00 Product Code: Agency Notes: Supplier Product Code: Agency Notes: List Total: \$900.00 1 / each \$100.00 Product Code: Agency Notes: Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer \$100.00 1 / each \$100.00 Product Code: Agency Notes: 24402-07-02 Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer \$225.00 1 / each \$225.00 Product Code: Agency Notes: 24402-07-02 Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer \$225.00 1 / each \$225.00 Product Code: Agency Notes: Agency Notes: Agency Notes: Agency Notes: Agency Notes:	Item#	Line Item	Unit Price	Qty/Unit	Total Price
Agency Notes: 24402-06-02 Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer \$400.00 1/ each \$400.00 Product Code: Agency Notes: Supplier Product Code: Agency Notes: Lot Total: \$900.00 Item # Line Item Unit Price Qty/Unit Product Code: 24402-07-01 Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer \$100.00 1/ each \$100.00 Product Code: Agency Notes: 24402-07-02 Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer \$225.00 1/ each \$225.00 Product Code: Agency Notes: 24402-07-02 Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer \$225.00 1/ each \$225.00 Product Code: Agency Notes: 24402-07-02 Supplier Product Code: Agency Notes: 24402-07-02 Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer \$225.00 1/ each \$225.00 Product Code: Agency Notes: 24402-07-02 Supplier Product Code: Agency Notes:	2440206-01	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$500.00	1 / each	\$500.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes:					
Agency Notes: Lot Total: \$900.00 Line Line Item Line Item Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-PI-First Offer \$100.00 1/ each \$100.00 Product Code: Agency Notes: Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer \$100.00 1/ each \$100.00 Product Code: Agency Notes: Supplier Product Code: Agency Notes: \$100.00 1/ each \$100.00 Product Code: Agency Notes: Supplier Notes: \$100.00 1/ each \$100.00 Product Code: Agency Notes: \$100.00 Product Code: Ag	2440206-02	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer	\$400.00	1 / each	\$400.00
Item #Line ItemUnit PriceQty/UnitTotal Price24402–07-01Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer\$100.00\$1 / each\$100.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:24402–07-02Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer\$225.00\$1 / each\$225.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes:Supplier Product Code: Supplier Notes:					
Product Code: Agency Notes: 24402–07-02 Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer \$100.00 1 / each \$100.00 \$ Supplier Product Code: Supplier Notes: 24402–07-02 Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer \$225.00 1 / each \$225.00 \$ Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes:				Lot Tot	al: \$900.00
Product Code: Agency Notes: 24402-07-02 Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer \$225.00 1 / each \$225.00 Product Code: Agency Notes: Supplier Product Code:	Item#	Line Item	Unit Price	Qty/Unit	Total Price
Agency Notes: 24402-07-02 Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer \$225.00 1 / each \$225.00 Product Code: Agency Notes: Supplier Product Code: Agency Notes: Supplier Notes:	2440207-01	Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$100.00	1 / each	\$100.00
24402–07-02 Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer \$225.00 1 / each \$225.00 Product Code: Agency Notes: Supplier Product Code: Supplier Notes:	Product Code:		Supplier Pro	duct Code:	
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:				1	\$225.00
Lot Total: \$325.00	Product Code:		Supplier Pro	duct Code:	
				Lot Tot	al: \$325.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440208-01	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440208-02	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	\$340.00	1 / each	\$340.00
Product Code: Agency Notes		Supplier Pro Supplier No	oduct Code: otes:	
2440208-03	Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$100.00	1 / each	\$100.00
Product Code: Agency Notes		Supplier Pro Supplier No	oduct Code: otes:	
			Lot Tot	al: \$740.00
Item #	Line Item	Unit Price		Total Price
2440209-01	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer		1 / each	\$650.00
Product Code: Agency Notes		Supplier Pro Supplier No		5
l	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer		1 / each	\$200.00
Product Code: Agency Notes		Supplier Pro Supplier No plant bed m	aintenance	
		I		al: \$850.00
Item #	Line Item Covingle to Deleting Stations 4416 N Descript Avg. Avg. as described in Attachment A Mauring Leasting Matrix. First Office	Unit Price		Total Price
2440210-01 Product Code:	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer	\$100.00 Supplier Pro	1 / each	\$100.00
Agency Notes		Supplier No		
2440210-02	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer	\$250.00	1 / each	\$250.00
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Tot	al: \$350.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440211-01	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-Fal - First Offer	\$325.00	1 / each	\$325.00
Product Code:		Supplier Pro Supplier No	oduct Code:	
Agency Notes 2440211-02	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix - First Offer		1 / each	\$285.00
Product Code:		Supplier Pr		
Agency Notes		Supplier No		
2440211-03	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-pla - First Offer	\$100.00	1 / each	\$100.00
Product Code: Agency Notes		Supplier Pro Supplier No	oduct Code: otes:	
		1		al: \$710.00
Item#	Line Item	Unit Price		Total Price
2440212-01 Product Code:	Vacant Lot: 701 Colcord Drive- Area as described in Attachment A Mowing Location Matrix - First Offer		1 / each	\$150.00
Agency Notes		Supplier Pro Supplier No		
2440212-02	Vacant Lot: 701 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer		1 / each	\$100.00
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Tot	al: \$250.00
Item #	Line Item	Unit Price		Total Price
2440213-01	Old City Garage: 115 N. Shartel Area as described in Attachment A Mowing Location Matrix-Fall deb - First Offer	\$300.00	1 / each	\$300.00
Product Code: Agency Notes		Supplier Pro Supplier No	oduct Code: otes:	
2440213-02	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer		1 / each	\$150.00
Product Code: Agency Notes		Supplier Pro Supplier No	tes:	
		l		al: \$450.00
Item #	Line Item	Unit Price		Total Price
Product Code:		Supplier Pro		
Agency Notes		Supplier No		otal: \$0.00
Item #	Line Item	Unit Price		Total Price
2440215-01	W-9: W-9 - First Offer		1 / each	
Product Code:		Supplier Pro	oduct Code:	

	Lot Total:				
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
2440216-01	Insurance: Insurance - First Offer		1 / each		
	Product Code: Agency Notes: Supplier Product Code: Supplier Notes:				
2440216-02	Insurance: Workers Compensation Exemption - First Offer		1 / each		
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes:				:	
	Lot Total: \$0.				

			Lot 1	Total: \$0.00
<u>9</u>	Craig Zuczek Address 1464 West 1st Street craig.zuczek@brightview.com Prosper, TX 75078 Ph 469-344-1267	\$12,1	77.34 (33	/33 items)
Agency Notes	:	Supplier No	tes:	
Item#	Line Item	Unit Price		Total Price
2440201-01	616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$73.22	1 / each	\$73.22
Product Code	:	Supplier Pro	oduct Code	
Agency Notes	:	Supplier No		otal: \$73.22
Item#	Line Item	Unit Price		Total Price
2440202-01	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix First Offer	\$136.03	1 / each	\$136.03
Product Code	-			
Agency Notes		Supplier Pro Supplier No		
2440202-02	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$45.34	1 / each	\$45.34
Product Code Agency Notes		Supplier Pro		:
			Lot Tot	t al: \$181.37
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440203-01	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix - First Offer	\$212.31	1 / each	\$212.31
Product Code Agency Notes		Supplier Pro		
2440203-02	• Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$23.59	1 / each	\$23.59
Product Code		Supplier Pro	oduct Code	
Agency Notes	:	Supplier No		:al: \$235.90
Item #	Line Item	Unit Price		Total Price
2440204-01			1 / each	\$1,501.16
Product Code	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Fall - First Offer			
Agency Notes		Supplier Pro Supplier No		
2440204-02	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix - First Offer	\$182.28	1 / each	\$182.28
Product Code Agency Notes		Supplier Pro Supplier No		:
2440204-03	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$32.16	1 / each	\$32.16
Product Code Agency Notes		Supplier Pro		:
,				l: \$1.715.60
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440205-01	Pistol Range: 8500 S Air Depot -Area as described in Attachment A Mowing Location Matrix-mowin - First Offe	\$1,680.84	1 / each	\$1,680.84
Product Code Agency Notes		Supplier Pro		
2440205-02	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$237.69	1 / each	\$237.69
Product Code Agency Notes		Supplier Pro		:
2440205-03	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$237.69	1 / each	\$237.69
Product Code Agency Notes		Supplier Pro		
	·			l: \$2,156.22
ltem #	Line Item	Unit Price		Total Price
2440206-01	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$850.00	1 / each	\$850.00
Product Code Agency Notes		Supplier Pro	oduct Code	
				¢1///70
2440206-02	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer	\$144.79	1 / each	\$144.79

Product Code: Agency Notes		Supplier Pro Supplier No		;
			Lot Tot	al: \$994.79
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440207-01	Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$21.96	1 / each	\$21.96
Product Code: Agency Notes		Supplier Pro Supplier No		
2440207-02	Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer	\$197.68	1 / each	\$197.68
Product Code: Agency Notes		Supplier Pro Supplier No	tes:	
				al: \$219.64
Item # 2440208-01	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offe	Unit Price \$1,640.07	Qty/Unit 1 / each	Total Price \$1,640.07
Product Code: Agency Notes		Supplier Pro Supplier No		
2440208-02	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	\$210.86	1 / each	\$210.86
Product Code: Agency Notes		Supplier Pro Supplier No		
2440208-03	Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$23.42	1 / each	\$23.42
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Total	l: \$1,874.35
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440209-01	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer	\$25.54	1 / each	\$25.54
Product Code: Agency Notes		Supplier Pro Supplier No		
2440209-02	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	\$229.90	1 / each	\$229.90
Product Code: Agency Notes		Supplier Pro Supplier No		
			Lot Tot	al: \$255.44
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440210-01	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer	\$43.59	1 / each	\$43.59
Product Code: Agency Notes		Supplier Pro Supplier No		:
2440210-02	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer	\$174.38	1 / each	\$174.38
Product Code: Agency Notes		Supplier Pro Supplier No	tes:	
1				al: \$217.97
Item#	Line Item	Unit Price		Total Price
2440211-01	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-Fal - First Offe	\$2,034.48	1 / each	\$2,034.48
Product Code: Agency Notes		Supplier Pro Supplier No	tes:	
2440211-02	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix - First Offer	\$123.52	1 / each	\$123.52
Agency Notes		Supplier Pro Supplier No		
2440211-03	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-pla - First Offer	\$21.79	1 / each	\$21.79
Product Code: Agency Notes		Supplier Pro Supplier No	tes:	
				l: \$2,179.79
Item #	Line Item	Unit Price		Total Price
2440212-01	Vacant Lot: 701 Colcord Drive- Area as described in Attachment A Mowing Location Matrix - First Offer	\$95.16	1 / each	\$95.16
Product Code: Agency Notes		Supplier Pro Supplier No	tes:	
2440212-02 Product Code:		\$888.23 Supplier Pro		\$888.23
Agency Notes		Supplier No		
. 1			I	al: \$983.39
Item#	Line Item	Unit Price		Total Price
2440213-01	Old City Garage: 115 N. Shartel Area as described in Attachment A Mowing Location Matrix-Fall deb - First Offe	\$1,017.00	1 / each	\$1,017.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440213-02	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer	\$72.66	1 / each	\$72.66
Product Code: Agency Notes		Supplier Pro		

				I: \$1,089.66
Item#	Line Item	Unit Price		Total Price
2440214-01	Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer		1 / each	
Product Code Agency Notes			oduct Code otes: Please attached pr	see pages
			Lot 1	Гotal: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440215-01	W-9: W-9 - First Offer		1 / each	
Product Code Agency Notes		Supplier Pro Supplier No		:
			Lot 1	Гotal: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440216-01	Insurance: Insurance - First Offer		1 / each	
Product Code Agency Notes		Supplier Pro Supplier No of the propo	tes: Please	
2440216-02	Insurance: Workers Compensation Exemption - First Offer		1 / each	
Product Code		Supplier Pro	oduct Code	:
Agency Notes	:	Supplier No	otes:	
			Lot 1	Γotal: \$0.00
	Kelvin Mitchell Address 4701 Mary Ann	\$13,8	65.00 (33	/33 items
Bid Contact I	Kelvin Mitchell Address 4701 Mary Ann nitchfordconstruction@gmail.com OKLAHOMA CITY, OK 73150 Ph 405-445-8641			:/33 items)
Bid Contact I <u>r</u> I Agency Notes	Kelvin Mitchell nitchfordconstruction@gmail.com Ph 405-445-8641 Address 4701 Mary Ann OKLAHOMA CITY, OK 73150	Supplier No	otes:	
Bid Contact I	Kelvin Mitchell Address 4701 Mary Ann nitchfordconstruction@gmail.com OKLAHOMA CITY, OK 73150 Ph 405-445-8641 : Line Item		otes:	
Bid Contact IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII	Kelvin Mitchell Address 4701 Mary Ann Mitchfordconstruction@gmail.com OKLAHOMA CITY, OK 73150 Ph 405-445-8641 : Line Item 616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer :	Supplier No Unit Price	Qty/Unit 1 / each oduct Code otes: This bic rees (Plant E e) in front of Ave. Lot Tot	Total Price \$210.00 : d is to take ed building tal: \$210.00
Bid Contact In Inc. Agency Notes Item # 24402-01-01 Product Code Agency Notes	Kelvin Mitchell Address 4701 Mary Ann OKLAHOMA CITY, OK 73150 OKLAHOMA CITY,	Supplier No Unit Price \$210.00 Supplier Pro Supplier Pro care of the ti Maintenance 616 Colcord Unit Price	otes: Qty/Unit 1 / each oduct Code otes: This bio rees (Plant E e) in front of Ave. Lot Tot Qty/Unit	Total Price \$210.00 is to take Bed building tal: \$210.00 Total Price
Agency Notes Item # 24402-01-01 Product Code Agency Notes Item # 24402-02-01	Kelvin Mitchell Address 4701 Mary Ann OKLAHOMA CITY, OK 73150 OKLAHOMA CITY,	Supplier No Unit Price \$210.00 Supplier Pro Supplier No care of the tr Maintenance 616 Colcord Unit Price \$230.00	Otes: Qty/Unit 1 / each oduct Code otes: This bio rees (Plant E e) in front of Ave. Lot Tot Qty/Unit 1 / each	Total Price \$210.00 : d is to take sed building tal: \$210.00 Total Price \$230.00
Bid Contact Management of Management Managem	Kelvin Mitchell Address 4701 Mary Ann OKLAHOMA CITY, OK 73150 OKLAHOMA CITY,	Supplier No Unit Price \$210.00 Supplier Pro Supplier No Care of the tr Maintenance 616 Colcord Unit Price \$230.00 Supplier Pro	otes: Qty/Unit 1 / each oduct Code otes: This bio rees (Plant E e) in front of Ave. Lot Tot Qty/Unit 1 / each oduct Code	Total Price \$210.00 : d is to take sed building tal: \$210.00 Total Price \$230.00
Agency Notes Item # 24402-01-01 Product Code Agency Notes Item # 24402-02-01 Product Code Agency Notes	Kelvin Mitchell nitchfordconstruction@gmail.com Ph 405-445-8641	Supplier No Unit Price \$210.00 Supplier Pro Supplier No care of the tr Maintenance 616 Colcord Unit Price \$230.00 Supplier Pro Supplier No	Otes: Qty/Unit 1 / each oduct Code otes: This bic rees (Plant E e) in front of Ave. Lot Tof Qty/Unit 1 / each oduct Code otes:	Total Price \$210.00 : d is to take sed building tal: \$210.00 Total Price \$230.00
Bid Contact F F Agency Notes Item # 2440201-01 Product Code Agency Notes Item # 2440202-01 Product Code	Kelvin Mitchell Address 4701 Mary Ann OKLAHOMA CITY, OK 73150 OKLAHOMA CITY, OK 73150 OKLAHOMA CITY, OK 73150 OKLAHOMA CITY, OK 73150 Line Item 616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer Line Item Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix First Offer Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix- First Offer Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer	Supplier No Unit Price \$210.00 Supplier Pro Supplier No Care of the tr Maintenance 616 Colcord Unit Price \$230.00 Supplier Pro	otes: Qty/Unit 1 / each oduct Code otes: This bio e) in front of Ave. Lot Tot Qty/Unit 1 / each oduct Code otes: 1 / each oduct Code otes: riefing Static et tree debris	Total Price \$210.00 id is to take Bed building tal: \$210.00 Total Price \$230.00 : \$490.00 :
Agency Notes Item # 24402-01-01 Product Code Agency Notes Item # 24402-02-01 Product Code Agency Notes 24402-02-02 Product Code	Kelvin Mitchell Address 4701 Mary Ann OKLAHOMA CITY, OK 73150 OKLAHOMA CITY, OK 73150 OKLAHOMA CITY, OK 73150 OKLAHOMA CITY, OK 73150 Line Item 616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer Line Item Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix First Offer Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix- First Offer Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer	Supplier No Unit Price \$210.00 Supplier Pro Supplier Pro Care of the ti Maintenance 616 Colcord Unit Price \$230.00 Supplier Pro Supplier No \$490.00 Supplier Pro Supplier No Bricktown B clean up the	otes: Qty/Unit 1 / each oduct Code otes: This bio rees (Plant E e) in front of Ave. Lot Tot Qty/Unit 1 / each oduct Code otes: 1 / each oduct Code otes: riefing Static e tree debris e only) at 21	Total Price \$210.00 : d is to take sed building tal: \$210.00 Total Price \$230.00 : \$490.00 :
Agency Notes Item # 24402-01-01 Product Code Agency Notes Item # 24402-02-01 Product Code Agency Notes 24402-02-02 Product Code	Kelvin Mitchell Address 4701 Mary Ann OKLAHOMA CITY, OK 73150 OKLAHOMA CITY, OK 73150 OKLAHOMA CITY, OK 73150 OKLAHOMA CITY, OK 73150 Line Item 616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer Line Item Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix First Offer Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix- First Offer Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant - First Offer	Supplier No Unit Price \$210.00 Supplier Pro Supplier Pro Care of the ti Maintenance 616 Colcord Unit Price \$230.00 Supplier Pro Supplier No \$490.00 Supplier Pro Supplier No Bricktown B clean up the	otes: Qty/Unit 1 / each oduct Code otes: This bio rees (Plant E e) in front of Ave. Lot Tof Qty/Unit 1 / each oduct Code otes: 1 / each oduct Code otes: riefing Static tree debris e only) at 21 Lot Tof	Total Price \$210.00 : d is to take led building tal: \$210.00 Total Price \$230.00 : \$490.00 :
Agency Notes Item # 2440201-01 Product Code Agency Notes Item # 2440202-01 Product Code Agency Notes 2440202-02 Product Code Agency Notes	Kelvin Mitchell mitchfordconstruction@gmail.com Ph 405-445-8641	Supplier No Unit Price \$210.00 Supplier Pro Supplier No care of the tr Maintenance 616 Colcord Unit Price \$230.00 Supplier Pro Supplier No \$490.00 Supplier Pro Supplier No Bricktown Bricktown Bricken up the Maintenance	otes: Qty/Unit 1 / each oduct Code otes: This bio rees (Plant E e) in front of Ave. Lot Tof Qty/Unit 1 / each oduct Code otes: 1 / each oduct Code otes: riefing Static tree debris e only) at 21 Lot Tof	Total Price \$210.00 : d is to take ded building tal: \$210.00 Total Price \$230.00 : \$490.00 : on - tree (plant Bed 9 E Main tal: \$720.00 Total Price
Bid Contact I I Agency Notes Item # 2440201-01 Product Code Agency Notes Item # 2440202-01 Product Code Agency Notes 2440202-02 Product Code Agency Notes	Address 4701 Mary Ann OKLAHOMA CITY, OK 73150 CKLAHOMA CITY, OK 73150 OKLAHOMA CITY, OK 73150	Supplier No Unit Price \$210.00 Supplier Pro Supplier No Care of the tr Maintenance 616 Colcord Unit Price \$230.00 Supplier Pro Supplier No \$490.00 Supplier Pro Supplier No Bricktown Bricktown Bricktown Bricken up the Maintenance Unit Price	otes: Qty/Unit 1 / each oduct Code otes: This bio rees (Plant E e) in front of Ave. Lot Tof Qty/Unit 1 / each oduct Code otes: 1 / each oduct Code otes: riefing Static e ree debris e only) at 21 Lot Tof Qty/Unit 1 / each oduct Code otes: refing Static e tree debris e only) at 21 Lot Tof Qty/Unit 1 / each oduct Code otes: Hefner w Only and	Total Price \$210.00 : d is to take Bed building tal: \$210.00 Total Price \$230.00 : \$490.00 : on - tree (plant Bed 9 E Main tal: \$720.00 Total Price \$240.00 : Briefing
Bid Contact I I Agency Notes Item # 2440201-01 Product Code Agency Notes Item # 2440202-01 Product Code Agency Notes 2440202-02 Product Code Agency Notes Item # 2440203-01 Product Code Agency Notes	Address 4701 Mary Ann OKLAHOMA CITY, OK 73150 CKLAHOMA CITY, OK 73150 OKLAHOMA CITY, OK 73150	Supplier No Unit Price \$210.00 Supplier Pro Supplier No Care of the tr Maintenance 616 Colcord Unit Price \$230.00 Supplier Pro Supplier No \$490.00 Supplier Pro Supplier No Bricktown Bricktown Bricktown Bricktown Bricktown Bricktown Bricktown Stean up the Maintenance Unit Price \$240.00 Supplier Pro Supplier No Station - Mo	otes: Qty/Unit 1 / each oduct Code otes: This bio rees (Plant E e) in front of Ave. Lot Tof Qty/Unit 1 / each oduct Code otes: 1 / each oduct Code otes: riefing Static e ree debris e only) at 21 Lot Tof Qty/Unit 1 / each oduct Code otes: refing Static e tree debris e only) at 21 Lot Tof Qty/Unit 1 / each oduct Code otes: Hefner w Only and	Total Price \$210.00 : d is to take Bed building tal: \$210.00 Total Price \$230.00 : \$4490.00 : con - tree (plant Bed 9 E Main tal: \$720.00 Total Price \$240.00 : Briefing

up the tree debris (plant Bed Maintenance only) at 219 E Main

Itom #	Line Item	Unit Del		al: \$450.00
Item #		Unit Price		Total Price
2440204-01	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Fall - First Offer	\$240.00	1 / each	\$240.00
Product Code: Agency Notes	:	Supplier Pro Supplier No Fall debris.		
2440204-02	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix - First Offer	\$250.00	1 / each	\$250.00
Product Code Agency Notes	:	Supplier Product Code: Supplier Notes: Mow only and the mowing debris/ clippings m be removed after every mow		
2440204-03	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$430.00	1 / each	\$430.00
Product Code Agency Notes	:	Supplier Product Code: Supplier Notes: Plant bed Maintenance only		
			Lot Tot	al: \$920.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440205-01 Product Code Agency Notes	:	fe \$1,760.00 1 / each \$1,760.00 Supplier Product Code: Supplier Notes: Mowing only		
2440205-02	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer		1 / each	\$1,760.00
Product Code Agency Notes	:	Supplier Product Code: Supplier Notes: Mowing only		
2440205-03	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix - First Offer	\$1,760.00	1 / each	\$1,760.00
Product Code Agency Notes	:	Supplier Product Code: Supplier Notes: Mowing only		
			Lot Tota	: \$5,280.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
2440206-01	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$240.00	1 / each	\$240.00
Product Code Agency Notes	:	Supplier Product Code: Supplier Notes: Fall debris		
2440206-02	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ - First Offer	\$740.00	1 / each	\$740.00
Product Code Agency Notes		Supplier Pro Supplier No		
		1 1		al: \$980.00
Item #		Unit Price		
2440207-01 Product Code Agency Notes		\$420.00 Supplier Pro Supplier No		
2440207-02	Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer	\$340.00	1 / each	\$340.00
Product Code Agency Notes		Supplier Pro Supplier No	tes: Mowing	gonly
Itom #	Line Home	Unit Del		al: \$760.00
2440208-01	Line Item Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer	Unit Price		Total Price
Product Code: Agency Notes	:	fer \$220.00 1 / each \$220.0 Supplier Product Code: Supplier Notes: Fall Debris		
	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	\$720.00	1 / each	\$720.00
2440208-02		Supplier Product Code: Supplier Notes: Mowing only		
Product Code				
Product Code				\$320.00
Product Code Agency Notes 24402-08-03 Product Code	Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer :	Mowing only	/ 1 / each oduct Code: otes:	\$320.00
Product Code Agency Notes 24402-08-03 Product Code	Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer :	\$320.00 Supplier Pro	/ 1 / each oduct Code: otes: nly	
Product Code Agency Notes	Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer:	\$320.00 Supplier Pro	1 / each oduct Code: otes: oly Lot Tota	

2440209-02 Product Code		Mowing only	<u>/</u>	
Product Code	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	\$330.00	1 / each	\$330.00
Agency Notes	Code:		Supplier Product Code: Supplier Notes: Plant only	
				l: \$1,050.00
Item #	Line Item	Unit Price		Total Price
2440210-01	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer	\$320.00	1 / each	\$320.00
Product Code Agency Notes		Supplier Pro Supplier No		
2440210-02	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer	\$240.00	1 / each	\$240.00
Product Code		Supplier Pro		
Agency Notes		Supplier No		
			Lot Tot	:al: \$560.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440211-01	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-Fal - First Offer	\$210.00	1 / each	\$210.00
Product Code Agency Notes	:	Supplier Pro Supplier No Fall Debris		
2440211-02	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix - First Offer	\$210.00	1 / each	\$210.00
Product Code Agency Notes		Supplier Pro Supplier No		
2440211-03	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-pla - First Offer	\$430.00	1 / each	\$430.00
Product Code Agency Notes		Supplier Pro Supplier No		
			Lot Tot	al: \$850.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440212-01	Vacant Lot: 701 Colcord Drive- Area as described in Attachment A Mowing Location Matrix - First Offer	\$230.00	1 / each	\$230.00
Product Code Agency Notes		Supplier Product Code: Supplier Notes: Mowing only		
2440212-02	Vacant Lot: 701 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$190.00	1 / each	\$190.00
Product Code Agency Notes		Supplier Pro Supplier No Fall Debris	otes:	: :al: \$420.00
Item #	Line Item	Unit Price		
2440213-01		Unit Price	Qty/Unit	Total Price
	Old City Garage: 115 N. Shartel Area as described in Attachment A Mowing Location Matrix-Fall deb - First Offer	\$230.00	Qty/Unit 1 / each	Total Price \$230.00
Product Code Agency Notes	:		1 / each	\$230.00
Product Code Agency Notes 2440213-02 Product Code	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro	1 / each oduct Code: otes: 1 / each oduct Code:	\$230.00 : : \$175.00
Product Code Agency Notes 2440213-02	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00	1 / each oduct Code: otes: 1 / each oduct Code: otes: Edging	\$230.00 : : \$175.00 : only
Product Code Agency Notes 2440213-02 Product Code	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No	1 / each oduct Code: otes: 1 / each oduct Code: oduct Code: otes: Edging Lot Tot	\$230.00 \$175.00 conly cal: \$405.00
Product Code Agency Notes 2440213-02 Product Code Agency Notes Item #	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer Line Item	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro	1 / each coduct Code: tes: 1 / each coduct Code: tes: Edging Lot Tot Qty/Unit	\$230.00 \$175.00 conly
Product Code Agency Notes 2440213-02 Product Code Agency Notes	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer Line Item Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer:	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No	1 / each oduct Code: otes: 1 / each oduct Code: otes: Edging Lot Tot Qty/Unit 1 / each oduct Code:	\$230.00 : \$175.00 : only :al: \$405.00
Product Code Agency Notes 2440213-02 Product Code Agency Notes Item # 2440214-01 Product Code	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer Line Item Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer:	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No Unit Price Supplier Pro	1 / each oduct Code: 1 / each oduct Code: otes: Edging Lot Tot Qty/Unit 1 / each oduct Code: oduct Code:	\$230.00 \$175.00 conly cal: \$405.00 Total Price
Product Code Agency Notes 2440213-02 Product Code Agency Notes Item # 2440214-01 Product Code	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer Line Item Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer:	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No Unit Price Supplier Pro	1 / each oduct Code: otes: 1 / each oduct Code: otes: Edging Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot T	\$230.00 \$175.00 only cal: \$405.00 Total Price
Product Code Agency Notes 2440213-02 Product Code Agency Notes Item # 2440214-01 Product Code Agency Notes	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer Line Item Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer :	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No Unit Price Supplier No	1 / each oduct Code: otes: 1 / each oduct Code: otes: Edging Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot T	\$230.00 \$175.00 conly cal: \$405.00 Total Price
Product Code Agency Notes 2440213-02 Product Code Agency Notes Item # 2440214-01 Product Code Agency Notes	Cold City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer Line Item Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer Line Item W-9: W-9 - First Offer :	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No Unit Price Supplier No	1 / each oduct Code: 1 / each oduct Code: otes: Edging Lot Tot Qty/Unit 1 / each oduct Code: tes: Lot T Qty/Unit 1 / each oduct Code: otes:	\$230.00 : : : : : ::::::::::::::::::::::::
Product Code Agency Notes 2440213-02 Product Code Agency Notes Item # 2440214-01 Product Code Agency Notes Item # 2440215-01 Product Code Agency Notes	Clid City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer Line Item Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer: Line Item W-9: W-9 - First Offer:	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No Unit Price Supplier No Unit Price Supplier No Unit Price	1 / each oduct Code: 1 / each oduct Code: otes: Edging Lot Tot Qty/Unit 1 / each oduct Code: tes: Lot T Qty/Unit 1 / each oduct Code: otes: Lot T	\$230.00 : : : : ::::::::::::::::::::::::::
Product Code Agency Notes 2440213-02 Product Code Agency Notes Item # 2440214-01 Product Code Agency Notes Item # 2440215-01 Product Code	Cold City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix - First Offer Line Item Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer Line Item W-9: W-9 - First Offer :	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No Unit Price Unit Price Unit Price Supplier No	1 / each oduct Code: 1 / each oduct Code: otes: Edging Lot Tot Qty/Unit 1 / each oduct Code: tes: Lot T Qty/Unit 1 / each oduct Code: otes: Lot T	\$230.00 : : : : : ::::::::::::::::::::::::
Product Code Agency Notes 2440213-02 Product Code Agency Notes Item # 2440214-01 Product Code Agency Notes Item # 2440215-01 Product Code Agency Notes Item #	Cline Item Line Item W-9: W-9 - First Offer Line Item Line Item Insurance: Insurance - First Offer	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No Unit Price Supplier No Unit Price Supplier No Unit Price	1 / each oduct Code: otes: 1 / each oduct Code: otes: Edging Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot T Qty/Unit 1 / each oduct Code: otes: Lot T Qty/Unit 1 / each	\$230.00 \$175.00 only al: \$405.00 Total Price Total Price Total: \$0.00 Total Price
Product Code Agency Notes 2440213-02 Product Code Agency Notes Item # 2440214-01 Product Code Agency Notes Item # 2440215-01 Product Code Agency Notes Item # 2440216-01	Cline Item Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer Line Item Line Item W-9: W-9 - First Offer Line Item Unsurance: Insurance - First Offer Insurance: Insurance - First Offer	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No Unit Price	1 / each oduct Code: otes: 1 / each oduct Code: otes: Edging Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot T Qty/Unit 1 / each oduct Code: otes: Lot T Qty/Unit 1 / each oduct Code: otes: Oty/Unit 1 / each	\$230.00 \$175.00 only al: \$405.00 Total Price Total Price Total: \$0.00 Total Price
Product Code Agency Notes 2440213-02 Product Code Agency Notes Item # 2440214-01 Product Code Agency Notes Item # 2440215-01 Product Code Agency Notes Item # 2440216-01 Product Code	Cline Item Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer Line Item Line Item W-9: W-9 - First Offer Line Item Unsurance: Insurance - First Offer Insurance: Insurance - First Offer	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No Unit Price	1 / each oduct Code: otes: 1 / each oduct Code: otes: Edging Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot T Qty/Unit 1 / each oduct Code: otes: Lot T Qty/Unit 1 / each oduct Code: otes: Oty/Unit 1 / each	\$230.00 \$175.00 only al: \$405.00 Total Price Total Price Total: \$0.00 Total Price
Product Code Agency Notes 2440213-02 Product Code Agency Notes Item # 2440214-01 Product Code Agency Notes Item # 2440215-01 Product Code Agency Notes Item # 2440216-01 Product Code Agency Notes	Cline Item Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer Line Item Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer W-9: W-9 - First Offer Line Item Insurance: Insurance - First Offer Insurance: Workers Compensation Exemption - First Offer Insurance: Workers Compensation Exemption - First Offer	\$230.00 Supplier Pro Supplier No Fall Debris \$175.00 Supplier Pro Supplier No Unit Price	1 / each oduct Code: otes: 1 / each oduct Code: otes: Edging Lot Tot Qty/Unit 1 / each oduct Code: otes: Lot T Qty/Unit 1 / each oduct Code: otes: Lot T Qty/Unit 1 / each oduct Code: otes: 1 / each oduct Code: otes: 1 / each oduct Code: otes:	\$230.00 \$175.00 only al: \$405.00 Total Price Total Price Total: \$0.00 Total Price

NG Lawncare LLC \$1,414.83 (24/33 items)

Bid Contact **noe gonzalez**

noe.gonzalez7501@gmail.com

Address **3300 n pennsylvania ave oklahoma city, OK 73112**

	noe.gonzalez7501@gmail.com oklahoma city, OK 73112				
Agency Notes		Supplier No	otes:		
Item#	Line Item	Unit Price		Total Price	
2440201-01	616 Building: 616 Colcord Dr- Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$10.00	1 / each	\$10.00	
Product Code			Supplier Product Code:		
Agency Notes	•	Supplier No		otal: \$10.00	
Item#	Line Item	Unit Price		Total Price	
2440202-01	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-	Office	Qty/Offic	No Bids	
Agency Notes		Supplier Product Code: Supplier Notes:			
2440202-02	Bricktown Briefing Station: 219 E. Main St - Area as described in Attachment A Mowing Location Matrix-plant	заррист не	res.	No Bids	
Agency Notes		Supplier Pro		:	
				Г otal: \$0.00	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
2440203-01	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix - First Offer	\$60.01	1 / each	\$60.01	
Product Code Agency Notes		Supplier Pro			
2440203-02	Hefner Briefing Station: 3924 NW 122nd - Area as described in Attachment A Mowing Location Matrix-plant b - First Offer	\$10.00	1 / each	\$10.00	
Product Code Agency Notes		Supplier Pro			
			Lot To	otal: \$70.01	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
2440204-01	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-Fall - First Offer	\$50.00	1 / each	\$50.00	
Product Code		Supplier Pro	oduct Code		
Agency Notes	:	Supplier No	tes:		
2440204-02	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix - First Offer	\$133.00	1 / each	\$133.00	
Product Code Agency Notes		Supplier Pro Supplier No			
2440204-03	K9 Unit: 1400 S. Portland- Area as described in Attachment A Mowing Location Matrix-plant - First Offer	\$3.00	1 / each	\$3.00	
Product Code Agency Notes		Supplier Pro Supplier No		•	
			Lot Tot	:al: \$186.00	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
2440205-01	Pistol Range: 8500 S Air Depot -Area as described in Attachment A Mowing Location Matrix-mowin			No Bids	
Agency Notes	:	Supplier Pro Supplier No		:	
2440205-02	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix			No Bids	
Agency Notes	:	Supplier Product Code: Supplier Notes:		:	
2440205-03	Pistol Range: 8500 S Air Depot - Area as described in Attachment A Mowing Location Matrix			No Bids	
Agency Notes		Supplier Pro Supplier No		:	
				Total: \$0.00	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
2440206-01 Agency Notes	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d :	Supplier Pro		No Bids	
2440206-02	Police Headquarters: 700 Colcord Dr. Area as described in Attachment A Mauring Legation Matrix plant/	Supplier No	rtes.	No Bids	
Agency Notes	Police Headquarters: 700 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-plant/ :	Supplier Pro			
				Гotal: \$0.00	
Item#	Line Item	Unit Price		Total Price	
2440207-01	Police Training Center: 800 N Portland Ave - Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$5.00	1 / each	\$5.00	
Product Code Agency Notes		Supplier Product Code: Supplier Notes:			
2440207-02	Police Training Center: 800 N Portland Ave- Area as described in Attachment A Mowing Location Matrix - First Offer	\$138.62	1 / each	\$138.62	
Product Code Agency Notes		Supplier Pro	oduct Code		

			Lot Tot	al: \$143.62
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440208-01	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix-F - First Offer	\$50.00	1 / each	\$50.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440208-02	Santa Fe Briefing Station: 9000 S Santa Fe Ave - Area as described in Attachment A Mowing Location Matrix - First Offer	\$10.00	1 / each	\$10.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440208-03 Product Code: Agency Notes:	Santa Fe Briefing Station: 9000 S Santa Fe Ave Area as described in Attachment A Mowing Location Matrix-pl - First Offer	\$312.05 Supplier Pro Supplier No		\$312.05
			Lot Tot	al: \$372.05
Item#	Line Item	Unit Price		Total Price
2440209-01	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locati - First Offer	\$12.00	1 / each	\$12.00
Product Code: Agency Notes:		Supplier Pro Supplier No	tes:	
	Southwest Briefing Station/ Air Support: 5501 and 5505 S. Portland Ave - Area as described in Attachment A Mowing Locatio - First Offer	\$300.52	1 / each	\$300.52
Product Code: Agency Notes:		Supplier Pro Supplier No	tes:	
				al: \$312.52
Item #	Coringlate Printing Station: 4116 N Prospect Ave. Area as described in Attachment A Mouring Legation Matrix. First Office	Unit Price		Total Price
2440210-01 Product Code:	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix First Offer	\$20.00 Supplier Pro	1 / each	\$20.00
Agency Notes:		Supplier No		
2440210-02	Springlake Briefing Station: 4116 N Prospect Ave - Area as described in Attachment A Mowing Location Matrix-m - First Offer	\$68.41	1 / each	\$68.41
Product Code: Agency Notes:		Supplier Pro Supplier No		
			Lot To	tal: \$88.41
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2440211-01	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-Fal - First Offer	\$50.00	1 / each	\$50.00
Product Code: Agency Notes		Supplier Pro Supplier No		
2440211-02	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix - First Offer	\$15.00	1 / each	\$15.00
Product Code: Agency Notes:		Supplier Pro Supplier No		
2440211-03 Product Code:	Will Rogers Briefing Station: 3112 N. Grand Blvd- Area as described in Attachment A Mowing Location Matrix-pla - First Offer	\$67.21 Supplier Pro	1 / each oduct Code:	\$67.21
Agency Notes:		Supplier No		
14 #	I for them.	Hait Bains		al: \$132.21
2440212-01	Line Item Vacant Lot: 701 Colcord Drive- Area as described in Attachment A Mowing Location Matrix - First Offer	Unit Price \$75.01	1 / each	Total Price \$75.01
Product Code:	<u> </u>	Supplier Pro	oduct Code:	
Agency Notes 2440212-02	Vacant Lot: 701 Colcord Dr - Area as described in Attachment A Mowing Location Matrix-Fall d - First Offer	\$25.00	1 / each	\$25.00
Product Code:	· · · · · · · · · · · · · · · · · · ·	Supplier Pro	oduct Code:	
Agency Hotes.		заррист не		al: \$100.01
Item#	Line Item	Unit Price		Total Price
2440213-01	Old City Garage: 115 N. Shartel Area as described in Attachment A Mowing Location Matrix-Fall deb		.,	No Bids
Agency Notes		Supplier Pro		
2440213-02	Old City Garage: 11 N. Shartel Area as described in Attachment A Mowing Location Matrix			No Bids
Agency Notes		Supplier Product Code: Supplier Notes:		
			Lot T	otal: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2440214-01	Equipment List: Attach a list of the Mowing and Landscaping equipment available for this contrac - First Offer		1 / each	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: * zero turn lawn mower * 2 self propelled push mower * weed eater * headge trimmer * leaf blower * shovels		

			* rakes				
			* scissors				
			* hand saw				
			Lot Total: \$				
Item#	Line Item		Unit Price	Qty/Unit	Total Price		
2440215-01		W-9: W-9 - First Offer		1 / each			
Product Code Agency Notes			Supplier Pro Supplier No I entered it in	tes:			
				Lot Total: \$0.00			
Item#	Line Item		Unit Price	Qty/Unit	Total Price		
2440216-01		Insurance: Insurance - First Offer		1 / each			
	Agency Notes:		Supplier Pro Code: 03561 Supplier No	692231			
2440216-02		Insurance: Workers Compensation Exemption - First Offer		1 / each			
Product Code Agency Notes			Supplier Pro Code: 03561 Supplier No	692231			
				Lot 1	Total: \$0.00		
	Tresha Williams Ch	ad Harrison lane	t McWill	iams			
City Clerk Purchasing Agent Al		Auditor					

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.